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SCERT FOUNDATION — COURSE - DAY — 1 QUESTION PAPER
Date: 02/10/2024 No of Questions: 30

1. Which of the following is NOT mentioned as a type of diversity in India?
(i) Land forms and lifestyle diversity
(ii) Social diversity
(iii) Religious diversity
(iv) Economic diversity
(A) (i) only
(B) (ii) only
(C) (iii) only
(D) (iv) only
(E) Answer not known
LesreupeuaTeuppled 618 @)bPWTaled LIGTLPSSSGTENLD U ILITH GBI LIl aiedenev?
(i) BlovgGSTHmmI%ar LoPpMILD QUTLHSENS (LDeD D LIGH(LPHDHS GV LD
(i) FAPSLI LIGST(LPHS S GSIGH LD
(iii) LDG LIGST(Lp BB S GOTGHLD
(iv) QUITEHTTSTT LUGT(LHHS S GTeH LD
(4) (i) oL G Lb
(B) (ii) LOL_(®)LD
(C) (iii) oL (Q1Lb
(D) (iv) oL @BLb
(E) afleni_ GgNweleene

2. Match the following:
List | (Type of Diversity) | List Il (Example)
(a) Linguistic | 1. Joint and nuclear families
(b) Religious | 2. Dravidian language family
(c) Social | 3. Pongal and Diwali festivals
(d) Cultural | 4. Classical and folk music
(A) (a)-(2), (b)-(3), (c)-(1), (d)-(4)
(B) (a)-(1), (b)-(4), (c)-(2), (d)-(3)
(C) (a)-(4), (b)-(1), (c)-(3), (d)-(2)
(D) (a)-(3), (b)-(2), (c)-(4), (d)-(1)

(E) Answer not known

LereupeueTaipenmLi OLImhsSI%:
ULl iguied I (UeTpsgsaienoufle auens) | LiL'1quied I (1S SHISSTL (b))

(@) QuomPuwed | 1. ool B HILD eI & BLOLIBISET
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(b) FowLd FripSeed | 2. Surafl Cmfls &BLdLLd

(c) Feps | 3. QlLITEISED LPmILD GLITeua LIGHTLY 695 6T
(d) uesTuTL B | 4. urgbLufw wHpId Bl GULD @)ens
(4) (@)-(2). (b)-(3). (c)-(1). (d)-(4)

(B) (@)-(1). (b)-(4), (c)-(2), (d)-(3)

(O (@)-(4), (b)-(1). (¢)-(3). (d)-(2)

(D) (a)-(3). (b)-(2), (c)-(4), (d)-(1)

(E) aflov_ Qgiwaledemev

Which of the following statements about linguistic diversity in India are correct?
(1) India has 122 major languages according to the 2001 census.

(2) Tamil is the oldest Dravidian language.

(3) The Constitution of India recognizes 22 official languages.

(4) English is one of the classical languages of India.

(A) (1), (2), and (3)

(B) (1), (3), and (4)

(C) (2), (3), and (4)

(D) (1), (2), (3), and (4)

(E) Answer not known

@pFwrailed O)omyluiwed LGTILpSSSeTen o PP LIGTeU(HL FaBmiseMed 618 FHll TeTs)?
(1) 2001 o561 ClFTens Hes6)sHLIaETLILY @) bRwTalled 122 (LpE&Hw C)omss% e 2_aTeTest.
(2) s LAla L Lippemowmest Gomaifl Glom).

3) @BBw TFwevenLoLiL] 22 HHFTILILLT O TLflsenar 9 EI8s5 N %R D).

(4) S EHevLd QBFwredlesr C)FLd Clomflesefcd @eTnT@Lb.

A (1), (2) wppiLh (3)

B) (1), (3). ppiLd (4)

(© (2), (3) pmILD (4)

(D) (1). (2). (3) pmILD (4)

(E) oflew_ GgRAwaledemev

Which of the following are mentioned as classical languages of India in the text?
(i) Tamil

(ii) Sanskrit

(iii) Telugu

(iv) Bengali

(A) (i), (i), and (iii)
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(B) (ii), (iii), and (iv)
(C) (i), (iii), and (iv)
(D) (i), (ii), (iii), and (iv)

(E) Answer not known

etreupeueTaupBled eTemey @)BFwraler OFb0)wmflsarts o agulled GmILIL_LiLi" HeTeres?
(i) SLBp

(i) FLOGVG)(HFLD

(iii) C)B&ImIG

(iv) QuBIFTES

(4) (i), (i) LoPILD (iii)

(B) (i), (iii) LopmiLb (iv)

(©) (). (i) LoH@ILD (iv)

(D) (i), (i), (iii) Lo pid (i)

(E) aflewr_ GsRwaedemev

5. Arrange the following classical languages in the order they were declared as classical by the
Government of India:

(i) Malayalam

(ii) Sanskrit

(ifi) Tamil

(iv) Telugu

(A) (iii), (ii), (iv), and (i)
(B) (iv), (iii), (i), and.(ii)
() (i), (iv), (iii), and (ii)
(D) (i), (iii), (iv), and (i)
(E) Answer not known

eraupLd QFb G mpflsenar QB w 9yus G\FH6lom) e1er 9Pailgs auflenFulled euflenFLiLi B S5%:
(i) LDGOGVUITGTLD

(ii) FLOGVH)(HSLD

(iii) SLELp

(iv) O\B@mIE

(4) (iii), (i), (iv) LoDDILD (i)

(B) (iv), (iii), (i) LopILb (i)

(©) (i), (iv). (iii) LoDmILD (i)

(D) (ii). (iii), (iv) LoDDILD (i)

(E) aflev_ Qg lwaledenev
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6. The concept of "unity in diversity" in India is most closely associated with which aspect of the
country?

(A) Geographical features

(B) Economic development

(C) Cultural pluralism

(D) Political structure

(E) Answer not known

@rPwraled " Gaupmienioulled @OMIEHLD"  6TGID. HHSH BHILIYGHT 6ThS YLOFSSHIL T LS LD
QBhSHLOTS CSTL_JLjew L Wig)?

(4) yaluwed oyLbFmISaT

(B) Qun@heris Ty euaTiEd

(C) SQTFFTT LIGSTeO DG S| GULD

(D) 9)TPwied HL 1L_69LoLIL|
(E) aflev_ Qg flwaledenev

7. Which of the following statements about diversity in India is incorrect?
(i) India is home to a 5,000-year-old civilization.
(ii) The migration of people to India occurred only by land routes.
(iii) Dravidians and Aryans are part of the modern Indian race.
(iv) India's diversity is partly due to its attractiveness to traders and invaders.
(A) (i) and (iii) only
(B) (ii) and (iv) only
(C) (i), (ii), and (iii) only
(D) (ii), (iii), and (iv) only
(E) Answer not known

@ BEPwTeled LIGI(LpSSS6Ten Lo LPBIW LT HLD FnBmI%efed 6Ta SeUDTeTS?
(i) @BGwWT 5,000 ,eST(HHET LILPEH LOWITGST (5135 fSHSB GO FTIFHLD.

(ii) seor auflwunsGeu &ser @ pHwraln @ QL boLIwFbseTd.

(iit) Sareil_fsepLd yfwpLd pafeT QBS W ()65 F G @ L&D Teu.

(iv) @BHWTANGT LIGTI(LPSSSETeH 0% @ UellEiser PmILd LienL W BLILITOTISe 6 g FFLILIgLD
R L&D STTGRTLOTGLD.

(A) (i) pmILd (iii) " BHLd

(B) (ii) Lo®mILD (iv) oL (HILD

(C) (i), (i) LoBmILb (iii) L HLd

(D) (ii), (iii) B@ILD (iv) L BLb

(E) aflow_ QgRwaledemev
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8. Which of the following statements about religious diversity in India are true?
1) Indiais a secular country with no state religion.
2) Freedom of religion is a fundamental right in India.
3) Zoroastrianism is one of the religions that flourishes in India.
4) India is the birthplace of all major world religions.

(A)1,3,and 4
(B)2,3,and 4

(€)1, 2,and 3 only
(D)1,2,3,and 4

(E) Answer not known

@ BEPWTaI) LoF LIGT(LPSSSTER LD LIBPIW LN6ET6 (HLD Fo D DIS 66D 675 2 6HiTeN LD?
) @BHWT IS S @6TH LOFFFTIUDD BHI({).

2) @QBFwureiled b HFSBEFILD 6TTLIS 2 L4LiLienL_ 2 [fle»LD.

3) @BFwureiled sewpsGCsrmi@Ld wamFaiey Ceymgmed flwesflFLpLd cami.

1) ywTSE (LPHFHUW 2 0% LFEISefeT NI b @)pSwm

A) 1, 3 opmyLd 4

B) 2, 3 opmiLb 4

C) 1,2 wpmiid 3 L BHILd

D) 1,2 3 pmib4

(E) oflew_ GgRuiafedemev

9. Assertion [A]: India's diverse landforms and climatic features influence the economic activities of
different regions.

Reason [R]: People in coastal areas primarily engage in-agriculture, while those in plains focus on
fishing.

(A) Both [A] and [R] are true and [R] explains [A]

(B) Both [A] and [R] are true and [R] does not explain [A]

(C) [A] is correct and [R] is false

(D) [A] is false and [R] is true

(E) Answer not known

&P . QrPwraller wigult BeosGsrpprEiser wpnih STl IyFmser 6leueaGeumpy
oS misefer QLTETISTT L ey Seassaicd CFeeans @ CFwISa HeTme.

sagessitd [R]: sL_Cewrpll LGS salled 2 aTar LDEF6T (LpSeTenowns afleuFmg 6w m@H LB D TiseT,
903 Cprs@e Fobleuaisaied 2 ararauisaer el uie) seueaTd O\FeI$EIH DTISET.

(4) [A] wpmiid [R] @) oesst®ILd & opmitd [R] [A] g alens @& mg)

(B) [A] opmuid [R] @)gessGLd &) opmitd [R] [A] g aflenssaieden ev
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(©) [4] &l LopmiLd [R] Saupi
D) [A] Beupi opmith [R] #4)
(E) aflen_ G Nwaleenev

Find the Mismatched Pair

(A) Mawsynram - Highest rainfall in India
(B) Jaisalmer - Lowest rainfall in India

(C) Tamil - Oldest Indo-Aryan language
(D) Hindi - Most spoken language in India

(E) Answer not known

QurppsTe Gy eowis HesTL_ P 6yLd

(4) weIReTITLd - QG wraled HYF% oew pLiGlLmflay

(B) Qgguigneving - @) pFwnalGeoCGu 158 Gembs LoewpLiGlumyley
(C) sL81p - upem owret @)bCsmoyflwr Glomf)

(D) QS - QrPwralled oPHLd CuFLiLiGiLd O omyd)

(E) aflev L G)gMwaledemev

India is described as a 'secular' country. What does this mean in the context of the text?
(A) It promotes one specific religion.

(B) It does not declare any religion as the state religion

(C) It discourages religious practices

(D) It has no religious diversity

(E) Answer not known

QBT G 'WwHFFTILUDD' BIGR) TN euienllSELILGEDG. 2 Tule @Lpedled QST YFFFHLD
GTGOTGHT?

) @)% @® GO L 1053 2015 &M% G D).

(B) @8I 6165 LOFSMSULD Y TF DS DTS5 YMlailss% allebeney

(C) @3 LDS BEOL_(LPEODSHEMET 26155 L1LI (D SHIFDSI

(D) @)5I LbS LIGT(LpSSSRTEHLD (3)6060 6V
(E) aflev L Oz Mwaledenev

About 60% of the total epigraphical inscriptions found by the Archaeological Survey of India are
from Tamil Nadu, and most of these are in the script.

(A) Devanagari

(B) Tamil
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(C) Kannada
(D) Telugu
(E) Answer not known

@pHwg GCgrevadwe gepwrew saT@lgsstiu’t Qwrgs Fa0eu Gsalled FHwmi 60%
ST L& Caipgemay, @) aupmled O)LIhLLLITeV TaTen 6 GT(LPSSIFHSHaf6D 2 aTaTeT.

A4) Caeauprsd

B) s181p

(C) HGHTGOTL_LD

D) GlagymiG

(E) aflev_ QgRwaledemev

According to the 2011 Census, what percentage of the total population speaks Hindi?
(A) 8.30%

(B) 43.63%

(C) 6.93%

(D) 5.89%

(E) Answer not known

2011 &sa61 CFTens FHewws6ls B L6, CTgs wser CgTansulled dgsmer ssaisLd CLT Q)5S
Cua&Spriser?

(4) 8.30%

(B) 43.63%

(C) 6.93%

(D) 5.89%

(E) ofew_ QgRAwaedenev

Which of the following is considered the oldest Dravidian language?
(A) Sanskrit

(B) Telugu

(C) Tamil

(D) Malayalam

(E) Answer not known

esreupeuateuppled Litpemiowmest Samaill Qomflwunss &BsLILB UG 6T5?
A) FLOVE(BSLD

(B) Qs

(©) s18p

D) oe®ewmerLd
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(E) aflew L Qg waledenev

15. Match the following:
List | (State) | List Il (Folk Dance)
(a) Tamil Nadu | 1. Theyyam
(b) Kerala | 2. Bhangra
(c) Punjab | 3. Garba
(d) Gujarat | 4. Karagattam
(A) (a)-(4), (b)~(1), (c)-(2), (d)-(3)
(B) (a)-(1), (b)-(4), (c)-(3), (d)-(2)
(C) (a)-(2), (b)-(3), (c)-(4), (d)-(2)
(D) (a)-(3), (b)-(2),(c)-(1), (d)-(4)
(E) Answer not known

LereupeueaipenmLl OLImhSSIs:
uiguwed I (mplevtd) | L' g wed I (BrL G m BL_esTLd)
(@) SLOHBI® | 1. CuiwLd

(b) Gagert | 2. LFmIETT

(c) L@h&FmLI | 3. HgUT

(d) 013 | 4. o6TL 1L LD

(A) (@)-(4). (b)-(1), (c)-(2), (d)-(3)

(B) (@)-(1). (b)-(4), (c)-(3). (d)-(2)

(O (@)-(2), (b)-(3). (c)-(4),(@)-(1)

(D) (@)-(3). (b)-(2), ()~(1). (d)-(4)

(E) oflewr_ GgRAuwaedemev

16. What is the definition of a stereotype?
(i) An accurate belief about a group of people
(ii) A generalization about a group, often false
(iii) A neutral belief based on observation
(iv) An idea formed from a person’s own experiences
(A) (i) only
(B) (ii) only

(C) (iii) only
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(D) (iv) only
(E) Answer not known

LOMDTESGTEHLD GLGH TUIGHD GTGTGHT?

(i) @ LOSSHET G (LpealL] LIDHIW gedeSwLomeT pLoLlGemns

(i) @ Gpemauli upplw OLngenoiL®SH60, O\LIBLOLITGILD S6uDTeTS
(iii) Seugmest L1968 919 Litien_ufled @b BB Blevev BLOLIS®S

(iv) @b BLAGT O\FTBS 9 ewiLIcuBISeNS)BBE 2 (BouTGLd g CurFenss
(4) (i) o B)Ld

(B) (ii) Lo ()LD

(C) (iii) toL" @b

(D) (iv) 1oL"(B)Lb

(E) aflew_ Qg waledenev

17. Match the Following:
List | (Concept) | List Il (Description)
(a) Prejudice | 1. Negative actions towards people
(b) Stereotype | 2. Difference in treatment
(c) Discrimination | 3. Pre-judgement without knowledge
(d) Inequality | 4. Fixed, oversimplified image
(A) (a)-(3), (b)-(4), (c)-(1), (d)-(2)
(B) (a)-(1), (b)-(4), (c)-(2), (d)-(3)
(C) (a)-(4), (b)-(1), (c)~(3), (d)-(2)
(D) (a)-(2), (b)-(3), (c)-(4), (d)-(1)
(E) Answer not known
ONGELTES
Ul gwed I (5@ES) | UL 1gwed Il (afardsih)
(4) UrgULsh | 1. 10&s6T 5% TeT 1B FemmuTeT O Fweser

(B) oI TE6EIenLD | 2. Houatd@ e Coumiim®

(C) un@uA® | 3. IPey QeVeVTLOED (LpesT HHLiLy

(D) g g1auLflarento | 4. Bplenevw e, Hews iLBHSSLILIL L LI LD
(A) @)-(3), (b)-(4), (¢)-(1), (d)-(2)

(B) (@)-(1), (b)-(4), (¢)-(2), (d)-(3)

(@ (@)-(4), (b)-(1), (c)-(3), ()-(2)

(D) (@)-(2), (b)-(3), (c)-(4), (d)-(1)

(E) oflew_ GgAwaedemev

18. Which of the following are forms of discrimination in India?
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(1) Caste-based discrimination

(2) Gender discrimination

(3) Religious discrimination

(4) Regional discrimination

(A) (1), (2), and (3)

(B) (1), (3), and (4)

(C) (2), (3), and (4)

(D) (1), (2), (3), and (4)

(E) Answer not known

LiesTeu (HeuaTeuppled 67em ey (9)bSUITAINGD LITELITL 19 65T GUILY 6L BI%GIT?
(1) 1% 919 LiLienL_uflevresr LiT@Lm)
(2) umedlest LIm@GUm(h)

(3) bg LTGUTH

(4) ompSw Lim@GLmb)

(4) (1), (2) LoPDILD (3)

(B) (1), (3), Lop LD (4)

(©) (2), (3) OIS (4)

(D) (1), (2),(3) oIS (4)
(E) oflewr_ GgRAwaedemev

19. Which of the following constitutional articles prohibits discrimination on grounds of religion, race,
caste, sex, or place of birth?

(A) Article 14
(B) Article 15
(C) Article 16
(D) Article 21

(E) Answer not known

gLd, @eTd, FT%, uTdleTd Ydwg LIDES QL d yHweupleT g iten uled LTGUTh
ST Reuens Liataupd YrFwevenioLiL) fleysale 615 e OFuiSng)?

“4) 9Pay 14

(B) 9 ey 15

(©) 9Aey16

(D) 1996y 21

(E) aflev_ Qg lwaledenev

20. Arrange the following social reformers in chronological order:
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(i) Raja Ram Mohan Roy
(ii) Dr. B.R. Ambedkar
(iii) Jyotirao Phule

(iv) Savitribai Phule

(A) (i), (iii), (iv), and (ii)
(B) (iii), (iv), (i), and (ii)
(C) (i), (iv), (iii), and (i)
(D) (iv), (iii), (i), and (ii)
(E) Answer not known

LeTeu LD FeLps FIP (5FSUTH BT HM6ev eUFlenFLILILG UROFLILIBSSIS:
(i) grggmgmid Grongesr gmul

(i) Lng_g 9.0 b GLgsi

(iii) Geor@gmel 1yGev

(iv) gmailgflumai 1yGev

(4) (i), (iii), (iv) LoPDILD (i)

(B) (i), (iv), (i) LopmILD (i)

(©) (i), (iv), (iii) LoHDILD (i)

(D) (iv), (i), (i) LoPmILD (ii)

(E) aflev_ Qg lwaladenev

21. The term "Untouchability" is associated with which form of discrimination in India?
(A) Gender discrimination
(B) Caste discrimination
(C) Religious discrimination
(D) Linguistic discrimination

(E) Answer not known

"GewTL_menLo” eTevip O)Fmed @QBHWTAND 6ThS U W M6t LITGUTL (R QS TL_[LjenL_wig?
(4) umeSlest LIT@GLUTH

(B) F1SILI LITGLIT(R

(C) g TG

(D) QomfILs um@un@

(E) aflev_ Qg lwaledenev

22. Which of the following statements about gender equality in India is incorrect?

(i) The Constitution guarantees equality before law for women
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(ii) Women have equal inheritance rights as men in all personal laws

(iii) The Maternity Benefit Act provides paid maternity leave

(iv) Women's representation in the Lok Sabha has consistently been above 30%

(A) (i) and (iii) only

(B) (ii) and (iv) only

(C) (i), (ii), and (iii) only

(D) (ii) and (iv) only

(E) Answer not known

@B wTeled LITedest FLoSGIULD LIDMIW LIGT6IHLD FnHMIS% 66D 6T &6UD TETS?

(i) QTR WevemLpLiL] O LIRS @h% & FL L DG (LPeT FLOGHIAUSMS 2-MIF OlFwiF G

(ii) Syweisg SeflLiL’ L &L’ L miseleid yeisamaert GLimew e G)LIesTE@hs@LD FLOLDMGST LITLOLIGH T
2 flenLoS AT 2 aTeT6sT

(iii) &LIGLD) Bevd FLL LD 0rGISZ S 68T dalq ) LoaLIGLIM I BILIeHLI aUpEISHE DS

(iv) wésearenauufled ClLicraseflar TG BFssauLd OSTL FbgI 30% &@GLD BSOS 2_6TelTS)
(4) (i) opmiLd (iii) oL BILD

(B) (ii) LopmILD (iv) DL HILD

(C) (i), (ii) WML (iii) L BLD

(D) (ii) LopmiLd (iv) oL HILD

(E) aflen_ QsRwaledenev

Which of the following measures can help reduce discrimination in Indian society?
1) Promoting inclusive education

2) Implementing stricter laws against discrimination

3) Encouraging inter-caste and inter-faith marriages

4) Increasing representation of marginalized groups in' media

(A)1,3,and 4
(B)2,3,and 4
(C)1and 3 only
(D)1,2,3,and 4

(E) Answer not known

QBEFW FeLpHSF 6O LITGUTL L& GDEE LIGTeUHLD FL_6ULY HMEHaT ) 6T 2 FafLd?
1) o eTaT_mISHW $0aien i 2615 @als5% 60

2) uUnGUTL DG THITE FHELOWTET FL L BIH6D T 2 L06VLI(HSHIF 60

3)  s@LLyF G(HLOGRTEISGT LOPDILD HEVLIL|S B)(5LDGSTEISEH T 261 & 65560

1) oan_smsefed alaflibLBlaney & wpshsaleT L9THBSsHIaD YF s ML

A) 1, 3 pmib 4

B) 2, 3 opmyLb 4
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C) 1 pmid 3 YFw @) Test(B)Ld
D)1, 2 3wpmib 4
aflew L 05 M walevenev

Assertion [A]: Affirmative action policies in India have helped in reducing social inequalities.

Reason [R]: Reservation in education and government jobs has been provided to historically
disadvantaged groups.

(A) Both [A] and [R] are true and [R] explains [A]

(B) Both [A] and [R] are true and [R] does not explain [A]
(C) [A] is correct and [R] is false

(D) [A] is false and [R] is true

(E) Answer not known

o0 [A]: QBB wrelled 2 L eTUTL(}) L I S5S O\BTTNSS6T FLPS TDDSSTLH O H6H 0TS G DEHS
2 Fa9uGTeTeHT.

srgewid [R]: seai wpmid 1%k Ceuamevsafied augewrpn FHwrs HSISEEL & (LH%SE5S% G
Q)L @51580 aupEISLILIL HeTaTd).

(4) [A] wpmid [R] @) oessi(p)Ld &l opmitd [R] [A] @ allens @& mgi

(B) [A] wopmiid [R] @) oessiGLd &) opmitd [R] [A] @ aflenssaieden ev

(C) [A] 58] opmitd [R] Saim)

D) [A] seupi oppiLd [R] &4

(E) afleni_ GgNuieafevenev

Which of the following are examples of discrimination?
1) Denying someone a job based on gender
2) Providing free education to all students
3) Refusing entry to a person based on religion
4) Offering equal pay for equal work

(A) (1) and (3)

(B) (2) and (4)

(C) (1), (2), and (3)

(D) (1), (2), (3), and (4)
(E) Answer not known

L6816 (HeUGTEUD MG 6Tew e LITTLIL &% %) DT 25 TTGHTBI% GIT?

D) umedler 91 Litien L ulled @BeuH% @ Geuenev LoILILIG]

2) DTS LOTERTR TS @S GLD Q)VeusFs: HeOall auLpmElEEHed

3) wg it ulled @peuemT 2 aTGer yeIbFES LoDILILIF
1) Fw Gouemevs @ FLo 26TGNLILD G1LDEIEHS )
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(4) () wpmiLb (3)

(B) (2) LopmiLd (4)

(© (1), (2) ppILD (3)

(D) (1), (2), (3) LoPpDILD (4)
(E) aflov_ Qgiwaledemev
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SCERT FOUNDATION — COURSE — DAY — 2 QUESTION PAPER
Date: 03/10/2024 No of Questions: 25

1. Which of the following statements about India's national symbols is correct?
(i) The peacock is a natural national symbol
(ii)) The Ganges River dolphin is not a national symbol
(iii) The banyan tree is a natural national symbol
(iv) The lotus is not a national symbol
(A) (i) and (iii) only
(B) (i) and (iv) only
(C) (i), (ii), and (iii)
(D) (i), (iii), and (iv)
(E) Answer not known
@ngwuraisr Gadlu erermissT upmiu el s.nmisefle g sflurers ?
(i) wulled s @umens GCaelw Heireorid
(i) smms BH Lmoiler e Cadlu Femerd 9jse
(iii) SyeTd @ @nms GCadliu Seoreorid
(iv) smwenr Cadlu Flstrerd jeen
(A) (i) oo (i) LLHGLD
(B) (i) mmrd (iv) LLHGL
(©) (), (i), g (i)
(D) (), (i), Wb (iv)
(E) udlev Qaflweilseney

2. Match the following:
List I | List I
(a) National Flag | 1. Jana Gana Mana
(b) National Song | 2. Accepted on 22nd July 1947
(c) National Anthem | 3. Vande Mataram
(d) International Day of Non-violence | 4. 2nd October
(A) ()-(2), (b)-(3), (c)-(1), (d)-(4)
(B) (2)-(3), (b)-(2),(c)-(4), (d)-(1)
(©) (a)-(1), (b)=(4),(c)-(2), (d)-(3)
(D) (a)-(4), (b)-(1), (¢)=(3), (d)-(2)
(E) Answer not known
tlerTeu(meussTeumemmLl Qlumm S
Ul igwied T | uliguish II
(a) Cals Game | 1. sgeor gevor Lo
(b) G um_ev | 2. Bemev 22, 1947 @6y sTHMISGGISTETATILLL 5
(c) Cadlu Ssin | 3. uBGs WTSHTLD
(d) sTuCaHs g Hena SHerd | 4. y&6LTUT 2
(4) (a)-(2), (b)-(3), (c)-(1), (d)-(4)
(B) (a)-(3), (b)~(2), (c)-(4), (d)-(1)
(C) (a)-(1), (b)-(4), (c)-(2), (d)-(3)
(D) (a)-(4), (b)-(1), (c)-(3), (d)-(2)
(E) udlev Qaflweilsvemneo

3. Which of the following are India's national festivals?
(1) Independence Day
(2) Republic Day
(3) Gandhi Jayanthi
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(4) Diwali

(A) (1), (2), and (3)

(B) (1), (3), and (4)

(€) (2), (3), and (4)

(D) (1), (2), and (4)

(E) Answer not known
Wetreu(peustreumniley @IhSlimalssr Gl aflpréser Wwreneu?
(1) asBElT Sleord

(2) ©lpwrs et

(3) sMEd Glpuibs)

(4) Sumsuerfl

(+) (1), (2), wpgd (3)
(8) (1), (3), wimid (4)
(©) (2). (3). wigid (4)
(D) (1), (2), wimio (4)
(E) udlev Qaflweilsvemen

4. Who among the following composed the National Song "Vande Mataram"?
(i) Pingali Venkayya
(i) Rabindranath Tagore
(iii) Bankim Chandra Chatterjee
(iv) Mahatma Gandhi
(A) (i) only
(B) (ii) only
(C) (iii) only
(D) (iv) only
(E) Answer not known
Ylerreu(meusameumfled "eunGs msmn” ererm Gl um_sme @wimplwer W ?
(i) YIrizedl Ceuriengwm
(ii) refbSnErs smeni
(i) Ul eRly &L Ljsil
(iv) LSTSLM Shé)
(a) (i) LG
(B) (i) L (®LD
(C) (iii) wL (Kb
(D) (iv) LD
(E) udlev Qaflweilsemnen

5. Arrange the following events in chronological order:
(i) Acceptance of the tricolour flag as the national flag
(ii) Declaration of October 2nd as International Day of Non-violence
(iii) India's Independence Day
(iv) India's Republic Day
(A) (i), (iii), (iv), and (i)
(B) (iii), (i), (iv), and (ii)
(C) (@), (iv), (iii), and (ii)
(D) (iv), (iii), (i), and (ii)
(E) Answer not known
Searaumid Hspasemar sraaiflmaiily 6(kISmLSELD:
(i) epeuremnrs Gameemw CaFlus Camewns snn&GsTsTaIg)
(i) Q&G 2 gy Cadlmw sTatess gHinms Serors gMlailsseo
(iii) @BSHwrellsr &S5BS Serid
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) (i), (i), (i), wdmid (i)
)) (iii), (i), (iv), ommuo (ii)

(
(A
(B
(©) (), (@), (i), wimd (i)
(D) (iv), (iii), (i), Lopmd (ii)
(E) udlev Qaflweilsvemen
6. What is the colour of the Ashoka Chakra on the Indian National Flag?

(A) Sky blue

(B) Navy blue

(C) Green

(D) Saffron

(E) Answer not known

@nsu Cadws Qameuis 2 6rer 9 6aTes FHHTHSET EMLD 6T60T60T?

(A) sumesrid FeuLd

(B) sLmusmL Heuid

(C) ugema

(D) GGy,

(E) udlev Qaflweilsvemev

7. Which of the following statements about the novel "Anand Math" is incorrect?
(i) It was written by Bankim Chandra Chatterjee
(ii) It contains the National Song "Vande Mataram"
(iii) It was written by Rabindranath Tagore
(iv) It is considered one of the most famous novels in Indian literature
(A) (i) and (ii) only
(B) (iii) only
(C) (ii) and (iv) only
(D) (i) and (iv) only
(E) Answer not known
"LehS Seueflsin” mrelsd Lnmiu 1NeTeumn semmisetley 618l SeummenTs;)?
(i) @8 uRiSd sHEIT ST 6TNSILLL 5
(i) @& "ouhGs wremd" sreorm CaHFlul UTLsmevs GlamsuoT(HeTeTs).
(iii) @51 TofESNETS BHTEwTT TINSLILILL S|
(iv) @& @hdHu @assiugss Wsain Hrusrear mrawgsfla earmrs &msiubhEng
(A) (i) womid (i) wLEHGL
(B) (iii) _(ud
(€) (ii) wHmD (iv) WL (HID
(D) (i) omid (iv) W HGLW
(E) udlev Qaflweilseneo

8. Which of the following are true about India's national symbols?
(1) The tiger is a natural national symbol
(2) The mango is a natural national symbol
(3) The National Emblem is considered a constitutional national symbol
(4) The National Song is not considered a national symbol
(A) 1,2, and 3
B) 1,2, and 4
()1, 3,and 4
(D) 2, 3, and 4
(E) Answer not known
Ylerreu(meusameumiled @mSlumellear GCoel Femeormugefley 618 2 storentn?
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1) uedl e @u_lmsmaa Ca&l Setreorid

2) mbuipid e @unems Gl Feorsrid

3) Gadlu Heremd grfwsvenw] Cafl Hererons smaLILGEDS
4) Cadlw urLe Cadlu Hererors &mHSLILL aloemen

) 1, 3 womid 4
D) 2, 3 wmmid 4
E) ugled Qgifliuafsvsmey

9. Assertion [A]: The United Nations declared October 2nd as the International Day
of Non-violence.
Reason [R]: October 2nd is celebrated as Gandhi Jayanthi in India.
(A) Both [A] and [R] are true and [R] explains [A]
(B) Both [A] and [R] are true but [R] does not explain [A]
(C) [A] is true and [R]is false
(D) [A] is false and [R] is true
(E) Answer not known
aulMISS6 [A]: m&EIL BT(H&sT gemu 9&66LTUT 2 gub Cadlnw sjatse 9Hlnme Slerors
oS53
SITT600TLD [R]: @gﬁmmﬂsh Q&G 2 cr'y)Lb (Bg,g‘,] &g CewnSurss e m_LuhiSns.
(A) [A] L[][_TJQJLD [R] @\yevor(®ld 2 ctoTemLo angum [R] oﬁ]ma&@a‘ﬂm@j [A]
(B) [A] angum [R] @USMT@LU o _gorenLgTeT gjeormey [R] aflerssalsema [A]
(C) [A] 2_cvoTemLn angum [R] SOUNTETS)
(D) [A] oummstrg mmid [R] 2 earemio
(E) udlev Qaiflweailsvsmso

10. Find the Mismatched Pair
(A) Jana Gana Mana - National Anthem
(B) Vande Mataram - National Song
(C) Pingali Venkayya - Designed the National Flag
(D) Bankim Chandra Chatterjee - Wrote the National Anthem
(E) Answer not known
QuTmESTe Gamemig sevorLnlua|d
(A) sgeur semor et - CHFIW SHld
(B) eubGs Lomsrin - Gl Lm_e
(C) el Qeumisiiim - Ca&lus Clsmg il allpnIMISSEIT
(D) Uil sRSHT slLiell - Codlu SesHms 6rLpSlermy
(E) udlv Qzflweilsusmeo

11. Which of the following is not a Fundamental Right guaranteed by the Indian
Constitution?
(i) Right to Equality
(ii) Right to Freedom
(iii) Right to Property
(iv) Right against Exploitation
(A) (i) only
(B) (ii) only
(C) (iii) only
(D) (iv) only
(E) Answer not known
YlerTeu(meustTaumfled 678l @IhSIL oyrliusvsniolitlesr jielitienL 2 ifleno gjeben?
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ii) aig;rrr,élrrgﬁ]maarrm 2 flemio
i) G]Errg,gjlﬂsmm

(i

(

(iv) GireioTLeI&@ Ty 2 flemio
() (1) oG

(B) (ii) (@D

(C) (iii) o _(Hid

(D) (iv) L (hud

(E) udlev Qaflweilsvemen

12. Match the following legal experts with their contributions:
ListI | List I
(a) Dr. B.R. Ambedkar | 1. Member of the Drafting Committee
(b) K.M. Munshi | 2. Chief architect of the Constitution
(c) Alladi Krishnaswamy | 3. Legal expert in the Drafting Committee
(d) N. Gopalasamy | 4. Chairman of the Drafting Committee
(A) (2)-(4), (b)-(1), (c)-(3), (d)-(1)
(B) (a)-(2), (b)-(3), (c)=(1), (d)-(4)
(©) (a)-(1), (b)=(4), (¢)-(2), (d)-(3)
(D) (2)-(3), (b)-(2), (¢)-(4), (d)-(1)
(E) Answer not known
Wetreuqpld gL Blsmorjsemer jeuisefler LrisafliygsenLsr CLmmSsain:
Ul lpiied T | L tgiied 11
(a) Lr&LG Uo7 oGuss | 1. ausmrels @uellsr o miinSler
(b) Ga.61d (perefl | 2. gyrflwesmiolifsr Semevemin FmL
(c) oeveume Hmagemramdl | 3. ausmras @Guailed s Hliswory
(d) eretr. Gamumevamihl | 4. eusmyays & el Semevery
() (2)-(4), (b)-(1), (c)-(3), (d)-(1)
(B) (a)-(2), (b)~(3), (c)~(1), (d)=(4)
(C) (a)-(1), (b)~(4), (c)-(2), (d)-(3)
(D) (2)-(3), (b)-(2), (c)-(4), (d)-(1)
(E) udlev Qaiflweilsveneo

13. Which of the following statements about the Indian Constitution are true?
(1) The original Constitution contained 395 articles in 22 parts and 8 schedules
(2) Currently, the Constitution has 448 articles in 25 parts and 12 schedules
(3) 105 amendments were made till 30.10.2021
(4) The Constitution is preserved in nitrogen-filled cases in the Parliament Library
(A) (1), (2), and (3)
(B) (1), (3), and (4)
(C) (2), (3), and (4)
(D) (1), (2), and (4)
(E) Answer not known
Y)W gmeﬂujm)smmuu& slLmsl upmhu Slereimd s pmisafls 618 o erenio?
(1) o grflussmwiy 22 ugdsaflan 8 gLamamsaflyin 395 sl (harsmsTs
Qe GE5S) o . . . o
(2) snGurg, grdumemoiie 25 ugdsaflgn 12 gL amamseaflyn 448 s (HenrssT
2 _6IT6IT6T
(3) 30.10.2021 euemy 105 SmssrussT G L er
(4) ummEBLeTH  BIVSSSE  empLrmer  HriuiuL  aups@safl  grélsenioliy
UTgIST&SSILIGHSEE!
(4) (1), (2), wibyio (3)
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(B) (1), (3), wimid (4)
(©) (2). (3), wimid (4)
(D) (1), (2), wpmd (4)
(E) uglev Qsfliwafsusmen

14. What is the minimum age requirement for Universal Adult Franchise in India?
(i) 16 years
(ii) 18 years
(iii) 21 years
(iv) 25 years
(A) (i) only
(B) (ii) only
(C) (iii) only
(D) (iv) only
(E) Answer not known
@nglumalsy wesflourae el SolTmaTemeadlsasTear GmnhoLL g alLgdH CaHame eTeenr ?
(i) 16 syemor(&6T
(ii) 18 gy svoT(hGH6T
(i) 21 Sy evoT(HSH6IT
(iv) 25 %mﬁ®5m
(A) (i) LG
(B) (ii) L _(pLd
(C) (iii) Wl (Hib
(D) (iv) (1D
(E) udlev Qaflweilseneo

15. Arrange the following events in chronological order:
(i) Formation of the Drafting Committee
(ii) Implementation of Universal Adult Franchise
(iii) Addition of Fundamental Duties to the Constitution
(iv) First amendment to the Constitution
(A) (@), (i), (iv), and (iii)
(B) (i1), (i), (iii), and (iv)
(C) (@), (iv), (i), and (iii)
(D) (iv), (iii), (i), and (i)
(E) Answer not known
earaupld Haepaisemar smasifleneliuly 6()kISmLISELD:
(i) susmmeys Gpedlstr 2 (HaIT&sLn
(i) wesflouresy L eol SolymeiTEmEs. [HEDL (LPEDMLILIHISHESED
(i) Qréucemuiting IjpliLmL& sSLmusmars Cafsgen
(iv) Qrdwsvsmoiiisr e SmSsin
(&) @), (i), (iv), wpmd (i)
(8) (i), (), (i), pmud (i)
(©) (), (iv), (i), whmd (i)
(D) (), Gid), (i), wHmid (i)
(E) udlev Qaflweilsenen

16. The term "Secular" in the context of the Indian Constitution means:
(A) The state has an official religion
(B) The state does not discriminate on religious grounds
(C) Religion is not allowed in public spaces
(D) Only minority religions are protected
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(E) Answer not known

@néHu grsliueenoiier @psile ' "GESTTLOM" 6T6dT UM SHmSUNGT QTSHSLD:
(A) umhesEnE Sl el sl 9_61T61ng

(B) g jgliemLuiley & urGur(h SMLLIg)

(C) Qurg) @)_rusarfls Lng,Ln IS SSLILLTE)

(D) Fmumsstemio LGHISGET LWL HIGL LTgISTSsLILHSsTmenT

(E) udlev Qsifliwafsusmen

Which of the following is not mentioned as a Fundamental Duty in the given text?
(i) Respecting the National Flag and National Anthem
(ii) Protecting the country's borders

(iii) Paying taxes regularly

(iv) Conserving natural resources

(A) (i) and (ii) only

(B) (iii) only

(C) (ii) and (iv) only

(D) (i) and (iv) only

(E) Answer not known

(AF:) ()7 AN 2 emiuiley L& aeuorLamnlsy 618 IlglILIEDL S SLEMLOILITE S
&ML Oueflebenen?

(i) (Bg,eﬂmaa Glesmg mmgjm G £g,g,smg, &g

(ii) BT 60T 6TEVEMEVEEMANTLI LITSHISHTSHS60

(iii) (pemmwrs oufl ClFNISSIs0

(iv) @WMEDS EUETRISEMETL LITSISTEHE6

(A) (i) omid (i) G

(B) (iii) _(ud

(€) (i) wOmIDd (iv) L (HID

(D) (i) oMb (iv) K6

(E) udlev Qaflweilsemnev

Which of the following are true about Directive Principles of State Policy?

(1) They are mandatory guidelines for the government

(2) They should be considered while framing laws

(3) They are not enforceable in courts

(4) They are part of the Fundamental Rights

(A) 1,2,and 3

B) 1, 2,and 4

(C) 2 and 3 only

(D) 2, 3, and 4

(E) Answer not known

rfleud Gamerenasuilsar sugﬁ]aarrl_®961) Cam_ur@hseaflsy Ssraimesraunled 618 sflwmers)?
(1) ojmeu gm&rrrmaag,g‘,]maarrm sLLMU euflsT (D& s6T

(2) slLmsmer 2 (HeuTs@GLD CUTE oemel SHSSe GamsTariuL. Geussor(bld
(3) ojemeu Eg‘,]mmmrmaamﬂau BEOL (PmMILOSS (PlglliTSemel

(4) ojemeu §.|Ly.IJIJ6'mI_ 2 flemwgsfler e LEGSILTELD

(A) 1, 2 mmid 3

(B) 1, 2 womid 4

(C) 2 LOmid 3 W HIGL

(D) 2, 3 womib 4

(E) udlev Qaflweilseneo
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19. Assertion [A]: The Indian Constitution is a living document that has evolved over
time.
Reason [R]: The Constitution has undergone 105 amendments till 30.10.2021.
(A) Both [A] and [R] are true and [R] explains [A]
(B) Both [A] and [R] are true but [R] does not explain [A]
(C) [A] is true and [R] is false
(D) [A] is false and [R] is true
(E) Answer not known
g [A]l: @B el eTearug STolGUTSSH0 2 meurd aumd @ 2 ullmsTsT
S, 6UTTLD.
smeorid [R]: grélusvenioliy 30.10.2021 suemyr 105 HmssmisEnseE 2 LUl (erers).
() [A] womud [R] @rsior(in 2 evoreno whmis [R] efleré@Sing [A]
(B) [A] wmmnd [R] @reor(hid 2 eoTemingmenT gpeormsy [R] aflersaailsumen [A]
(C) [A] 2-suoremin LommD [R] Seummeors
(D) [A] s6ummenTg; LHmID [R] 2 smorenio
(E) udlev Qaflweilsvemen

20. Find the Mismatched Pair
(A) Democracy - Government elected by the people
(B) Preamble - Introduction to the Constitution
(C) Republic - Country with an elected head of state
(D) Drafting Committee - Group responsible for implementing the Constitution
(E) Answer not known
QUTGHSTS Ceomgeniud senurLlilieyLd
(A) gmg,rrmaam w&semme CHIHesH\SsLILL L 9)|T&
(B) wetregieny - gyrélusvsmiolifer lpssin
(C) Bywrs - CaIMmOsH&SSILL L Ts Semeaamrs Gsmeur BT
(D) auemrays G - JrSlussmilismu KoL (PeonULHSSISNE GUTMILLTET &
(E) udlev Qaflweilsemnen

21. Which of the following statements about India's national symbols are true?
(1) The Bengal Tiger was declared the national animal in 1973
(2) The Indian Lotus (Nelumbo nucifera) is the national flower
(3) The Banyan tree is the national tree of India
(4) The Ganges River is the national river of India
(A) (1), (2), and (3)
(B) (1), (3), and (4)
(€) (2), (3), and (4)
(D) All of the above
(E) Answer not known
@ndwreilsr Gl Sererriser unmdiu eTaimD swnnisefled 678 o momsnL?
(1) suriiss Uedl 1973 @lev Cadlu eflevtisrs gileiissiuL g
(2) @‘r_r,ﬁu_lg, SITLO6OIT (Qy_r,gum(ﬁurr LTINS O Ny R o6V S SLD
(3) guewond @kEumellsr Ggehu Wi
(4) smems B @QnSuraisr Cadiu md
() (1), (2), wipid (3)
(8) (1), (3), wimis (4
(©) (2). (3). wimid (4)
(D) GGev 2 6Ter YjEMETTSHSILD
(E) udlev Qaflweilsvemnen

22. What is the state animal of Tamil Nadu?
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A== ',.-'.:'
(i) Nilgiri Tahr
(ii) Indian Elephant
(iii) Bengal Tiger
(iv) Indian Leopard
(A) (i) only
(B) (ii) only
(C) (iii) only
(D) (iv) only
(E) Answer not known
SLpET Igetr omfley el 6Tg)?
(i) Boodfl ey
(i) @b wiremenr
(iii) eurbismem 160l
(iv) @ibS SAmiGme
(A) (i) @O
(B) (ii) L (HLD
(C) (iii) Wl (Hib
(D) (iv) L (1D
(E) udlev Qaiflweilevsmev

%

1 1

23. Arrange the following in chronological order of their adoption as national
symbols:
(i) National Flag
(ii) National Emblem
(iii) National Anthem
(iv) National Animal (Tiger)
(A) (i), (i), (ii), and (iv)
(B) (iii), (i), (i), and (iv)
(©) (i), (i), (iii), and (iv)
(D) (ii), (iii), (i), and (iv)
(E) Answer not known
Uereumeueomoumeny Gy Harermuserms omSCSTaTUGNSTET - STevaflenaLiLiy
auflen&IL(hSSHeLD:
(i) Copdlus Csmg
(i) Caelwu eoreorid
(ii)) Coflu Szld
(iv) Cadlu aflevrig (Lsdl)
(&) @), (i), (i), opmid (iv)
(8) (i), (), (i), pmud (i)
(©) (), (i), (i), pmd (v)
(D) (i), Gid), (). whmid (v)
(E) udlev Qaflweilseneo

24. The national currency symbol of India, %, was designed by:
(A) Udaya Kumar
(B) Pingali Venkayya
(C) Rabindranath Tagore
(D) A.P.J. Abdul Kalam
(E) Answer not known
@nglwmalesr Gl mmeTi Sletreriomer I , aUlpaIMLISSLILLL &|:
(A) 25w @Lomy
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(B) Nrus6d Gleumbigsiinwim
(C) rofpumrd Smenij
(D) APJ 9igI6 Seomid
(E) udlev Qaflweilsvemen

25. Assertion [A]: The Indian Peacock was chosen as the national bird of India.
Reason [R]: The peacock is endemic to the Indian subcontinent and represents
the unity of vivid colors and Indian culture.

(A) Both [A] and [R] are true and [R] explains [A]

(B) Both [A] and [R] are true but [R] does not explain [A]

(C) [A] is true and [R] is false

(D) [A] is false and [R] is true

(E) Answer not known

Ga M) [Al: @ngw wulle @nSiumelsr Calu Lpsma LTS Gg,ng,@g,@aa&;uuu_gj
aarnrsmﬂm [R]: oufled @Ik gjﬁmsnnraaaasnnTLgyfﬂeu w (HCw. 2 eterg LHMID  CFefleumer
EUETOTEUOTTRIS 6T LOMMILD (@&l aasurr&&rrng,g‘,]sﬁr spmmiemenll LTS Sms).

(A) [A] angum [R] @\Tevor(pld 2 ctoTemL angum [R] mﬁ]ma&@eﬂmgj [A]

(B) [A] angum [R] @Umr@m o_suoTenog e yeurmey [R] eflerésaflsosmen [A]

(C) [A] 2_suoTemLo angjm [R] saummeTTS)

(D) [A] Beunang) WHYID [R] 2 srenio

(E) udlev Qaiflweailsusmen
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SCERT FOUNDATION — COURSE — DAY — 3 QUESTION PAPER
Date: 05/10/2024 No of Questions: 25

1. What is the primary characteristic of a democratic form of government?
(A) Power lies with the monarch
(B) Power lies with the military
(C) Power lies with the people
(D) Power lies with the aristocracy
(E) Answer not known
6(Ih SOEUTIHTILIS g6l STEFTHRISSSEI (LPS6ITEMLOWLITET LIETITL| 6T6OT60T 7
(A) lsmid weTsmflLLd 2 iTemg)
(B) gflammid @IrmemieiSSIL b 2 6iemg)
(C) Yyl wssaflLd 2 Tomg)
(D) yFlammid 2 wWiGyuilerflid 2 6TeTg)
(E) udlev Qaflweilsemnen

2. Match the following:
ListI | List I
(a) Direct Democracy | 1. India
(b) Representative Democracy | 2. Switzerland
(c) Parliamentary Democracy | 3. USA
(d) Presidential Democracy | 4. England
(A) (2)-(2), (b)-(1), (c)-(4), (d)-(3)
(B) (a)-(1), (b)-(2), (c)-(3), (d)-(4)
(C) (2)-(3), (b)-(4), (¢)-(1), (d)-(2)
(D) (a)-(4), (0)-(3), (¢)-(2), (d)-(1)
(E) Answer not known
tlerTeu(meussTeumemmLl QT S&i:
Ul ipiied T | Ltguied II
(a) Cmme seormmMUsSD | 1. @HSwT
(b) UirHhHSg101 gempTUsD | 2. sl sjammns)
(c) ummEmLeaTm sgeoTHTILSLD | 3. 9GLofl&sT
(d) speorrlud) spemmmSLD | 4. @RiSleMhs)
(4) (2)-(2), (b)-(1), ()~(4), (d)-(3)
(B) (a)-(1), (b)-(2), ()~(3), (d)~(4)
(C) (2)-(3), (b)-(4), (c)=(1), (d)-(2)
(D) (2)-(4), (6)-(3), (c)-(2),(d)-(1)
(E) udlsv Qzflweilsusmen

3. Which of the following statements about democracy are true?
(1) It originated in Greece
(2) The term is derived from "Demos" and "Cratia”
(3) Switzerland practices direct democracy
(4) India follows a presidential democracy
(A) (1), (2), and (3)
(B) (2), (3), and (4)
(©) (1), (3), and (4)
(D) (1), (2), and (4)
(E) Answer not known
speuTHMLSLD Ll Slsreu(md S mmisefley 618 2 ettremin?
(1) @& SHCrsssdla o meumars)
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(2) @5 aunmigms "G GLomsv" angum "&Craflur” sreTuSe0mHg CUMLILLL &)
(3) el arounhgl Crirg gmg,rrmeag;smg; Bl (emmUILBSSISmsS)
(4) @rBlur gamugl garpnussms LsudniSns
(a) (1), (2), wimid (3)
(8) (2), (3), wimid (4)
(C) (1), (3), wpmud (4)
(D) (1), (2), wimio (4)
(E) udlev Qsfliwalsusmen
4. Who is referred to as the 'Chief Architect of our Constitution'?
(A) Mahatma Gandhi
(B) Jawaharlal Nehru
(C) B.R. Ambedkar
(D) Sardar Vallabhbhai Patel
(E) Answer not known
B TN HmaamLo ' steory @O CLb e wim?
(A) Lnaarrg;mrr aarrrrr,g‘;]
(B) spsugmievmsd G
(c) . gyr Uﬂqm(ﬁugyaarr
(D) &My susvsuLIMl LIGL 6V
(E) udlev Qsiflweilsusmen

5. Arrange the following events in chronological order:
(i) Women given voting rights in New Zealand
(ii) Women given voting rights in the UK
(iii) Women given voting rights in the USA
(iv) Universal Adult Franchise in India
(A) (1), (i), (iii), (iv)
(B) (iv), (iid), (i), (i)
(©) (), (), (iv), (i)
(D) (ii), (iv), (), (i)
(E) Answer not known
earaumld Hspasmar sralflmalilly. 6(kSmLSEa|LD:
(i) B Seoridled ClueTsEmsE Mmssafl&HG0 2 flimn aIPhISLLILL 8|
(ii) @&l ClLmTSEhsE TSEflmn aIpRIsLILIL (H6TsTS)
(i) 9 GLoflEameaien Qustmaa@aa@ &G flem aupmisLILL (HeTars)
(iv) @hgwurafsy wesflaufasn oyl Selimsrenasi
(a) (i), (i), (iii), (iv)
(B) (iv), (i), (i), (i)
(C) (i), (i), (i), (iii)
(D) (iii), (iv), (), (ii)
(E) udlev Qaflweilsvsmen

6. Which day is observed as the International Day of Democracy?
(A) August 15
(B) September 15
(C) October 2
(D) November 26
(E) Answer not known
TS HeT s7eubses mammus Serors amisfléssiubdng?
(A) gy&evl 15
(B) @&li_ibuiy 15
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(C) o&GLmuf 2
(D) meubLy 26
(E) udlev Qsfliwalsusmen

7. What percentage of Indian citizens have faith in the democratic system according
to world statistical data?
(A) 69%
(B) 79%
(C) 89%
(D) 99%
(E) Answer not known
2 08 Usteflalleur sraiseflerLy s&Hsmer 565 @RI GlgloSS6T NETHTLS IemLolifs
BLOLN&EMS HEUSSIETET6DTT 7
() 69%
(B) 79%
(C) 89%
(D) 99%
(E) udlev Qaflweilsemnen

8. Which of the following is NOT a feature of the Indian Constitution?
(A) It defines political principles
(B) It outlines the structure of government institutions
(C) It establishes a monarchy
(D) It fixes the Rights and Duties of citizens
(E) Answer not known
UleoTeu(meussTaumfled 6T&l @IHBSIL oyTliusvsmiolitlesT QD& jeven?
() @& ordus Cam_urhisman aTLDISENS)
(B) @& oemmhis Hnesrmssflsr slLamwlou Camel hs s (h&nsg
(C) 51 @@ Wewm_dsvw BnieSng
(D) @& Gpusssflsr o fleowgst LHNID SLenngsmer Hiaruissnsg
(E) udlev Qaflweilsvemen

9. Assertion [A]: In a democracy, all citizens above 18 years of age are given voting
rights.
Reason [R]: Universal Adult Franchise ensures equal representation for all adult
citizens.
(A) Both [A] and [R] are true and [R] explains [A]
(B) Both [A] and [R] are true but [R] does not explain [A]
(C) [A] is true and [R] is false
(D) [A] is false and [R] is true
(E) Answer not known
audlmISS6 [A]l: weETUSSS, 18 aIugisE CunUlL maTS5s GlliésEheELD
amssafleg 2 flow auphisiub&ng:.
smremord [R]: weofloufasd L6l SLTmerenssn JmaTsg oIS b G\gl&sEhsEL
guwrer rSbdsgngns o i Gendng.
() [A] angum [R] @\Tevor(pId 2_cuoTemL angjm [R] s)ﬁlsrraa@a‘;]g_r)gj [A]
(B) [A] angjm [R] @Usm@m o aoTenngTaT gyemme [R] eferésailmen [A]
(C) [A] 2_ctuTemin angum [R] soummeng)
(D) [A] goummeng) mmid [R] 2 evrenio
(E) udlsv Qzflweilsusmen
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10. Which of the following is considered the oldest standing democracy in the
world?
(A) Greece
(B) Rome
(C) United Kingdom
(D) United States of America
(E) Answer not known
Yetreu(peusarelmniled 678 2 6VEl6IT LIPEMLOWITET SOEBTHMLSLITS S(FSLILIMSNG]?
(A) &ifero
(B) Gpmid
(C) w&& @rr&diun
(D) oQufssT
(E) udlev Qaflweailsusmeo

11. Which of the following is NOT a corporation in Tamil Nadu?
(A) Chennai
(B) Madurai
(C) Coimbatore
(D) Pondicherry
(E) Answer not known
SL&&6m0TL6UMl6) 618 SLOLPHTL 60 (@606men?
(A) @&etrement
(B) Lgyemr
(C) CamubLSgTT
(D) umetTip &Gl
(E) udlev Qaflweailsvsmeo

12. Match the following:
List I (Local Body) | List II (Characteristic)
(a) City Municipal Corporation | 1. Population above 10,000
(b) Municipality | 2. Oldest local body in India
(c) Town Panchayat | 3. Population above 1 lakh
(d) Chennai Corporation | 4. IAS officer as Commissioner
(A) (a)-(4), (b)-(3), (c)=(1), (d)-(2)
(B) (a)-(3), (b)-(1), (c)=(4), (d)-(2)
(©) (a)-(2), (b)-(4), (e)-(1), (d)-(3)
(D) (a)-(1), (b)-(2), (¢)-(8), (d)-(¥)
(E) Answer not known
Ylerreu(meusaTaumemmLl QT S8
UL lpiied T (2eTerm &l gjemioliy) | L ipuied 11 (Lievory)
(a) Sllig peuflflusy smilLGrager | 1. w&sar Ggmems 10,0008@ Gosy
(b) parm &l | 2. @hdurelsr LpsmowTeT o sTaTm & gjemLoLiL]
(c) Leyetr LghamLSG | 3. wEs6T QsTms 1 o s58nE Gl
(d) Gestrement LoMEsIT S | 4. siflageryre sereren gl
(4) (2)-(4), (b)-(3), (c)-(1), (d)-(2)
(B) (a)-(3), (b)-(1), (c)-(4), (d)-(2)
(C) (2)-(2), (b)-(4), (c)-(1), (d)-(3)
(D) (a)-(1), (b)-(2), (c)-(3), (d)-(4)
(E) udlev Qaflweilsvemeo
13. Which of the following statements about Panchayat Raj are true?
(1) It was advocated by Mahatma Gandhi
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(2) The Panchayat Raj Act was enacted on April 24, 1992

(3) April 24 is observed as National Panchayat Raj Day

(4) Grama Sabha is the only temporary unit in the Panchayat Raj System
(A) (1), (2), and (3)

(B) (2), (3), and (4)

(C) (1), (3), and (4)

(D) (1), (2), and (4)

(E) Answer not known

UEhEMUSS TTey upmu Slstrelpd S mmiseaflsy 618 2 eorento?

(1) @& warswT sMESWTL LIfEGr&HsILLL 8|

(2) uepsmusg) Tmey sLL 1D eyliysy 24, 1992 @leb @uUmHmUILILL &)

(3) srlimev 24 Godlu uEhsmMUSG TTe Serons gaisflEsUubSns)

(4) ugpsmMUSG TTY 9emLolifled 2 etar GT SNSTOS I G ST oL
(4) (1), (2): wigid (3)

(8) (2), (3), wpmid (4)

(©) (1), (3). wimid (4)

(D) (1), (2), oo (4)

(E) udlev Qaflweilsemnen

14. How many corporations are there in Tamil Nadu as of 2024?
(A) 15
(B) 18
(C) 21
(D) 24
(E) Answer not known
2024 oyib gyevor(h) Hlevauniily SLALKTL 96D TESEMET LOMBSTTL SSH6T 2 6T6meT?
(A) 15
(B) 18
(c) 21
(D) 24
(E) udlev Qafweilsvemen

15. Arrange the following local bodies in descending order of population size:
(i) Town Panchayat
(ii) Municipality
(iii) Village Panchayat
(iv) City Municipal Corporation
(A) (iv), (i), (1), (i)
(B) (iii), (i), (ii), (iv)
(©) (i), (iv), (@), (iii)
(D) (iv), (i), (i), (iii)
(E) Answer not known
Wetreu(pld 2 6Tarm & oyemLliLsemsT L&STESTms eralsr @mmiE auflmeauils
auflemalL(bhSSa]L:
(i) Leysdr LEhEMUSS
(ii) merm &l
(iii) &rmo LEEFTLSS)
(iv) &ilig eolldlusy smiTILGTagsHT
(A) (iv), (i), (1), (iii)
(B) (iii), (i), (i), (iv)
(€) (), (), (i), (iii)
(D) (i), (i), (i), (iii)
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(E) uglev G]g,rﬂmoﬁ]susmsu

16. What is the minimum age requirement for participating in a Grama Sabha
meeting?
(A) 16 years
(B) 18 years
(C) 21 years
(D) 25 years
(E) Answer not known
S Fous sl LGSl LRICSHUSNSTET GONHESULF QL] 6T6aTenr ?
(A) 16 gy eor(DIS6T
(B) 18 gy emor(h\g6i
(C) 21 gy emor(hs6T
(D) 25 gy eoT(HIS6T
(E) udlev Qaflweailsusmen

17. Which of the following is NOT a source of revenue for City Municipal
Corporations?
(A) House Tax
(B) Professional Tax
(C) Agricultural Tax
(D) Entertainment Tax
(E) Answer not known
AetreumeueTeumles B (erfldled SMLILGTAKEITSEHGE MIHEITL LSS @TSg
61817
(a) oSG ourf
(8) Ggmflsgemp orf
(C) efleusmu eufl
(D) CaeflEena ouifl
(E) udlev Qaflweilseney

18. Assertion [A]: Tamil Nadu was the first state to introduce Town Panchayats in
India.
Reason [R]: Town Panchayats serve as an intermediate level between villages
and cities.
(A) Both [A] and [R] are true and [R] explains [A]
(B) Both [A] and [R] are true but [R] does not explain [A]
(C) [A] is true and [R] is false
(D) [A] is false and [R] is true
(E) Answer not known
anml [A]: @h&umelsy Lejsr LEhemuSSISmeT JMPsLLOSSIL (s mlen SLIETH.
SMewrid [R]: LeysT LEHEMUSSISET SRS EHSESL heTHSEHSE0D @smLuls 6
@ bleme 0L 10T GlFiLeLIbilsTmenT .
(a) [A] angjm [R] @\Tevor(pld 2 toTemLo angpm [R] mﬁ]ma’;@a‘ﬂmgj [A]
(B) [A] angum [R] @I]’ED‘OT@LD o euoTemosTaT g erme [R] eflerésaileemen [A]
(C) [A] 2_ctoremin angjm [R] SOUNTETS)
(D) [A] oummstrg mmi [R] 2 etremio
(E) udlev Qaflweilsvemneo

19. Which district in Tamil Nadu has the lowest number of Panchayat Unions?
(A) Chennai
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(B) Coimbatore
(C) Nilgiris
(D) Madurai
(E) Answer not known
SLPHTL 1960 6THS LoMeULL LD Gemmeurssr 2eryml &l eemrmiliLmigenens Gl mer(hsmars)?
(A) Glaerement
B) GamuySami
C) Bedlfl
D) Log6miy
E) ugled Qgifliuafssmey

/\/—\/\/—\

20. Which of the following is NOT a feature of local self-government in India?
(A) Decentralization of power
(B) Regular elections
(C) Reservation for marginalized groups
(D) Appointment of officials by central government
(E) Answer not known
LletTeu1(m6L6aTEM A0 68l @;},,@‘;]u_lrraﬂsu 2 6iTemTL&l SWITHIISSHlT LS je0e0?
(A) qugﬂaamyu LIT6U6VTE LD
(B) mgaaaamrrm Gg;ng;EUB’;GIT
(C) paIssIuL @Q:gasaa@aaaarrm [CYITY: T30
(D) wsHW gyraTe gyHsflesmer Hiblsse
(E) udlev Qaflweilsvemen

21. Which of the following statements about the 73rd Constitutional Amendment
are true?
(1) It gave constitutional status to Panchayati Raj Institutions
(2) It mandated regular elections for local bodies
(3) It provided for reservation of seats for SC, ST, and women
(4) It established the State Finance Commission
(A) (1), (2), and (3)
(B) (2), (3), and (4)
(C) (1), (3), and (4)
(D) (1), (2), (3), and (4)
(E) Answer not known
736)_@ Uﬂ)mélluausmmuug; Smss undliu NeTaimLd &n_mguaaaﬂsu 615 2 _6uoT6mLO 7
(1) @& uEhETLSS TTeY ngmma&@a&@ IrSlLemLILIL] YHSMEmS aIPBISILS)
(2) @1 2 smemm_& cﬂqsmmuuas@aa@ QUPSSLTET CHTSHSMET S L MULTSSILS)]
(3) @& SC, ST wimih ClLETSEHSHE G RSISE DL APHIELS
(4) @a1 wmhlo B oyamuSmS Hyeiug
(&) (1), (2), wpmid (3)
(8) (2). (3). whph (4)
(©) (1), (3). wmid (4)
(D) (1), (2). (3), wpmid (4)
(E) udlev Qaflweilsveneo

22. In which year was the 74th Constitutional Amendment Act passed, providing
for urban local bodies?
(A) 1989
(B) 1992
(C) 1993
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(D) 1996

(E) Answer not known

,F_F;&ITIJLIHJ o semm_ & gemISEh&STeT 74618 Irflummulils ShssE S 6hS
ILetoriged HlemmGoaunmii’L g)?

23. What is the minimum age requirement for contesting local body elections in
India?
(A) 18 years
(B) 21 years
(C) 25 years
(D) 30 years
(E) Answer not known
@rdwumaiey 2 ererm & Caiseley CuT pull GmnhSULE 6ULG)] 6TeiTeor ?
(A) 18 gy emor(HiG6T
(B) 21 oy emor(plgs6iT
(C) 25 gy suoT(hs6i
(D) 30 oy emor(H\gH6iT
(E) udlev Qsflweilsvemeo

24. Assertion [A]: The State Election Commission conducts elections to local bodies.
Reason [R]: The 73rd and 74th Constitutional Amendments mandated the
creation of State Election Commissions.

(A) Both [A] and [R] are true and [R] explains [A]

(B) Both [A] and [R] are true but [R] does not explain [A]

(C) [A] is true and [R] is false

(D) [A] is false and [R] is true

(E) Answer not known

Ga M) [A]: s (Bg,ng,su %smemmm 2 6memTL_ &l QemLLILSEHSSTET CSHTHme KL S5SIENS).
65ITI'J'6'U‘0TL[] [R]: 736ugy) ommin 746181 réliuevenioli] Hp&sSmisar o CaHrsHn sLilagsrsamer
Q_@mrraa@susmg; aal_l_rru_anrrasa‘;]u_lg,J

(a) [A] angjm [R] @wevor(hld 2_6vaT6mLO angum [R] oﬂmaa@a‘ﬂmgj [A]

(B) [A] angum [R] @UstmT@Ln o euoTemogTeT gpeurmed [R] eflerésailssmen [A]

(C) [A] 2-svoremin Lommd [R] &eummenra)

(D) [A] s6ummenTg;) LHMID [R] 2 6woTenLo

(E) udlev Qaflweilsveneo

25. Which article of the Indian Constitution deals with the composition of
Municipalities?
(A) Article 243P
(B) Article 243Q
(C) Article 243R
(D) Article 243S
(E) Answer not known
@nsu yrdlussmwiyg gL sdHler ensl Wifle] parmdaaflsar gemwlmus @GmlsSng)?
(A) Yfley 243p
(B) Uifley 243Q
(c) Yifley 243R
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(D) Uifley 243s
(E) udlev Qaflweilsvemen
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SCERT FOUNDATION — COURSE — DAY —4 QUESTION PAPER
Date: 07/10/2024 No of Questions: 25

1. Which of the following statements about equality is correct?
(i) Natural inequalities can be rectified
(ii) Man-made inequalities can be rectified
(iii) Twins are always equal in their abilities
(iv) People should not be given equal opportunities
(A) (i) and (ii) only
(B) (ii) only
(C) (iii) and (iv) only
(D) (i), (ii), and (iii)
(E) Answer not known
FLGGIeULD LPPIW LIeTeULD FnpmIFafled 615 FFlwmesd)?
(i) Qupens aPPSSILH Y sear Fifl GlFuiwevmLd
(ii) NS 2 (FUTSHLILIL L IDDSSTLH ST Ffl O\Fuwiw (LpLguyLd
(iii) @uL 6oL wisaeT 61LiCLITSILD 5% 6T H)DETHETN6) FLOLD T8 6L T 6iT
(iv) LDESH@5S G FLO QUTUILILISHOT QULPEIGLILIL Hal TS
(4) (i) pmiLd (i) oL HLd
(B) (ii) oL (R)LD
(C) (iii) opmiLd (iv) L HILbd
(D) (i), (ii) LopmILb (iii)
(E) afleni_ GgNuieleene
2. According to Prof. Laski, which of the following is NOT a characteristic of equality?
(A) Absence of social privilege
(B) Identity of treatment
(C) Adequate opportunities for all
(D) Absence of sameness of reward
(E) Answer not known
Cuur@®Nwi ewrev NG FpmiLiLig, LeTelheaucTaunBled 615 FLOSSHI IS FGIT LIGRTL| 2 06V?
(4) Feps (LpesTalflenLn @)eOevTen Lo
(B) F6est]LiLN6eT 96w L_WwmeLd
(C) yemastar 5@ Ld CLITS W eumuiLiL%er
(D) Qeu@ L@ uller eGr sarenLo @)ebevTenLo
(E) afleoL_ Ggwaledenev
3. Match the following types of equality with their correct descriptions:
List I (Types of Equality) | List II (Descriptions)
(a) Social Equality | 1. Enjoyment of civil rights by all citizens
(b) Civil Equality | 2. Right to vote and hold public office
(c) Political Equality | 3. Equal status in society regardless of caste or creed
(d) Economic Equality | 4. Equal distribution of wealth and income
(A) (2)-(3), (b)-(1), (¢)-(2), (d)-(4)
(B) (a)-(1), (b)-(2), (c)-(3), (d)-(4)
(©) (8)-(2), (b)-(3), (c)-(4), (d)-(1)
(D) (a)-(4), (b)-(1), (¢)-(2), (d)-(3)
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(E) Answer not known

LIGTUHLD FLOS SO UGHSH e 6T e D MG FHWITET @I)6T5 5 E1% @5 L 68T O\LITBSS%:

UL g uied I (FLogGIaus ST euendsa) | Ll 19 wied I (ail6Ts s 1% 6iT)

(a) FopF FLOGHIQULD | 1. 6TOVTSH GLYLDSH@HLD & LYW Few LDSHew aT a8/ LIaTNS5 5

(b) GLyLD FOGFHIAULD | 2. uTESH6MEGLD 2 flewip oPmILd Y TsLl LGaI%emar euHE@GLd 2 flewLp
(c) TP wed FgGiauLd | 3. TG g GeumiLimig ey FELPSSH eV FLD Y HSeDS

(d) QUTBTISTT FLoGHIAULD | 4. ClFOILD LOPDILD UHLOTESSB T FLOLOTGT LIF Ty

(A) (@)-(3), (b)-(1), (¢)-(2), (d)-(4)

(B) (@)-(1), (b)-(2), (¢)-(3), (d)-(4)

(© (@)-(2), (b)-(3), (c)-(4), (@)-(1)

(D) (@)-(4), (b)-(1), (¢)-(2), (d)-(3)

(E) aflew_ Qg waledenev

. Which British legal luminary advocated the concept of "Rule of Law"?
(A) John Locke

(B) Thomas Hobbes

(C) A.V. Dicey

(D) Jeremy Bentham

(E) Answer not known

"FL L G 9L §)" 61D H(hFdS S5 NS5S LML 19 ok FL 1 Cioews wimg?

(4) @6 Vs

(B) SrLbew e ILieD

(C) ar.a9). w9

(D) Gleiid) QLips LD

(E) afleni_ GgNuieleene

. Which of the following are guaranteed as political rights in democratic countries
including India?

(1) Right to vote

(2) Right to hold public office

(3) Right to criticize the government

(4) Right to equal distribution of wealth

(A) (1), (2), and (3)

(B) (1), (2), and (4)

(©) (2), (3), and (4)

(D) (1), (3), and (4)

(E) Answer not known

QBFwr o atefll L @erpTws BTRSeN® LisraGaiaTaipBled Tener HIFWe o fenioserTs
2 FHTUTSLD 9 6llS%LILI(H B 63T GoT?

(1) aurgsaflg @b 2 fenio

(2) &L ugailsemar UG @Ld 2 flevLo

(3) YoFTEISSmS A iREGLD 2 flevLp

(4) QFeuges FLoLoASLI LIS FHSef LILISDE T 2 [flenLo

A (1), (2) pmiLh (3)

(B) (1), (2) opmith (4)

(© (2), (3) HDILD (4)

(D) (1), (3) PpILH (4)

(E) aflev_ Qg ilwaledenev

. Which Article of the Indian Constitution deals with the prohibition of
discrimination?
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(A) Article 14
(B) Article 15
(C) Article 16
(D) Article 17
(E) Answer not known
@BFw oy rfwevenioLiller 615l Lfley LTGUTL LG FenL_ O\FuiauemSs enHWTTRDS?
(4) e piLiLyeng 14
(B) 2 miLiyeng 15
(C) 2 myLiryeng 16
(D) 2-miLiLyeng 17
(E) aflev_ Qg Mwaledenev
7. Arrange the following Articles of the Indian Constitution in the correct order as
they appear:
(i) Abolition of titles
(ii) Equality before law
(iii) Abolition of untouchability
(iv) Equality of opportunity in public employment
(A) (), (iv), (i), (i)
(B) (i), (ii), (iii), (iv)
(©) (i), (i), (iv), (iii)
(D) (iv), (iid), (i), (3)
(E) Answer not known
QBPw syrRwevenioLitiest Lereumd Lfleysemer yeneu Caraimid cuenasulle FRwmrest euflenFuiled
auflenFLiLI(hSSeYLD:
(i) UL L_mIGenaer L5560
(i) FL LSBT (LPGIT M &8TeU (HLD FLDLD
(iii) SewsTL_MewLp pLAlLILY
(iv) Gluingy GauemeeumuiLitied FLo eumuiLiey
(4) (ii), (iv), (iii), (i)
(B) (i), (ii), (iii), (iv)
(© (iD), (1), (iv), (iii)
(D) (iv), (ifi), (ii), (i)
(E) ofleni_ GgNuieleenev
8. Which of the following statements about equality in the Indian Constitution are
true?
(1) Article 14 guarantees equality before law to all people
(2) Article 16 provides equality of opportunity in public employment
(3) Article 18 introduces the practice of untouchability
(4) Article 21 further strengthens the concept of equality
(A) 1,2, and 3
B) 1, 2,and 4
(C) 2,3, and 4
(D) 1, 3, and 4
(E) Answer not known
QBF W rHwevenioLitfed FLogGieud LPPlw LIeTel(BLD FnpmiFHafled 6Ta Fifliimesig)?
(1) 9Fay 14 e esTd G| LDFS@FSGHLD FL L FFGHT (Lp6ST FLOSSFIUG®S 2 DIFLILIBHSSHIH DS
(2) ey 16 Qg Geueweveumuitited Fio eumuiLienL auLpmIGH DS
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(4) Ofley 21 FLogGIauLD 6TGEID F(hFemsH CLogyitd auaLILI(BSSHIH DS
(4) 1, 2 opmitd 3

(B) 1, 2 opmyLd 4
(C) 2, 3 pmiLd 4
(D) 1, 3 LopmyLd 4
(E) aflen_ G Nwelevenev

. Assertion [A]: Equality is a powerful moral and political ideal that has inspired

human society for centuries.

Reason [R]: Equality invokes the idea that all human beings have equal worth
regardless of their caste, color, gender, race, or nationality.

(A) Both [A] and [R] are true and [R] explains [A]

(B) Both [A] and [R] are true but [R] does not explain [A]

(C) [A] is true and [R] is false

(D) [A] is false and [R] is true

(E) Answer not known

FnDMI [A]: FIDSGIOULD GTGTLIG] LIGV BIDDTEST(HEGTTS LTS FULPS TGS 2615 &S S @(h F&DeuTUiS
SMILSS LHMILD HTFWed @)evL " Fuwior@GLb.

SIgewid [R]: FLOFSHIQULD eTeTLE FTH, BIMLD, LTeSesd, QeTd s CsFwD YFweupenmL
QuUITBL LGSSTOCD RTSH LOTSIS@FFGLD FLOOMGT LOFLIL] 2 6TaTE 61D FHBHSDSS
ST B H DI

(4) [A] wppiLd [R] @oesst®Ld & opmiLd [R] [A] @ oflerd @& ms

(B) [A] opmiLd [R] @) uessiGILd &1l gy,ermed [R] [A] @0 aflardsallevenev

(C©) [A] &) oppid [R] Seumi

(D) [A] 3eumi opmitd [R] &4

(E) aflev_ Qg waledenev

Which of the following is NOT mentioned as a way to promote equality?

(A) Treating all fairly

(B) Creating an inclusive culture

(C) Ensuring unequal access to opportunities

(D) Enabling development of full potential

(E) Answer not known

FLOFSIUFM G 2615 G LILSDHT6ST uLflwing LTl meussTalDmled 6Tg GMILILIL_LiLi_afedenev?

(4) ST TUJLD BNWITWILDTS BB H60

(B) 2_GTGTL_ 5% HTEFTTSHNSG 2 (h6U TS HS

(C) QUTUILIL|%@BSHHTET FLOLODD 9 GIFe 2 NiF) ClFuized

(D) (tp(tp B mesiesr euanid@enw ClFweOLI(B)SS5I%60

(E) afleo_ Qg Nwaledenev

.Which of the following are basic components of a political party?

(i) The leader

(ii) Active members
(iii) Followers

(iv) Opposition party
(A) (i) and (ii) only

(B) (i), (i), and (iii)

(C) (ii), (iii), and (iv)
(D) (@), (ii), (iii), and (iv)
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(E) Answer not known
L9ereupevueTaupBled Tem e o TF W) &L F UG $y1g LILIGHL Fn DI H6T?
(i) HemaValF
(i) (LpEOGSTLILITGT & ML 1L NGTF&% e
(iii) L9esTLID My LI6M TS 6iT
(iv) GTFISHLG)
(4) (i) opmILd (i) oL HILd
(B) (i), (i) LoppILd (i)
(©) (ii), (iii) LoP@ILD (iv)
(D) (i), (ii). (iii) LoDMILD (iv)
(E) oflewni_ G Nuiefevenev
12.What are the criteria for a party to be recognized?
(1) Engaged in political activity for five years
(2) Candidates secure at least six percent of total votes in the last general election
(3) Must have at least 1000 registered members
(4) Must win at least 10 seats in the parliament
(A) (1) and (2) only
(B) (2) and (3) only
(€) (1), (2), and (3)
(D) (2), (3), and (4)
(E) Answer not known
R LG 5155 H 55 LILIB 6US DS TG 616 CFTOE G 61667
(1) eB51 24,e551(HH6T Y TFWD FL_611gFanBuled FHILIL 19 (5Hs Geuent(BLd
2) sLps Curms Csizseded Goul umeariger Glongs wrsGseled GODESH AN FSI5SSLI
Qupppss Caussr(pLd
(3) GBS 1000 LDey QFwiwiu’L o pilerisemens OsresTiy Has Geuesr(hLd
(4) BIL_T@FLOGTDS D G BSE 10 Q)L miGemarwimaigy Geuaev Geuesr(hLd
(A) (1) oppiLh (2) oL B)Ld
(B) (2) opmitd (3) toL”B)Ld
(© (1), (2) pDILD (3)
(D) (2). (3). PpILd (4)
(E) afled_ Qg lwaledenev
13.Match the following types of party systems with their characteristics:
List I (Party System) | List II (Characteristic)
(a) Single Party System | 1. Power shared between two parties
(b) Bi-Party System | 2. Competition among three or more parties
(c) Multi-Party System | 3. Single party has the right to form government
() (2)-(1), (b)-(2), (0)-(3)
(B) (2)-(3), (b)-(1), (c)-(2)
(©) (8)-(2), (b)-(3), (c)-(1)
(D) (a)-(3), (b)-(2), (0)-(1)
(E) Answer not known
LeTauLd L&) (Lpemn&eieiT 61eHEHSE G 9y oD PIGT LIGHTL|S @ L_63T O\ LIMT(BSSI%:
Ul quwed 1 (L& oyemnliny) | uiqued I (EpLiifuwiedry)
(a) @peopd SL& pewp | 1. @)1 soLIesT5%Fen_ulled STl LIS e,
(b) @QBSLG 1pevw | 2. eLp&TI Devd AHFD& CopL’t &L HFepsHen_ulevmer Gim’ig
(c) U S (Lpewp | 3. (b SLFSS YL & Y& @GLd 2 flewip 2 ar(h
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(B) (@)-(3), (b)-(1). (c)-(2)
(© (@)-(2), (b)-(3), (c)-(1)
(D) (@)-(3), (b)-(2). (c)-(1)
(E) aflen_ G Nwelevenev
14.Which of the following is NOT a requirement to form a political party in India?
(A) Must get registered with Election Commission of India
(B) Must write a Party Constitution
(C) Must have at least 100 members
(D) Must win at least one seat in the parliament
(E) Answer not known
LereupeuaTeuppled 618 @)bPwTaled eh HIFWe L Fevw 2 Haunss Comaulledenev?
(4) @QBPw Czizse YemanusHed LPa O\FuiFBhss Gouetr(BLD
(B) (5 L_F pFlwevenioLiens 6T(Lps Ceuesi(hLd
(C) G@wBSE 100 2 piLiesTisemars C\Fmesiy (555 CouesT(BHLD
(D) LTITE@BLOGIDS B GHDDBSS R(H O TEHDewwwmeugy Oleuedev Geuesr(hLd
(E) aflew L Qg waledenev
15.Arrange the following steps in the correct order for a party to be recognized as a
National Party:
(i) Win 2% of seats in Lok Sabha from at least 3 different states
(ii) Secure at least 6% of valid votes in Lok Sabha or Assembly elections in four
states
(iii) Win 4 seats in Lok Sabha from any State/States
(iv) Each member needs to hold a voting card
(A) (iv), (i), (1), (i)
(B) (i), (), (i), (iv)
(©) @), (i), (i), (iv)
(D) (i), (3), (iv), (i)
(E) Answer not known
R0 L8 Csws s Qurs ymGsissiL@easn@ LAaeu@pld Lgsamar Fflwmer euflenFulled
RUPBIFE DS SB@LD:
(i) Esarenaufled GBS 3 CeualGouny rplevmIsaled @) hBE 2% Q)L Bisemar 66U eug)
(i) BIIG IFWESN® WESaTme g FLL Lang Csiswsailed GFeeLigwm@gLd
UTEGHaND GMDBSH 6% UTdh@GHearL GlLp Geuessr(pLd
(iii) LGS eTeneuuled 6THg LoMBlVLL/LOTBleVEIGaTNeL @) (hE%I 4 @)L mFemar Gleucdalg)
(1v) @aiGleun @y o pILINeT(BLD UTSHTOTT 3L 6oL 0 M6eud B (h%E GouewT(HLD
(4) (iv), (i), (i), (iii)
(B) (i), (i), (ifi), (iv)
© (), (i), (iv), (iv)
(D) (iit), (1), (iv), (ii)
(E) allev L Oz fwaledenev
16.What is the main function of the Election Commission of India?
(A) To form political parties
(B) To conduct elections
(C) To write party manifestos
(D) To appoint ministers
(E) Answer not known
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(4) YTF WD &L FFH 6T 2 (156U TS &S 6D
(B) Gzisme BL53
C) 5§ Gzpiged ymlasans e1(lps
(D) S|e®LOFF[FFHem G [B1ILS)SH60
(E) aflen_ G Nwalevenev
17.Which of the following statements about electoral symbols is incorrect?
(A) They are standardized symbols allocated to political parties
(B) They help voters easily identify and remember parties
(C) The Election Commission now allots animals as symbols to all parties
(D) Nationally recognized parties have standard symbols throughout India
(E) Answer not known
Caiged Fetresiger LIHHIW LIGETeUHLD FnDDISETNC) 615 H6uD TesTd)?
(4) 9emer TFWeD L FE@5SGH RHSSLILIL L STLILIGSSLILIL L G GSTe8BI% T
(B) s Gsemaer 6TaflPe0 6w wierd FSTeiaid Bleneialled CETaTaT LD UTSESTOTISEHS S 2Oa
2 $o 56T D68
(C) Gaise gyenenrid @QLiIGLIMTG SneTsH &L 5% @h%GHLD ail6VE &% aT FRTRTLONE G515 SHF DS
(D) Csw yaralled YEBEAGHLILIL L &1 NF@5%G @QBHWT LPLLAISILD BleHGUIITET F)GTesBI% T
2 _6ITeITe3T
(E) oflewni_ GgNuwelevenev
18.What is a Coalition Government?
(A) Government formed by a single majority party
(B) Government formed by multiple parties together
(C) Government formed by the opposition party
(D) Government formed by independent candidates
(E) Answer not known
oL L_GOST] Y TS GTGEID TGO GTGHIGHT?
(4) @oemL] O LIEBLOLITGTEn Lo SLFWT6D 2 (HeuTSSLILIBILD Y TFTBISLD
(B) Liev &L &% 6T RGTHen TGl 2 (H6ToHHLILIBILD 9 TFTBISHLD
(C) THISSL_FIT He»LOSHLILIL L D TFTBISLD
(D) &Cwdeng Goul LITTISTT 2 (hQUTSHLILIL L O TFTBISLD
(E) aflen_ Qg waledenev
19.Assertion [A]: An effective opposition is essential for the successful operation of
democracy.
Reason [R]: The opposition party critically examines the policies and bills
introduced by the government.
(A) Both [A] and [R] are true and [R] explains [A]
(B) Both [A] and [R] are true but [R] does not explain [A]
(C) [A] is true and [R] is false
(D) [A] is false and [R] is true
(E) Answer not known
&mpn  [A]: wEserT@uiesr OQeupBlagomesr QFwedLITL 4P@ QR LWIETr THIssLF
Qe@rlwenowIngs).
sagewitd  [R]:  aIBISSLE  ouFnmISSSTe0 P SLULGSSLILL L Q&TaTenESeT  LopmILD
wCFrgrssemar aliFer FHWTeS i OFUIF D).
(4) [A] wopmiid [R] @)ogessi®Ld &) opmitd [R] [A] g allens @& mg)
(B) [4] opmuid [R] @) uessiGILd &1 gy,e11ed [R] [A] g0 aflerdsallebenev
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(D) [A] $eupi oppiLd [R] &4
(E) aflen_ G Nwelevenev

20.Which of the following is NOT a difference between National and Regional parties?
(A) National parties participate in elections all over India, while Regional parties
participate within one state
(B) National parties need to be strong in at least four states, while Regional parties
need to be strong in at least one or two states
(C) National parties have exclusive symbols throughout the country, while
Regional parties have reserved symbols only in their state
(D) National parties resolve only national issues, while Regional parties promote
only regional interests
(E) Answer not known
Lereupeuateuppled e1g CsPw wpmitd LNrTpHw U 0se55@ Q)eni_ullevrer Ceumiim® oevev?
1) CaRws s S et QBHWT (Lprpaugid Caisasaley LBGspFarner, LNTTEH WS FL FF6T 6(h
Lo THlVSH D & 6T Lisi GHhp Fesrm st
(B) C3Fws s Fsa6T &ewDESS IS LOABVEIGaTN® eueyalns @)bheis Couaahd, 4G5 CrrsGe
LInESWS S G5 6T GODHSH REETNI Vs Q)TeT(h LomblevEisailed eueialns @)Hos Golest(hd
(C) CsPws s As@ps@ BIH (PP Fafld Pareimiser 2 erearer Gz CrrsHed LrmpoHws
SL G&6T HBI%6T LTSS oL RCL @&ISHLILIL L FeiTetBISenans 6% mest(h eirerest
(D) Cs8ws s Fser CaFwLl gsFevesenar oL HG SisFeipet, LNTnES WS s Fsa6r LATmpS w
BaTSear oL (i GLo 2615 @ ail% &) evm eor
(E) afledL_ Qg waledenev
21.Arrange the following levels of political parties in India from broadest to
narrowest:
(i) Regional parties
(ii) National parties
(iii) Registered but unrecognised parties
(A) (i), (@), (iii)
(B) (), (i), (iii)
(©) (i), (i), (0
(D) (i), (iii), (i)
(E) Answer not known
@ pPwraled o erar HIF W s FHefer LaTeuBLd Flenevseamar LITpSF O BES GDIFSOTCTS UeHT
uflenFLILIHSSIS:
(i) QrrpPws &L Fser
(ii) CsPws 1" Fsaeir
(i) UBey QFUiwiL L syerTed YBGSNSHLILIL TS HL F%eT
(4) (it), (¥), (iii)
(B) (i), (it), (iii)
(© (iii), (it), (i)
(D) (it), (iii), (i)
(E) afleo_ Qg lwaledenev
22.What is the primary function of the Election Commission of India?
(A) To form political parties
(B) To administer elections
(C) To write party manifestos
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(D) To appoint ministers
(E) Answer not known
QP W CHI56D 2,60 6HTIISH)GOT (L FGHTGHLOLITGHT LIGHT 6T63I6wT?
(4) TR W) L FFeaT 2 (56U TS SHSB
(B) Czigc0aemar Bliau% LiLig)
(C) 5" Caise0 PlEens 61(LpS
(D) S|e®LOFF[FFHem G [B1iLb)SH60
(E) aflen_ GgNwelevenev
23.Which of the following statements about electoral symbols is correct?
(A) They are allocated only to national parties
(B) The Election Commission now allots animals as symbols to all parties
(C) They help voters easily identify and remember parties
(D) Regional parties have the same symbol in all states
(E) Answer not known
Gaise Ferermisar LHOIW L9656 HLD FnPniFailed 615 FHlwmesis?
A1) Symar CERWS L FF @55 L HCLD @F5I55LILIBF G TDesT
(B) Gzised yewentwitd @)LIGLITE eoesidsl &L Fa@hsELw allevs &% eamar FIGTGTLD TS 5% &5 DIl
(C) L Qaevar 61ofFns oL WiaTd Sreiajld Bleveraled GOl&TaTaTaLd GUTGEETATISEHSE 2cO6
2 Fo ST 6T
(D) LoaBlevs S 0% @55 G deneidsl Lomplevnisafleyd Gy Festestd 2 6ur(h)
(E) aflew_ Qg waledenev
24.Assertion [A]: Coalition governments are common in multi-party systems.
Reason [R]: In a multi-party system, a single party often fails to secure a majority
required to form the government.
(A) Both [A] and [R] are true and [R] explains [A]
(B) Both [A] and [R] are true but [R] does not explain [A]
(C) [A] is true and [R] is false
(D) [A] is false and [R] is true
(E) Answer not known
FDmI [A]: I L L 655l S IFTBISBISET LIGY L F 96w LoL1LF a0 O)LINg el TesTenal.
sagestLd [R]: Uew S &H wpenpulled, @b FLF YIFiEsseds YLiLFDGS CFemeaiwmes
Qu@bunaIen e w L OLpg $aiBalH B ng.
(4) [A] wpmiid [R] @ oessILd &) opmitd [R] [A] @ allens @S mgi
(B) [A] wopmuLd [R] @) oessiGILd &1 gy,e11ed [R] [A] g0 aflerdsallebenev
(C) [A] &5 Db [R] Se1i
(D) [4] @i oppith [R] #1
(E) alev L Glgfwaledenev
25.Which of the following is NOT a difference between natural and man-made
inequalities?
(A) Natural inequalities cannot be rectified, while man-made inequalities can be
(B) Natural inequalities are based on physical characteristics, while man-made
are social constructs
(C) Natural inequalities are universal, while man-made inequalities vary by
society
(D) Natural inequalities are always fair, while man-made inequalities are always
unfair
(E) Answer not known
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LereupauaTeuppled 61g% Qupens WHMILD LONSETT) 2 (FUTSSLILUL L TDDSSTLH S @b G
@ ev_uflevres Goumiir® <jedev?

(4) Qupens aPpIsThaismer FA6FuIw pywng, 4G5 CrrgHe wellgearred o (HeurdsLiun L
TDDSSTL @& 6T

(B) Qupens IPDISTLHFOT 2L 60 LIGHTLIFmT iyl wissd Gsres_emey, G5 Grig®ew
LoeGRTTD 2 (HeUTSHLILIL L FeLpds HL L WLOLIL|FHGT

O Qupes aPpasTipaser 2 wseammtalweel, 4Cs GCrrsHe weflgaTred o (Heurssiii’ L
TDDSSTLP@Y%H6T FelpsSsmed GaumiLi (& eTm et

D) Qupems eappssTpayser erLiGurgd pumuwiesiee, (G5 Crpus@ed wellFerTeD
2 (BUTSSLILIL L TPDSSTLH6YS6T 6TLIGLITSILD B MDD DEw6u

(E) aflew_ Qg lwaledenev
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SCERT FOUNDATION — COURSE — DAY — 5 QUESTION PAPER
Date: 07/10/2024 No of Questions: 25

1. Who is the Head of the Indian Union?
(A) Prime Minister
(B) President
(C) Chief Justice
(D) Speaker of Lok Sabha
(E) Answer not known
Q) BDW G&EIHIWS PG Fewever s wiTh?
(4) GogLog
(B) G WIFHS ST
(C) amavenio bF LIS
(D) D& 6Te® 61 FLITHTWISE T
(E) aflev_ Qg Mwaledenev

2. Which of the following statements about India's governmental structure are
correct?
(i) India follows a federal system
(ii) The judiciary is dependent on the executive
(iii) The Governor is elected by the people
(iv) The Chief Minister is the leader of the majority party
(A) (i) and (iv) only
(B) (), (i), and (iii)
(C) (i), (iii), and (iv)
(D) (i) and (ii) only
(E) Answer not known
Q@ P wrele o gFTEIs ewLiL) LpPlw 6ETe(BL Fpnisafed 615 FiflwmeTs)?
(i) @BHWT (5 Tl LT & pewmemwiL] LD IS DS
(ii) BESSIOD BIITSSSIHD® WE FTIBS) GTTS
(iii) <3, @55 L&sa1Ted G55 0)sBESLILIG ST
(iv) pSeven LodF] OLITHLOLITGTEDL &L FuletT SemeveuTmss (Q)(HLILITT
(4) (i) pmILd (iv) oL BILD
(B) (i), (ii) LopmiLb (iii)
(C) (ii), (iii) LoHMILD (iv)
(D) (i) LoD miLb (ii) LoL-BILD
(E) aflev_ Qg ilwaledenev

3. Match the following:
List I | ListII
(a) Central Government | 1. MLAs
(b) State Government | 2. MPs
(c) Governor | 3. Appointed by President
(d) Chief Minister | 4. Leader of majority party
(A) (2)-(2), (b)-(1), (0)-(3), (d)-(4)
(B) (8)-(1), (b)-(2), (c)-(4), (d)-(3)
(C) (8)-(3), (b)-(4), (c)-(1), (d)-(2)
(D) (a)-(4), (b)-(3), (0)-(2), (d)-(1)
(E) Answer not known
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4.

S.

6.

7.

LereupeuetaipenmLi OLmhsSs:

L guied 1| uliguied 11

(a) LB 9T | 1. 6TLD. GTGV. 6T. HFH AT

(b) LomBlev i | 2. 6TLD. L9 SH6iT

(c) @b50 | 3. @eTTH LB W Ted FlwLdEsLiILG S0

(d) (LpSVeLDEF] | 4. QLipLOLITGTeR LD &L PUl6TT Semeveu

(A) (@)-(2), (b)-(1). (c)-(3). (d)-(4)

(B) (@)~(1), (b)-(2). (c)-(4), (d)-(3)

(© (@)-(3), (b)-(4), (&)-(1), (d)-(2)

(D) (@)-(4), (b)-(3), (c)-(2), (d)-(1)

(E) aflen_ G Nwalevenev

Which of the following is NOT a feature of the Indian governmental structure?
(A) Federal system

(B) Electoral process

(C) Ministerial responsibility

(D) Monarchy

(E) Answer not known

LAereupeuaTauppled 61g @)bHW IFTEIS SL L 60 LoLILN6HT Sy LDFLD 9JeOev?
(4) gL L1 & (pewmp

(B) Caise GFwaedLpenm

(C) dyemiodaLs QummyLiy

(D) (g &

(E) aflew_ Qg Mwaledenev

How many states and union territories are there in India?
(A) 28 states and 7 union territories

(B) 29 states and 7 union territories

(C) 28 states and 8 union territories

(D) 29 states and 8 union territories

(E) Answer not known

Q@ BFWTal6) 615566 Lo TBleVEIS6T LPMILD Wesw et LNTCHFBI%H 6T 2_aTerest?
(4) 28 wrplevmsar LHmILD 7 weshwest L97C%Fmig% e

(B) 29 wrglevsiser opmiLd 7 weshlwiest L9rGsamiser

(C) 28 wrplevmisaT Pmih 8 weslwer LTG5 Fmis%er

(D) 29 wrBlevsisar opmiLd 8 wyeslwiest L97Gs s er

(E) afleo_ Qgilwaledemev

What is the term of office for a Governor in India?

(A) 4 years

(B) 5 years

(C) 6 years

(D) At the pleasure of the President

(E) Answer not known

Q) BFwWTaied 9,65 BH6HT LIGaISEETELD 6TGHGHT?

(4) 4 Y eT(h % aT

(B) 5 a1 (h % aT

(C) 6 2 ewT(BSaT

(D) G Wi%ks seeveu e afl(pLiLILiLig

(E) aflev_ Qg ilwaledenev

Which of the following statements about the state judiciary is correct?
(A) District Courts are the highest judicial organ at the state level
(B) High Courts have jurisdiction over multiple states

(C) The Chief Justice of India appoints High Court judges
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(D) High Courts are the highest judicial organ at the state level
(E) Answer not known
wrplev FHSGIemm LPPlw L6TeU(HLD FnDmISaNed 6Tg FAlTesg)?
(4) e’ L FHOGEIDEISET TFeV yaTailed 2 6Tar L% 2 WS FSBSHIHD eHLDLILITELD
(B) 2 wij BELOGIDBISET LIGV LoTBleVEIGENGT 9 FSTT aUILOe LIS 0% TesT(H GTeTesT
(C) @QBHWS sevevenio FHLIS o wikGLoeTn BF LB Se6T BIWLSSE D TF
(D) 2 Wi B oG BIS6T LDMBl6Y YeTalled 2 aTer L& 2 Wiks HHSSHI®MD ewLoLILITGLD
(E) allew L Qg waledenev
8. Assertion [A]: The Council of Ministers in a state is collectively responsible to the
state legislature.
Reason [R]: The Chief Minister is the leader of the majority party in the state.
(A) Both [A] and [R] are true and [R] is the correct explanation of [A]
(B) Both [A] and [R] are true but [R] is not the correct explanation of [A]
(C) [A] is true but [R] is false
(D) [A] is false but [R] is true
(E) Answer not known
DD (A): @B LOTEVSHED 2 6TaT  YOLOFFI® LOTBY FL L LOGIDSH D@ ol L MELI
QuimmLiyen L WwHIGLD.
sagenith [R]: oaBlevsHed OLi@BLOLITETenLs ClLPD &L AUl $e0alInd (LPSEHLOEF]T 2 GTGTTL.
(4) [A] wppiid [R] @) oessGILd &) opmiLd [R] eTGSTLISGI [A] S5 Mt FHlwiTest aflaTsas L mELd
(B) [A] woppiid [R] @)oesstHILD F1i yeu1T6ed [R] 6T168TLIS) [A] S mest FAWTET @IensHaLD 9eDev
(©) [4] &0 gpew1med [R] S6umi
(D) [4] Baumi pemed [R] F1)
(E) ofleni_ GgNuweleene
9. Which of the following is NOT a part of the State Executive?
(i) Governor
(ii) Chief Minister
(iii) Council of Ministers
(iv) Speaker of the Legislative Assembly
(4) (i) only
(B) (ii) only
(C) (iii) only
(D) (iv) only
(E) Answer not known
L eTeu heuaTalpmled 618 LOTBIeV BlHaUTHSF6T (1 LIGHWTSH @)e0emev?
(i) 2b @550
(i) (LPSVELOFF
(iii) |GOLOFFTEH GV
(iv) L L_erpLl Cupemeis Seneeld
(A) (i) oL (BILD
(B) (ii) oL ()LD
(C) (iii) 1oL" (LD
(D) (iv) oL BILd
(E) aflev L Oz waledenev
10.Arrange the following in the correct hierarchical order from top to bottom:
(i) Chief Minister
(ii) Governor
(iii) Council of Ministers
(iv) Members of Legislative Assembly

(A) (i), (@), (iii), (iv)
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(B) (i), (ii), (iii), (iv)
(©) (), (), (iv), (iid)
(D) (@), (i), (i), (iv)
(E) Answer not known
Lereupeuataupem CedlpBa $Lpmrs Filwret Lig Bleame euflenFuiled auflenFLiL(HsSa Lb:
(i) (LpSVeD LDFFT
(ii) @557
(iii) 9O LDFFTED 6
(iv) FLL 168D 2 mIL1L9GoT IS 6T
(A4) (i), (i), (ifi), (iv)
(B) (), (i), (iii), (iv)
(© (ii), (), (iv), (iii)
(D) (i), (iiv), (ii), (iv)
(E) aflev_ Qg waledenev
11.Which of the following is NOT considered one of the four pillars of democracy?
(A) Legislature
(B) Executive
(C) Judiciary
(D) Media
(E) Military
L9 6tT6u (heueTeUDM6D 618 SGTHTILISSDHIGHT [ TCH & KIS Q6D TS HHSLILIL aileDen6v?
(4) FL L LoGTDLD
(B) Qewer Sgsieom
(O 3EET
(D)2ar1_&1hH
(E) @uongmieLd
12.What is the primary role of media in a democracy?
(i) Entertainment provider
(ii) Watchdog of democratic government
(iii) Advertiser of products
(iv) Bridge between state and public
(A) (i) and (iii) only
(B) (ii) and (iv) only
(©) (1), (i), and (iii)
(D) (i), (iii), and (iv)
(E) Answer not known
Lo ESHGTTL FuleD 2611515 GET (LpSGITEH LD ILITGST LITIF 616G
(i) QurpgCLITs @ euLpmIE BT
(ii) SQGT[BTUIS O TFTBI%H S FGIT &T6U GBI
(iti) swmLLsefeT aeTLd LIgsmyg
(iv) LOTBVSHDGLd CLITGL0ESEBSGLD @)ew L _uflevmeT LiTevL)
(4) (i) pmiLd (iii) oL BLD
(B) (ii) LopmILDd (iv) oL BHILD
(©) (i), (i) LopmiLb (iii)
(D) (i), (iii), LopDILD (iv)
(E) aflev_ Qg lwaledenev
13.Match the following types of media with their examples:
List I | List II
(a) Narrowcast Media | 1. Newspapers
(b) Broadcast Media | 2. Twitter
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(c) Print Media | 3. Cable Television
(d) Social Media | 4. Radio
(A) (2)-(3), (b)-(4), (0)-(1), (d)-(2)
(B) (2)-(4), (b)-(3), (c)-(2), (d)-(1)
(€) (2)-(1), (b)-(2), (c)-(3), (d)-(4)
(D) (a)-(2), (b)-(1), (c)-(4), (d)-(3)
(E) Answer not known
LISTouHLD 2611 _FEISGNGT UeHFSHEET 2 UDPIGT 6T(HSHISHTL (HS @ LT O\ LIT(HSSHIS:
ulquied 1| il guied I1
(@) GOIBw 2a11_&15 | 1. OFUIBDSS TaTH 6T
(b) @&SluigLisy sert &1 | 2. il L §
(c) &5 sa11_g1b | 3. Cx196T OFTewSHTL G
(d) FeLps 2011L_FmIGET | 4. auTGleTTed)
(A) (@)-(3). (b)-(4), (c)-(1), (d)-(2)
(B) (@)-(4). (b)-(3), (c)-(2), (d)-(1)
(© (@)-(1), (b)-(2), (c)-(3), (d)-(4)
(D) (@)-(2), (b)-(1), (¢)-(4), (d)-(3)
(E) aflev L Qg lwaledenev
14.When was the printing press invented and by whom?
(A) 1453 by Johannes Gutenberg
(B) 1536 by William Caxton
(C) 1605 by Johann Carolus
(D) 1440 by Bi Sheng
(E) Answer not known
9EF: Quip@ b eTLiGLing), wrgred setR g sHLILL 1L 5)?
(4) 1453 Geymaperead @L L eT0LIfS
(B) 1536 afle0eSlwiLh &% 1% 6L 68T
(C) 1605 Georamer sGgmeved
(D) 1440 a>L1 Qaprsi
(E) ofleni_ GgNuweleene

15.Which of the following statements about All India Radio (AIR) is correct?
(i) It was launched in 1936
(i) It is officially known as Akashvani since 1956
(iii) It is the television broadcaster of the Government of India
(iv) "Akashvani" means "voice from the sky"
(A) (@), (i), and (iv) only
(B) (i), (i), and (iii) only
(C) (ii), (iii), and (iv) only
(D) All of the above

(E) Answer not known

ABev QBHW curGlerted) (AIR) Lpplw L6ETeHLd FoppISailed 615 Filwimesg)?
(i) @&1 1936 @6 QBmL_misLiLiL g

(i) @& 1956 (LpFed DFHTTLILLTILD TS Y& MTFaTewd] TGN 9O LpHSELILIBGF D
(iii) @)% QBB W YT COFTwVSHTL R qafl LigLiLImGLDd

(iv) "y S aFeunenil” 6T Ted "euTesig B e (hbG U (BLD GTed"” eTermy G)LITH6T.

(4) (i), (i), oppib (v) L Bib

(B) (i), (ii) LoWmyLd (iii) oL (HILD

(C) (ii), (iii) oBDILD (iv) L LD

(D) GLoGev 2_aTar enesTd LD
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16.What is the primary difference between local and national/global media?
(A) Local media is more influential than national media
(B) National media focuses on entertainment while local media focuses on news
(C) Local media addresses public locality concerns while national media reports
on broader issues
(D) National media is always more accurate than local media
(E) Answer not known
2 areasd Loppid CEFw / 2 evsartallw 2015 EIS@5% @ Q)eL_ullevneT (Lpsetento Goumiim(h eTeTest?
(4) Caw sert_gmIGemaT QL 2 6Teah I 26L& BI%6T C1Fe6UTH G LOSHm U
(B) Gxflw 2a1_smisar QLmipg CLTEE seuatLd C\FeISHI B GID6, 2 aTean ] car_smigaT O)FuiF g% e e
SuaTLd OFeIF S % GHID et
(C) 2 aiTeani 201L_SHmIG6T GlLITG 2 6iTears Hauemevsamar Blauisd GlFuiaiper, 0% Crrsse CsPw
2011_FEISGT LITKS LT enesisar @nles CleuiGsamar Glaiaful) (& ermest
(D) Ca@w 2a1i_smigaer 61LiGLITGILD 2 6iTears 26T % EIHET @)L &IOS WILD TGT6H 6
(E) ofleni_ QgNuwelevene
17.Which of the following is NOT a responsibility of media in maintaining ethics?
(A) Following a code of ethics
(B) Serving people with news, views, and information
(C) Aiming for fair, accurate, and unbiased reporting
(D) Promoting government policies without criticism
(E) Answer not known
BTG el LFTALILFe 2ar sgF e O LimmyLiL) tNesteuBLcupBled 618 (F)evemev?
(4) @p555 CHreneuewL] LIeTLIDnISe0
(B) QFWIB 6T, LITHencUSET LODMILD SH@IGVSEFL_G LDSS @5 G CFeney O)Fuige
(C) BlwmuiLomest, &ieOEWILOTGT LoD MILD LISSFFTTLDD WIS FulL_emev CBresionss OsmeL g
(D) o jFestLllein) o gaTBIss CSTaTenSSEm 6T 2016 & oS %60
(E) ofleni_ GgNuweleene
18.Assertion [A]: Media is considered the fourth pillar of democracy.
Reason [R]: Media ensures transparency in the legislative, executive, and judicial
systems.
(A) Both [A] and [R] are true and [R] is the correct explanation of [A]
(B) Both [A] and [R] are true but [R] is not the correct explanation of [A]
(C) [A] is true but [R] is false
(D) [A] is false but [R] is true
(E) Answer not known
FnDW] [A]: 26TL_&BISHGIT QG HTUISSBIGHT [BTGHHToUS| HTGSTTSHS % (5 L1LI(B) &) 68D 6ol
FagewIld  [R]: e &miseT FLL LOGID,  Bliouns  wpmid  HHSGIOD  YeLOLILFH6NeD
QeuallLiLienL_ggerenoenw 2 nP ClFuiFesn e
(4) [A] wpmuid [R] @) oessiGILd &) opmitd [R] eTesTLISG) [A] S5 T FHwTes afleTH% LML)
(B) [A] woppiLd [R] @ oessi®Ld Fifl Q116 [R] e16vTLIGI [A] Samewt FRwimeT aflaTdsLd 2ed6v
(C) [A] &1 gy,em6d [R] Saumy
(D) [A] @11 Hpemed [R] 1)
(E) aflev L Oz waledenev
19.Which of the following is an example of personal communication?
(i) Newspapers
(ii)) Email
(iii) Radio
(iv) Telephone
(A) (i) and (iii) only
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(©) (), (ii), and (i)

(D) (i), (iii), and (iv)
(E) Answer not known
Lo LeupPled 618 SeLiLL L $Seue0QSTL_FLIEE 6T 2 GTIcuTLd?
(i) ClFWIB S S mairs 6T

(ii) LOlGBTGOT (6 F 6D

(iii) aumGlesTTad)

(iv) CsremaCL®

(4) (i) pmLd (iii) L @D
(B) (ii) LopmILD (iv) oL (HILD
(© (i), (ii) LopmILD (iii)

(D) (ii), (iii), LopmILD (iv)

(E) aflev_ Qg waledenev

20.What is the primary function of media in shaping public opinion?

(A) Providing entertainment

(B) Advertising products

(C) Shaping understanding and perception of events
(D) Criticizing government policies

(E) Answer not known

LDSSGT H(5S NS QLY CUGHLDLILIGGD 21L& 5156 6T (LpSETe® LOWITGT O\ FwIeOLIT(h 6T68TGs?
(4) QOurpgyCLITS @ ouLpmI&HSeD

(B) afemdLigLi Quingp L saT

(C) Blspaysefle Lflged opnid 2 eRTiene 6Ly 6UeH LDSH6

(D) @1781®155 60\&TaTenFHHe T O DI S %60

(E) ofleni_ GgNuieleene

21.Which of the following statements about the state government in India are

correct?

(i) The Chief Minister is directly elected by the people

(ii) The Governor is the constitutional head of the state

(iii) All states have bicameral legislatures

(iv) The Council of Ministers is collectively responsible to the state legislature
(A) (i) and (iii) only

(B) (ii) and (iv) only

(C) (i), (ii), and (iii)

(D) (i), (iii), and (iv)

(E) Answer not known

@QBFwraled omplev Y gewaLl LPBIw LNeTeuBLD FoppiFafled 618 FHlwmeTs?
(i) (LS LDFF] LosSFarTed Crry wnsg Csipbls®ssLILBGF DT

(ii) 4, @BBT LOTBIVS PG TP LOLIL|S SEHeU T ,6U T

(iii) OIS S| LOTBIVEIFGNGYLD FTeDU FL L LDGITD BI%GT 2 GTeTesT

(iv) HYOLOFFTEO6U LOMEIQV FL L LOGIDSBD @ Il L% QUITDILILIeH L WSTGLD
(A) (i) pmILd (iii) " BHLd

(B) (ii) LopmILDd (iv) oL BHILD

(©) (i), (i) LopmiILb (iii)

(D) (i), (iii), LopDILD (iv)

(E) aflev_ Qg ilwaledenev

22.Which of the following is NOT a responsibility of the state government?

(A) Law and order
(B) Public health
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(C) Foreign affairs
(D) Agriculture
(E) Answer not known
Hareumeuateuppled 618 Lomplev e QummiLiy ee?
(A) L 1b qupmis
(B) Qungy ssmgmud
(C) Qeaualpr® afeusrrmisar
(D) Geuerressrenio
(E) afen Qsiuaiaenev
23.Assertion [A]: The media is often called the fourth pillar of democracy.
Reason [R]: Media ensures transparency in the legislative, executive, and judicial
systems.
(A) Both [A] and [R] are true and [R] is the correct explanation of [A]
(B) Both [A] and [R] are true but [R] is not the correct explanation of [A]
(C) [A] is true but [R] is false
(D) [A] is false but [R] is true
(E) Answer not known
TP [A]: 2011 EI%H 6T OVLIIHLOLITGYILD SQGT[BTIISHS BGIT [5TGHEH TS KT 6TGTN)] 360 P LILI(H)F TG,
SMUewILd  [R]: e &mIGeT FLLLOGIM,  Blouns oD BHSHD  HeLOLILSETGD
GeualLiLienL_ggerenoenw 2 nP ClFuwiFein e
(4) [A] wpmpid [R] @) uessiGILd &) opmiLd [R] 6TGTLIGI [A] S5 Tew FHWTET aflaTSELDTEGLD
(B) [A] wppuid [R] @ oessi®Ld Ffl Qy,e1m6 [R] eT168TLIZGI [A] Samewt FRwmeT aflarTdsLd 2 ed6v
(C) [A] 58] gy,esed [R] Seumy
(D) [A] 6umi e1Ted [R] &1
(E) ofleni_ GgsNuieleene

24.Which of the following best describes the role of local media compared to national
media?
(A) Local media focuses on international issues
(B) Local media addresses public locality concerns
(C) Local media has more influence on national policies
(D) Local media is always more accurate than national media
(E) Answer not known
Cosfw a1 _sEIsEL T @ULIGSUND o 6iTeani a1 smisefar LBens LereuhaiaTeupBled 615
FpLiuns feuNESng?
(4) o_citeamn i 2e1L_gm1g%6iT Ficu G LITFRenansalcd SeuasLb O)FeyIS S5 Fesn 65
(B) 2_aitean i 2a11_& w1 6iT O)LIMG OSSN 6T LNTFFeweigsenar Blauis® OFui% e e
(€) CaHw Camarenssailchd 2 aears i a1l 5mIHa6T 9 F% ClFeV6 TG O\FeI S5 G 6 e
(D) 2_aiearp i 2art_smigeir 611G LMD CHF I 2ort 5 EIFewaT @il 16D LD TesTEm 61
(E) allev L Qs fwaledenev
25.Which of the following statements about media ethics and state government
transparency are correct?
(i) Media should always support state government policies
(ii) State governments are required to provide information under the Right to
Information Act
(iii) Ethical media reporting involves fair and unbiased coverage of state affairs
(iv) The Governor has the power to censor media reports about the state
(A) (i) and (iv) only
(B) (ii) and (iii) only
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(C) (i), (i), and (iii)

(D) (i), (iii), and (iv)

(E) Answer not known

oot & QpBlLpewpsar wpmitd rblew orfar GeelluemL gsarenw upBlu  LeETeumLd
2 PE®SHFHaM0 615 FHlW TeoSH?

(i) 2a11_ssmig 6T TLIGLINGILD LOTBl6V TR O TaTenSE @M% G STelalss GouesT(hLd

(i) $&HeUed YWluLd o flenind FL 1L FHT HLH LOTBIGV Y THEET H56UDHE T LpEI%H GeuewT(BILD

(iii) QBOILpeD FTIHS 201 & YWSHBUNL_O GTRTLIGI SIF ANUSTIBIGEGT BIITWLOTGT LOHMILD
LGsEFTILPD (Lpenpuled CeualulBeaiensg 2 arTaT &G wg)

(iv) LIBlVSSLI LIDPIL 261 B GNHH 6T HewsilGens ClFUILLD B STILD @B IHS G 2 aTeN)
(4) (i) pmILd (iv) oL B

(B) (ii) LopmILD (iii) oL (HILD

(©) (i), (ii) LopmILb (iii)

(D) (ii), (iii), Lo DILD (iv)

(E) oflewni_ GgNuwelevenev
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SCERT FOUNDATION — COURSE — DAY — 6 QUESTION PAPER
Date: 08/10/2024 No of Questions: 25

1. Which of the following statements about feminism and women's empowerment is incorrect?
(i) Feminism aims to make women stronger physically.
(ii) Women's empowerment is essential for achieving sustainable development.
(iii) Improving women's status is crucial for societal progress.
(iv) Gender equality is necessary for a country's sustainable development.
(A) (i) only
(B) (ii) and (iii) only
(C) (iii) and (iv) only
(D) (iv) only
(E) Answer not known
Guetrstoflwid wnmid Custrssr ySlsmraflssa Lndiu eareirmn s nnisefle 678 SemTears)?
(i) Quevsremflud GueTTSHEmET 2 L 60 FHILIMS aUDLILTSGolens CrT&HSWTSS Gl Ter(HeTeTg).
(i) Hlemeviwimsar aueTFESemIL YEMLUSNES CLETITSEHSE SSMMuaflssn aein.
(i) geps (PeTGCaTINSSHMNES Gustoraaflsr Hlameemw CDLBSSINIS (PSEILLTETS).
(iv) @ mLigear HlemeviLimen cueTi&ESS@ Lmedlenr Slosgiain e,
(a) (i) LG
(B) (i) ommnd (i) L (HILD
(C) (iii) wOmD (iv) LLELD
(D) (iv) L (hid
(E) aflemL Qafliwafsvsmey
2. Match the following pioneering women with their achievements:
List | (Woman) | List Il (Achievement)
(a) Sirimavo Bandaranaike | 1. First woman to scale Mt. Everest
(b) Valentina Tereshkova | 2. First woman Prime Minister
(c) Junko Tabei | 3. First woman in space
(d) Charlotte Cooper | 4. First woman to win an Olympic gold medal
(A) (a)-(2), (b)-(3), (c)-(1), (d)-(4)
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(C) (a)-(2), (b)-(1), (c)-(3), (d)-(4)
(D) (a)-(4), (b)-(3), (c)~(2), (d)-(1)

(E) Answer not known

Wearaumld (pearGeormy GLstoTSemeT Sj6uTsafleT STSHemen s EhHL6r GILT(HSSIs:
ulipwied 1 (Quedor) | L lpwied I (FT&6menT)

(a) SflomrGeur vesTLmyHEMUSS | 1. eTeuGrsul. fsrsdl eyl (e Glussor
(b) sumevetoTigsarm GIL_GIresGasmeur | 2. pgev Glussor SsLorf

(c) BetTGam GU | 3. eflswrQevefls@E Qasim (paed Guet

(d) emiGeom &l | 4. eelbilsss smisn Gt pssd Glussr

(4) (2)-(2), (b)-(3), ()-(1), (d)-(4)

(B) (a)-(3), (b)-(2), (c)-(4). (d)-(1)

(©) ()-(2), (b)-(1), (c)-(3), (d)-(4)

(D) (a)-(4), (b)-(3), (¢)-(2), (d)-(1)

(E) aflemL Qafliwafsvemey

Which of the following are correct regarding the pioneers of women's education in India?
(1) Jyotirao Phule opened the first school for girls.in India.

(2) Savitribai Phule was the first female teacher at the first girls' school.

(3) SNDT University in Pune was started by Maharshi Karve.

(4) The first girls' school in India was opened in 1848.

(A) (1), (2), and (3)

(B) (1), (3), and (4)

(C) (2), (3), and (4)

(D) (1), (2), and (4)

(E) Answer not known

@dwurailey Gussar sevailullsr psrGermesemar LNM NeTaimesTaINMIEL 6T Sflwmenrg)?
(1) Gegrdlymeu LGew @bSlumaisy GustorsEmSsTaT (S LsTaflens Smmbs.
(2) oo Gustorser LsTaflullsor e Gustor AP sTallGTumi L,Ge.

(3) yGemelles o 6Ter  6ToV.ETENT.Ip.lg  LUSMVSSYSD  WSFel  STTGar  eTaITLITTED
QMRS L g|.
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(4) @rSwreilsr g Guesrser ustafl 1848 @l QML RiSILLL &)
(4) (1), (2) wigrd (3)

(8) (1), (3), wibmid (4)

(©) (2), (3) wpmid (4)

(D) (1), (2) wigid (4)

(E) aflemL Qzfliuaisvsmev

Which of the following are significant factors responsible for poor female literacy rates?
(i) Gender-based inequality

(ii) Social discrimination and economic exploitation

(iii) High enrollment of girls in schools

(iv) Low retention rate and high dropout rate

(A) (i), (ii), and (iii)

(B) (ii), (iii), and (iv)

(C) (i), (ii), and (iv)

(D) (i) and (iv) only

(E) Answer not known

Uletreu(meusameummisT Glussarsseflear sevallumley el Gemmeurs @\mULSHSTT GO &5558
SITIJ6001&61T 6T6m6L?

(i) uredleor 9yeliLienLUlleumesT FLoGGIeLleoTenLo

(i) Feypall UTGUTEH LMMID CQUTHETTSMTE SiT6voTL 60

(iii) usmeflgafley GQuster GUhemssaflar 9 Hes Cafsms

(iv) GONHS s&HsmSs0H alldEgn LN Y&Hs @emflibmao el

(4) (). (i) whmud (i)

() (), (ii) whpid (iv)

(©) (i), (i), wbgid (iv)

(D) (i) Lobyd (iv) L GO

(E) aflemL Qafliwafsvsmey

Arrange the following literacy rates for females in India in chronological order:

(i) 39.29%

IYACHAMY ACADEMY — CHENNAI — SANKARANKOIL -TENKASI — 9952521550 / 9840281550 u




(ii) 8.86%

(iii) 65.46%

(iv) 29.76%

(A) (ii), (iv), (i), and (iii)
(B) (iv), (i), (iii), and (ii)
(C) (i), (i), (iv), and (ii)
(D) (iii), (i), (iv), and (ii)
(E) Answer not known

@ndurel  GusmsEnsstar  Nlareumn  soaflufley alldlsnigmars  smuaiflamaLily
auflen&IL(h&81s:

(1) 39.29%

(ii) 8.86%

(iii) 65.46%

(iv) 29.76%

(a) (i), (), (i) womD (iii)

(B) (iv), (i), (iii) ommud (ii)

(€) (), (i), (iv) woond (ii)

(D) (i), (i), (iv) ommud (ii)

E efleoL Gaiflwuaisbsmev

Which of the following statements about the impact of women's education is incorrect?
(i) Education enables women to fully participate in the development process.

(ii) Educated women are less likely to educate their own children.

(iii) Education improves a girl's ability to engage in social interactions.

(iv) Even a single year of primary education can increase a girl's future wages by 20%.
(A) (i) and (iii) only

(B) (ii) only

(C) (ii) and (iv) only

(D) (iii) and (iv) only

(E) Answer not known

Quetr sssvaflulletr ST&sn DML WleTal L s mniseafls) g Seammers)?
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(i) suemj&d) Qaweoum iged Gustarser (ppemLTs LRIGHNS Saall 2 Sadng.
(ii) L& QUETITEST SHIGET GHLHMSSMETL LigdHs maILILEG] (&6mme.
(i) sevell e GuetoTsnailetr Feys GeTLTLS6MO FHILEWL Smemer GCLoLBHSSISMS.

(iv) oymbus seaflufer e aIBLL S.L @ Gusmmmfiar adhjsre omdusms 20%
9iefés ipib.

(A) (i) omd (i) oL HLD
(B) (ii) oL (D
(C) (i) wmmud (iv) L (HID
(D) (iii) womrd (iv) wCGLD
(E) aflemL Qafliuaileveney
7. Which of the following statements about women's economic empowerment are true?
(1) It is essential for sustainable development.
(2) It leads to economic growth.
(3) Women have higher labour market participation globally.
(4) Women have equal access to financial institutions as men.
(A) 1and 2 only
(B)1,2,and 3
(C)2,3,and 4
(D)1,3,and 4
(E) Answer not known
Guesraseflssr GQummeTTaTT Jidamroeflsssn undiu Wlsreimd s phmisefle g Fflwmerg)?
(1) Blemevwmenr euaTf&ASE @& oL,
(2) @& QurmeTTeNy auTTESSE alflnIEGSHNg.
(3) 2-ovsemalled Quetorasst gHle CgmfleomsTy sheng Lnisafilmus Glsmeto(heTeareor.
(4) gy emraemeTl GuTGa GlusTaER&EGD K Hmeamsafls) s 9msH0 2 6TaTs).
(A) 1 womrd 2 oy @irevor(Hio
(B) 1, 2 wmmnn 3
(€) 2, 3 wnmid 4
(D) 1, 3 oy 4
(E) aflemL Qafliwafsvemev
8. Find the Mismatched Pair
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(A) Kiran Bedi - First woman IPS Officer

(B) Pratibha Patil - First woman President of India

(C) Sushma Swaraj - First woman to hold Union Foreign Minister's post

(D) Vijaya Lakshmi Pandit - First woman Prime Minister of India

(E) Answer not known

QuTEBHeSTE Comesmius SeLMlile|d

(A) &lrevor GLig - (psed Gluesor sollerey g lasmfl

(B) Wirdlur umiesd - @hELTallsT (LS Gt Gl LTSS Semeve}

(C) amaom seurmey - WSS Cleusfiyme| gepwss| ugailmil uflss s Gluer
(D) eflsgwiev&ihl Lssonigl” - @ESuredlsr (pFe Glussor SirsLor

(E) aflemL Qafliwaflsvsmen

Match the following Indian women with their achievements:

List | (Woman) | List Il (Achievement)

(a) Bachendri Pal | 1. First woman to win Booker Prize

(b) Mother Teresa | 2. First woman to climb Mount Everest

(c) Arundhati Roy: | 3. First Indian woman to win Nobel Peace Prize

(d) Kanchan Chaudhary Bhattacharya | 4. First woman Director General of Police (DGP)
(A) (a)-(2), (b)-(3), (c)-(1), (d)-(4)

(B) (a)-(3), (b)~(2), (c)-(4), (d)-(1)

(C) (a)-(2), (b)-(1), (c)-(3), (d)-(4)

(D) (a)-(4), (b)-(3), (c)~(2), (d)-(2)

(E) Answer not known

Wetreu(md @bl Gustorgemer gjeuFsafler STemesEhL6T GILIT(HSSIRISET:
ulipwisd 1 (Guetor) | L ipwied 11 (&T&Hement)

(a) LEGERSNf umed | 1. UsSST Ufls Qeustrm (&6 Gluietor

(b) oysorement Qgram | 2. stauGisiul. HersHe el (pse Glussar

(c) 9mHEsd mmii | 3. gemudlEsmar Crrus ufls Gupm (WS @Ihélul Glustor
(d) smepgsr sasifl LLLTEsTiT | 4. psed Clussr sralgmn @USEET (DGP)
(4) (2)-(2), (6)-(3), (¢)-(1), (d)-(4)

(B) (2)-(3), (b)-(2), (c)-(4), (d)-(1)
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(€) (2)-(2), (b)-(1), (c)-(3), (d)-(4)
(D) (a)-(4), (b)-(3), (c)-(2), (d4)-(1)
(E) aflemL Qafliwafsvsmev

Which of the following are correct regarding the factors responsible for economic empowerment
of women?

(1) Women have higher labour market participation globally.

(2) There is a persistent global gender pay gap.

(3) Women have equal access to financial institutions as men.

(4) Women are disproportionately responsible for unpaid care and domestic work.
(A) (1) and (3) only

(B) (2) and (4) only

(C) (1), (2), and (3)

(D) (2), (3), and (4)

(E) Answer not known

Guetmrseflsor GUTmeTTSHMT GLLUM l9ME STremTomsT SrTsuflser GMsg LsTamesreunmlsy
618 &flwmerg)?

(1) 2euasmalley GueirssT 9l Ggmfleomst sheng Lkisaflliamus Glger(beTereor.
(2) 2 vsemmail uredlerr oarlir @lemLGlouafl QSM_[hgl 2 6Targ).
(3) gyemrameTL GLTGa ClusmTeER&EGh Hid Himeamsafls FooTear 9)meHa0 2 6TaTs).

(4) esrlindleveurs urmofliy wHmin e G CamasEnse usmssT elldlsremonn wenmuis
QuIrMCUH ST & 6iT.

(4) (1) wpmid (3) 1w (Hid

(B) (2) wibgid (4) Lo @G

(©) (1), (2) wpgid (3)

(D) (2), (3), wimid (4)

(E) aflemL Qafliwafsvsmey

Which of the following statements about markets is incorrect?

(i) Markets are always tied to a physical location.

(ii) Markets require multiple buyers and sellers for competition.

(iii) In perfect competition, one price prevails for a good/service at a given time.

(iv) Markets can be classified based on geographic location and time.
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v==="0,

(A) (i) only

(B) (ii) and (iii) only

%

1 1

(C) (iii) and (iv) only

(D) (iv) only

(E) Answer not known

ahenggst unmiu Nleraimh s hmisefld g Sammers)?

(i) smemgssT TUGCUTEID 6 QueTds @MU SGIL 6T LeneuorSaULIL (DeTereor.
(i) grsmeseaflsy GuT iguil. L aumigGsaum@pn elhuaifsEnhn GCsame.

(i) MBlemmeays Gumiiguiled, s GO L CrrsHe e sl /| CHmausE @ alsme
ARIDIEA TN

(iv) yefuilwed gjemailLd LHMILD STEVSSHET IplILIHLUIlD FHenSSHMET UMSLILI(HSS6EVMLD.
(4) (i) w G

(B) (i) ommud (i) LG

(€) (iii) omid (iv) WLLGLD

(D) (iv) L (1D

(E) elleo Qaiflwalsusmev

Match the following types of markets with their descriptions:

List | (Market Type) | List Il (Description)

(a) Spot Market | 1. Market where goods-are traded for future delivery

(b) Future Market | 2. Market where transactions occur immediately

(c) Monopoly | 3. Market with- many sellers of differentiated products

(d) Monopolistic Competition | 4. Market dominated by a single seller

(A) (a)-(2), (b)-(1), (c)-(4), (d)-(3)

(B) (a)-(1), (b)-(2), (c)-(3), (d)-(4)

(C) (a)-(2), (b)-(1), (c)-(3), (d)-(4)

(D) (a)-(4), (b)-(3), (c)-(2), (d)-(1)

(E) Answer not known

SeaTaumLD SHMS almSSmaT Ijeunnlar allarssmigEnLsr CLThSsIs:
ullpiied 1 (5Hemg 6uems) | ULllpiisd 11 (656m&s5Ln)

(a) 2L evmip &HEMG | 1. sTSHTETL ANHCLTHESHDSTE FT&HEGS6T QUESSHD QFILILGL &hHens
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(b) srdliame shemg | 2. uflufSsmerssT o Lamgiins Fl&n Sheng

(c) 7aGursid | 3. Coumun' L swmfliysaflsr L afDLEETILTETTSERHL6T ShHns
(d) 7&Gurs Gum’lp | 4. enemm eflbusmenumsTyTe 9 H&s0D FNSSID EHNS
(4) (2)-(2), (b)-(1), (c)-(4), (4)-(3)

(B) (a)-(1), (6)-(2), (c)-(3), (d)-(4)

(C) ()-(2), (b)-(1), (c)-(3), (d)-(4)

(D) (a)-(4), (b)-(3), (c)-(2), (d)-(1)

(E) aflemL Qafliwafsvemey

Which of the following are correct regarding consumer protection in India?

(1) The Consumer Protection Act, 1986 is known as the 'Magna Carta' of consumer protection in
India.

(2) The Central Consumer Protection Authority (CCPA) was established under the Consumer
Protection Act, 1986.

(3) Consumer Protection Councils are established at national, state, and district levels.
(4) The Consumer Protection Act of 2019 allows e-filing of complaints.

(A) (1) and (3) only

(B) (2) and (4) only

(C) (1), (3), and (4)

(D) (2), (3), and (4)

(E) Answer not known

@ngwurals pisFGauny urgsmiy Gemjurs SlsralmeauaTaunle &l siflmerg)?

(1) pIsrGeuny urgisTILE s b, 1986 @indlumais misrGamry urgsmiier ‘Guogsrm sl
6T QIEMPSSLILHIEMS).

(2) wsShu EBISTGT] LTGISGTIL SyemerTin (CCPA) EHISTGT] uTgISTILE &L, 1986 @ler
S Himeuin’ L g).

(3) mBTGaM urgSMILE GUWSSHT G, wrhle oM  wraIL WL RISl
Blmieulic (heTerssr.

(4) 2019 gy Syemorgssr EHISFEUTT UTEISTULE &L UsMigsemer LAer-srés0 Gl

S|SSSDSI.

(a) (1) wHmid (3) Wi
(B) (2) wimmid (4) b
(€) (1), (3) wpmid (4)

IYACHAMY ACADEMY — CHENNAI — SANKARANKOIL -TENKASI — 9952521550 / 9840281550




DL O DIOD

(E) el Qaflwalsuemen

14. Arrange the following consumer courts in India in ascending order of their pecuniary jurisdiction
under the Consumer Protection Act of 2019:

(i) National Consumer Disputes Redressal Commission (NCDRC)
(ii) State Consumer Disputes Redressal Commission (SCDRC)

(iii) District Consumer Disputes Redressal Forum (DCDRF)

(A) (iii), (i), (i)

(B) (i), (iii), (i)

(C) (i), (iii), (if)

(D) (iii), (i), (ii)

(E) Answer not known

2019 gyib  oyetorigstr HISTCT] UTHSTILS &L SHeT S @HHmailey 2 srer LearaimL
misTGeury - EHoermmisemer  oeumler  Uemor  oyflemy  aumofer  ermieuflemsuiley  ermum(h
QlFIIBIGET:

(i) Cadlu msTEaIT GmnST Spemeterun (NCDRC)

(i) Ll BISTERITT GmMST oyemevenld (SCDRC)

(iii) Lomeu’L mIsTCeTT Gmm& weTmid (DCDRF)

(a) Gii), (i), (i)

(B) (i), (iii), (i)

(©) (), (i), (ii)

(D) (i), (i), (ii)

(E) aflemL Qafliwafsvsmen

15. Assertion [A]: The Consumer Protection Act of 2019 aims to provide timely and effective
administration and settlement of consumer disputes in the Digital Age.

Reason [R]: The new act includes e-commerce transactions in the definition of 'consumer' and
allows electronic filing of complaints.

(A) Both [A] and [R] are true and [R] explains [A]
(B) Both [A] and [R] are true but [R] does not explain [A]
(C) [A] is true and [R] is false

(D) [A]is false and [R] is true
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(E) Answer not known

saml [Al: 2019 gyib gyetorigsit HISTOMTT LTEISTILE SULID, lgefl L6 WSHSS0 BISTCeMT
SSIMNISEHSE sfliumear Crrsdle womid Lwseter Hfeurshd LHMID STmel QIPHIEGIMmS
Crréaungs Qamsor(hsTara).

smyeord [R]: ydw sl 'msrGeaury’ serm eusmmusmmuiled @)-smofsv  Lifle&sementsemerm
o 6ToTL SIS LMMID UsTigemer LsTersm) (pammulley Srése & gmindsSns.

(A) [A] womid [R] @resor@d &l womid [R] [A] & efersEEms)
(B) [A] wiomnd [R] @reorGid sl gyeermed [R] [A] & eflsmssaiseme
() [A] &1l Lopmud [R] seums

(D) [A] goumy wDmd [R] &l

(E) aflemL Qafliwafsvensy

Which of the following is not a characteristic of a market as per the economic definition?
(i) Exchange of goods, services, or information

(i) Business relationships between parties

(iii) Always tied to a physical location

(iv) Requires multiple buyers and sellers for competition

(A) (i) only

(B) (ii) only

(C) (iii) only

(D) (iv) only

(E) Answer not known

YletTeu(meusaTamled 678 QLITEReTTSTT eusmmusnmuileTLy ShHenSUN6aT Li6vorL| 960607
(i) QumLasT, Coamauser 9|g| S&Hes) Liflomhmid

(ii) B fasEnsSlm e ausmfls. 2 ma|ser

(iii) sTOIGUTGID (H 2 L 60 @O SgIL 6T Wenemrs&sILL (hsTaTs)
(iv) Gumlgs@ UL euMRIGUETSET LMMID aflnueiFser GaHeme

(a) (i) WG

(B) (ii) L (LD

(C) (iii) o (hid

(D) (iv) L (pud

(E) aflemL Qafliwafsvemev
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17. Match the following consumer protection agencies with their jurisdictions:
List | (Agency) | List Il (Jurisdiction)
(a) NCDRC | 1. Cases valued up to X2 million
(b) SCDRC | 2. Cases valued at more than 10 million
(c) DCDRF | 3. Cases valued less than 10 million
(A) (a)-(2), (b)-(3), (c)-(1)
(B) (a)-(3), (b)-(1), (c)-(2)
(C) (a)-(2), (b)~(1), (c)-(3)
(D) (a)-(1), (b)-(2), (c)-(3)
(E) Answer not known
eaTauBLD HISTGCRTT LTSISTIL (PSemsemar jeumnlear SIS amLg L6 GIumm&sis:
Ul lguisd 1 ((p&emio) | Liligiwied 11 (&lamy suriol)
(a) NCDRC | 1. %2 1hl6060liLi6aT 6u6mIT LOSIILIETET 6LLDEE)S6T
(b) SCDRC | 2. ¥10 LileveSliLEmIs@ELD IElSLomenT LSILILETET .S ESH6T
(c) DCDRF | 3. 310 LhleosSlusmis@L Gemmeumear LGILILI6TeT 6LS &S 6T
(4) (2)-(2), (6)<(3), (c)-(1)
(B) (2)-(3), (b)-(1), (c)-(2)
(©) (a)-(2), (b)-(1), (c)-(3)
(D) (2)-(1), (b)-(2), ()=(3)
(E) el Qaifliwelsusmen

18. Which of the following are considered unfair trade practices under consumer protection laws?
(1) False representations about quality, grade, or standards
(2) Selling renovated goods as new
(3) Offering genuine gifts or prizes
(4) Hoarding or destroying goods to manipulate prices
(A) (1) and (2) only
(B) (2) and (3) only
(C) (1), (2), and (4)

(D) (2), (3), and (4)
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(E) Answer not known

mSTeamT urgisming slLmisafldr S WeraimeausTamml sTemen  HUMULDD  QUITSHSHS
6D (EDMSETTSHS S(hSLILIMHSlsTmenT ?

(1) s, &ML Yeveog snhlemasst Ll Geupmer LTS SgIemiseT
(2) ysissiU L Qur@l samer UHwsTs aflhuemesr Gl

(3) 2 emrsmiowmesr Lfl&S6T 96U LIflSSMET AINLIES6

(4) allsmevsenars snsiLmer GUTHLSMET LGISEGS0 Ij0eg fS5S560
(&) (1) whmid (2) i Gib

() (2) wipud (3) @i

(©) (1), (2) wpmid (4)

(D) (2), (3), wimi (4)

(E) el Qaflwealsusmen

Arrange the following events in chronological order:

(i) Enactment of the Consumer Protection Act, 1986

(i) Passing of the Consumer Protection Act of 2019

(iii) Establishment of the Central Consumer Protection Authority (CCPA)
(iv) Coming into force of the Consumer Protection Act, 1986

(A) (i), (iv), (ii), (iii)

(B) (iv), (i), (i), (i)

(C) (i), (iv), (i), (ii)

(D) (iv), (i), (i), (iii)

(E) Answer not known

Setreuqmd Hlspeisemst smaaiflnslilly aiflmeliLbhéson|:

(i) BIBTCuTy urgsMILE s L1, 1986 @unmise

(ii) 2019 gyib gy emoTIg6tT HISTEEUTT LTHISTILE &L S8 HenmGaunmise
(iii) LSS FHISTCM UTGISTIL g memTiLgemg (CCPA) Himie|s6

(iv) BIsTGoury uTgsTILE F L b, 1986 L (PomsE aImHSNg

(a) (@), (), (i), (iii)

(B) (iv), (i), (i), (i)

(©) (), (), (i), (ii)

(D) (iv), (i), (i), (iii)
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Assertion [A]: The Consumer Protection Act of 2019 has broadened the definition of unfair trade
practices.
Reason [R]: The new act includes penalties for misleading advertisements and endorsements.

(A) Both [A] and [R] are true and [R] explains [A]

(B) Both [A] and [R] are true but [R] does not explain [A]

(C) [A] is true and [R] is false

(D) [A] is false and [R] is true

(E) Answer not known

gamm [A]l: 2019 oub g eongeT BISTOANT UTGSTILE &L Hmuodm  of&s5s
meoL(pemmsaflsr eusnriLsmmeni ellifleLbhSSHLsTaTs).

BBITI]'SETOTL.[]. [R]: ydw sl L&SHl0 Saummsr afarbLrmissT LHMID eNeTILTHISEHSSTET JILITTSLD
I|LMBIGLD.

(a) [A] wpgio [R] GrstorGin. & whmid [R] [A] & eflors@Sing:

(B) [A] wimnd [R] @reor®in sl gyeormey [R] [A] o eflsmssailsems

(C) [A] &l wpmid [R] Heum)

(D) [A] soumi wpgid [R] &l

(E) elleo Qaflwealsusmev

Which of the following statements about women's empowerment is incorrect?

(i) Education is a vital tool for empowering women.

(ii) Women's empowerment leads to reduced economic growth.

(iii) Empowering women benefits society as a whole.

(iv) Gender equality is necessary for a country's sustainable development.

(A) (i) only

(B) (ii) only

(C) (iii) and (iv) only

(D) (iv) only

(E) Answer not known

QuetorassT gflasmrefsss upmiu Sleraimn s.pnisafls 6T Sammeorg)?

(i) QuetorsERSE P aflsEs sael @ PSS smeliuTEL.

(i) QuetrsERsE Idsmuaflsgsn QuUTmTTESTT aMTESmLs Gmnss alflaEsEns.
(iii) CuetTsEHSE IS gafliug QU HiOLTEs FepsSSNEGLD HTemn LILSELD.
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(iv) e(m mBTLIg6dT HlemeuimenT eueTj&SSE LTedle Fsgiald gjeudi.
(4) (i) w @D

(B) (ii) oL (D

(C) (iii) omid (iv) WL ELD

(D) (iv) L (hud

(E) el Qaflwalsuemen

Which of the following are correct regarding the impact of women's education?

(1) Educated women are more likely to educate their own children.

(2) Education improves a woman's ability to engage in social interactions.

(3) Even a single year of primary education can increase a girl's future wages by 20%.

(4) Education of women has no impact on child survival rates.

(A) (1) and (2) only

(B) (2) and (3) only

(C) (1), (2),and (3)

(D) (2), (3), and (4)

(E) Answer not known

Qustor sauaflullssr sT&sL GNSE Lsraimesraimle 678 sfliumsrs)?

(1) ugss QuetorseT HIGHT CEMhE GUHMSSHEHSHES Sl SNUSHSTET UTLILST JSSLD.
(2) geys QarLiysefla FHubusnHaTer 6 Glusmnflsr dnsmer saal GCuiUBSSIHNS.
(3) gymbus sl @ aIBLD sL @ Gusimflsar fdlfsre sadlugms 20%
985168 (pigwLb.

(4) Quetorsafleor soall GYHms 2 Wljaurwn elldlsniseafly hs STHEESMSID THLHISSTS.
(4) (1) wibgid (2) wE @i

(B) (2) wimid (3) WG

(©) (1), (2) wpmid (3)

(D) (2), (3), wimid (4)

(E) aflemL Qafliwafsvemev

Which of the following is not one of the eight basic consumer rights?

(i) The Right to Safety

(ii) The Right to Choose
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(iii) The Right to Unrestricted Consumption

(iv) The Right to Consumer Education

(A) (i) only

(B) (ii) only

(C) (iii) only

(D) (iv) only

(E) Answer not known

YletTeu(meusameumfled 618 SjpliLienL EIsFGeumy o-flemgeafls eeitm 9)e60?
(i) urglEMILSSTsT 2 flemLo

(i) Caimbsh&Ew 2 Mo

(i) sLOUUTLOD EiSToSHaeTer 2 flemo

(iv) BI&TGT] Hevafldater 2 flemL

(4) () wGId

(B) (ii) L (b

(C) (iii) oL (hid

(D) (iv) L (ud

(E) ellem Qaflwalsusmen

Match the following consumer protection agencies with their jurisdictions:
List | (Agency) | List Il (Jurisdiction)

(a) NCDRC | 1. Cases valued up to 10,000,000

(b) SCDRC | 2. Cases valued over 100,000,000

(c) DCDRF | 3. Cases valued between 210,000,000 to 100,000,000

(d) CCPA | 4. Regulatory body with wide enforcement powers

(A) (a)-(2), (b)-(3), (c)-(1), (d)-(4)

(B) (a)-(3), (b)-(2), (c)-(4), (d)-(1)

(C) (a)-(2), (b)-(1), (c)-(3), (d)-(4)

(D) (a)-(4), (b)-(3), (c)-(2), (d)-(1)

(E) Answer not known

eaTaubLd HISTGT] LTSS (pSemsemear Jeumnler Slsmr aurLg e GIummesis:
uligwied I ((p&emin) | Ulipwied I (ST 6uLdLy)
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(b) SCDRC | 2. ¥100,000,000 &@lb oylsLomenr LSILILIETOT LS G S 6T

(c) DCDRF | 3. 310,000,000 (psed 100,000,000 aueniy WSLILTET 6ULNEEGS6T
(d) CCPA | 4. UTES LTSS YHSTIHISMETS CSTEITL RUBIGS PN I|EHLOLIL]
(4) (a)-(2), (b)-(3), ()-(1), (d)-(4)

(B) (a)-(3), (b)-(2), (c)-(4), (d)-(1)

(©) ()-(2), (b)-(1), (c)-(3), (d)-(4)

(D) (a)-(4), (b)-(3), (c)-(2), (d)-(1)

(E) el Qaflwalsuemen

Which of the following are correct regarding the Consumer Protection Act of 2019?
(2) It allows electronic filing of complaints.

(2) It includes e-commerce transactions in the definition of ‘consumer".

(3) It reduces the jurisdiction of all consumer courts.

(4) It establishes the Central Consumer Protection Authority (CCPA).

(A) (1) and (2) only

(B) (2) and (3) only

(C) (1), (2), and (4)

(D) (2), (3), and (4)

(E) Answer not known

2019 gy oy euoTigedT - BISTGUT] UTGISTILE &Liid GleTLijurs fsrelmelsmainile 6Tg)
giflwmreorg)?

(1) @& usnismsr Lisrersm enmulle ST&HSM GFLL IminSHsSns.

(2) @8 'msTGa" sTeaarm auemTEmMUT) @)-sTofev LflQIfSSmaTSmeaT 2 6TaTL SIS
) Qa1 Smersgl BisFGoun FHoeTnhisaflsr e urnmuD GmnéEang.

(4) @8 WSHW HISTETT LTSS I emeTLSMmE (CCPA) HimieHns).

(4) (1) whmid (2) i Gid

(8) (2) wimd (3) w Gid

(©) (1), (2) wpmid (4)

(D) (2), (3), wHmd (4)

(E) aflemL Qafliwafsvemev
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SCERT FOUNDATION — COURSE - DAY - 7 QUESTION PAPER
Date: 08/10/2024 No of Questions: 25

Which of the following is the constitutional head of a state in India?
(A) Chief Minister

(B) Governor

(C) President

(D) Prime Minister

(E) Answer not known

Yletreu(meusameumfled @mSmailey epqm Lomfleogdlear oyrliLieusmLoli] Semevaur LT ?
(A) psemLEST

(B) pEhmT

(C) BpwrEs Semeveu]

(D) Wrgsiof

(E) aflemL Qafliwafsemey

Match the following:

List 1] Listll

(a) Governor | 1. Appointed by President

(b) Chief Minister | 2. Head of Council of Ministers

(c) Legislative Assembly | 3. Unicameral legislature

(d) High Court | 4. Highest court in state

(A) (a)-(1), (b)-(2), (c)-(3), (d)-(4)

(D) (a)-(4), (b)-(3), (c)-(2), (d)-(1)

(E) Answer not known

Sstreu(meusarelmemml GLmm&g)s:

ulipwisd 1 | Liliguied 11

(a) QuEmET | 1. sermdudiume HuféssiubLery

(b) WBVMWLEST | 2. YEDLESTMEIS SHMEVET
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(c) elLUGuremen | 3. spremen &L L LooTMLD

(d) 2wy B&Hwermid | 4. wrhlogHer 2 && HlosTmid
(4) ()-(1), (b)-(2), (c)-(3), (d)-(4)

(B) (a)-(2), (b)-(1), (c)-(4), (d)-(3)

(C) ()-(3), (b)-(4), (c)-(1), (4)-(2)

(D) (2)-(4), (6)-(3), (¢)-(2), (d)-(1)

(E) aflemL Qafliwafsvemey

Which of the following are true about the Governor of a state?
(i) Appointed for a 5 year term

(ii) Must be 35 years of age

(iif) Can be a member of state legislature

(iv) Can be removed by state government

(A) (i) and (ii) only

(B) (ii) and (iii) only

(C) (i), (ii) and (iv) only

(D) (i), (ii), (iii) and (iv)

(E) Answer not known

& Lmbley gy EmHHETL LML 2_6ToTenLo 6T6meu?

(i) 5 umL sTVsHNE HUblSSLILLL aIfs6T

ii) 35 euUGMLIOINTS @58 Galstor(Hid

(iii) Lombleo &L LoeaTm 2 miiSleoTyTes @\(H&&6uMLD

(iv) mfle Qram gSmMmLILIL 6VTLD

(&) () wHmid (i) v G

(B) (i) ommud (i) I (HILD

(©) (), () omd (iv) 10 Gd

(D) (), (i), (i) wppud (i)

(E) aflemL Qafliuafsbsmev

Which of the following statements about the Governor is incorrect?
(A) Appointed by the President

(B) 5 year term of office
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(C) Must be a citizen of India
(D) Can hold office of profit
(E) Answer not known
IL@ERET Ul HeTaimn s nmiseafly 678 Samrers ?
(A) spermludliumey Hwifsslin@Es
(B) 5 gyetor(h) Lse&smeld
(C) @i Gyusams @\(Hmés Geolstr(hi
(D) oysmud S US] aISE6MLD
(E) el Qaiflwalsusmen
5. The Governor acts as the Executive in a state.
(A) Real
(B) Nominal
(C) Constitutional
(D) Elected
(E) Answer not known
SLEBET (5 LMhlogdstr Biieurdliurs Gewesu@&mmy.
(A)2_ewoTemLOWIT6TT
(B) @Quuwiremey
(C) Sréflwevemioliy
(D) Caimoshi&sasLUL L
(E) el Qgifliwalsuemev
6. Assertion [A]: The Governor is an integral part of the state legislature.
Reason [R]: The Governor has the power to summon or prorogue the state legislature.
(A) Both [A] and [R] are true and [R] explains [A]
(B) Both [A] and [R] are true and [R] does not explain [A]
(C) [Alis correct and [R] is false
(D) [A] is false and [R] is true

(E) Answer not known

saml [A]l: opEmmT WMo SULGTMSSHEET 6HhISmeuohe LigSITeu].
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smysoorin  [R]: bl SULATMSMS Sl L Gour 968l RSSHMmeISSECMT I EHHHSSE
IIHSTILD 2 67T6TE).

(a) [A] wdmid [R] @rerhid sl wHmd [R] [A] & efleré@Eng
(B) [A] mmid [R] @reor(id &ifl womid [R] [A] & ellsrésalsimen
(C) [A] &l wdmud [R] Seum)

(D) [A] seumi wpmid [R] &1

(E) aflemL Qafliwaflsvsmev

. Which of the following are powers of the Governor?

(i) Appoint Chief Minister

(ii) Dissolve Legislative Assembly

(iii) Grant pardons

(iv) Impose President's rule

(A) (i), (ii) and (iii) only

(B) (ii), (iii) and (iv) only

(C) (i), (iii) and (iv) only

(D) (i), (ii), (iii) and (iv)

(E) Answer not known
AetTeu(meueTeumniley o EmHbifletT QSlSTTHIGET sTeme?
(i) Wawemwéaem Bufidseo

(i) FLLL6TMSHMS SHEMEVSHSH6

(iii) LoedTeafliy EULPMGIGS 60

(iv) @pwrssd semoai] Ju Sl JLBSSIS60
(A) (i), (i) omd (i) LD

(B) (it), (iii) ommrd (iv) LD

(€) (i), (iii) OmD (iv) LG

(D) (), (i), (i) wpgid (iv)

(E) aflemL Qafliwafsvemev

Find the mismatched pair:

(A) Governor - Appointed by President

(B) Chief Minister - Head of Council of Ministers
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(C) Legislative Council - Upper house of state legislature

(D) High Court - Highest court of appeal in state

(E) Answer not known

QuTBHeTE Gomemius Seor(hiily:

(A) SyEmmi - speormlughumed BiuflssUbhLa}

(B) (WSVMEST - IEDLIESFTENEUS SMEVELT

(C) &l Letrm Gosvemer - Lomfley &L L LeTmSleor GLosueme

(D) 2w FHwsrmid - wrflusHer 2 &5 Guapsmmui (h HlosTmid
(E) el Qaiflwalsusmen

The minimum age requirement to become Governor of a state is:
(A) 25 years

(B) 30 years

(C) 35 years

(D) 40 years

(E) Answer not known

Q5 LMHSSHET QL EHET JLOISNSTET GMMHSULE QLG eTLL:
(A) 25 gy emor(HiGH6T

(B) 30 gy etor(Hiss6iT

(C) 35 gy oT(hs6iT

(D) 40 gy evoT(DSH6T

(E) el Qgifliwalsuemev

10. Which of the following is not a way of acquiring Indian citizenship according to the

Citizenship Act of 19557
(i) By birth

(ii) By descent

(iii) By marriage

(iv) By naturalization

(A) (i) only

(B) (ii) only

(C) (iii) only
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(D) (iv) only
(E) Answer not known

AetreumaueTeumniled 611 1955 gy oyetonigstt Glpwflemns &L STy @HEILS Slpwflemi
QumeugHeTsT aufl 9j6ien?

(1) Yimlmsv
(ii) eunbamaiaflumed
(iii) &\(mLO6TOTLD eLPEULD
(iv) @ILMEMSLOLILTESED PLIGILD
(A) (i) w @D
(B) (i) L ®LD
(C) (iii) oL (HIb
(D) (iv) WL (Hid
(E) el Qaiflwalsuemen
11. Match the following:
List | (Type of Citizen) | List Il (Description)
(a) Natural citizens | 1. Acquires citizenship
(b) Naturalised citizens | 2. Citizens by birth
(c) Non-Resident Indian | 3. Holds Indian passport but resides outside India

(d) Overseas Citizen of India | 4. Foreign citizen of Indian origin with special status

(A) (a)-(2), (b)-(1), (c)-(3), (d)-(4)

(D) (a)-(3), (b)-(4), (c)-(1), (d)-(2)
(E) Answer not known
Yetreu(peustreumenmLt GLm(, &8s
ULl lpitied 1 (GlpLosser euems) | L lgwed I (ailaTésin)
(a) @Qunens Glpusser | 1. Glpwiflann L
(b) Gwiflemw Qubm GlpwsssT | 2. NDOILTE (GlglosaeT

(c) QeuaflEm® sump @héw | 3. @HSu LTeGLTTL maSSmESTHILD, @ESILTasE CaeflGw
sudl&Emmy
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(d) @idwmelsr GeusfiEm (h Glgser | 4. Ay ghsevgIL 6T @hdu albsmasflamwus Caims
QeusfiBT () (&lgLoss60T

(4) (2)-(2), (6)-(1), (c)-(3), (d)-(4)
(B) (a)-(1), (b)-(2), (c)-(4), (d)-(3)
(C) (a)-(4), (b)-(3), (c)-(2), (d)-(1)
(D) (2)-(3), (b)-(4), ()-(1), (d)-(2)
(E) aflemL Qafliwaflsvsmev

o~ o~ o~ o~

12. Which of the following are ways of losing Indian citizenship?
(1) Renunciation
(2) Termination
(3) Deprivation
(4) Expiration
(A) (1), (2), and (3)
(B) (1), (3), and (4)
(C) (2), (3), and (4)
(D) (1), (2), (3), and (4)
(E) Answer not known
Slstreu(meusareummled sTemeu @IhSILS Glelflenoemil @IILSNHSTET ST ?
(1) gwey
(2) Yysse
(3) @iy
(4) smeomaug)
(a) (1), (2) wpmid (3)
(B) (1), (3), wimid (4)
(€) (2), (3) wpmid (4)
(D) (1), (2), (3) wpmud (4)
(E) aflemL Qafliwafsvemev

13. Which of the following statements about Indian citizenship are true?
(i) The Indian Citizenship Act was passed in 1955

(ii) India provides dual citizenship
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(iii) Citizenship can be acquired by incorporation of territory

DL O DIOD

(iv) The President is considered the first citizen of India

(A) (i), (ii), and (iii)

(B) (ii), (iii), and (iv)

(C) (i), (iii), and (iv)

(D) (i), (i), (iii), and (iv)

(E) Answer not known

@S Glewiflamn undu Weraimd s mniseafle g gflwmerg)?
(i) @BHws Guuflemns s 1955 gy guem®h GunmOULL g).
(i) @b Grem & Gewflon abiGHng)

(iii) MCaesma @ensmriiLgsr eypeld Glpwflamwsniu’ Qumesomd
(iv) GWTss Semeval] @HLSIWTENGT (NS GSlYlSaTTESES S(HSLLOSDTT
(&) (), (i) wpgid (i)

(8) (i), (iii) opmid (i)

(©) (). (i) LHmid (v)

(D) (i), (i), (i) wboud (iv)

(E) elleom Qafliwalsuemen

Arrange the following in chronological order of implementation:

(i) Indian Citizenship Act

(ii) Incorporation of Pondicherry

(iii) Constitution of India

(iv) 42nd Amendment (Fundamental Duties)

(A) (iii), (i), (ii), and (iv)

(B) (i), (iii), (iv), and (ii)

(C) (iii), (iv), (i), and (ii)

(D) (ii), (i), (iii), and (iv)

(E) Answer not known

QeweLBSslsr sraaiflmeiuly WeralmeasTamsmn aiflmeiLbhssann:
(i) @bHus @wwflenns s

(i) urevorie EGEf @)emenor 5560
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(i) @EBESHW yTelusvemioliy

(iv) 42 sugl S(HSSLD (IplILEDL& SL6MLOS6T)

(4) (i), (), (i) wdgid (iv)

(B) (), (i), (iv) wimid (i)

(€) (i), (iv), (i) wimid (i)

(D) (i), (), (i) opgud (iv)

(E) aflemL Qafliwafsvemey

The concept of "global citizenship" is associated with:

(A) Belonging to a particular nation

(B) Being part of a worldwide community

(C) Having dual citizenship

(D) Overseas Indian citizenship

(E) Answer not known

"2 _ousermeiil Glglflenn” eTern S(HSE @S 6T GSTLTLmL LS

(A) @@ GO L Cassmas GCaihear

(B) 2 vsemmeiliu epssHler @ LGSHILTS @ImLILS)

(C) @riemL & Glpwflend 2 LILAITTS ©)(h&S60

(D) QeuefiEm (h @EHW Glpiwfleni

(E) aflemL Qafliwafsbsmev

Which of the following statements about Indian citizenship is incorrect?
(i) Aperson born in India before 1st July 1987 is automatically an Indian citizen
(i) Citizenship can be acquired through registration

(iii) Single citizenship is provided in India

(iv) A person can be deprived of citizenship for being disloyal to the Constitution
(A) (i) and (iii) only

(B) (ii) and (iv) only

(C) (i), (ii), and (iii) only

(D) (ii), (iii), and (iv) only

(E) Answer not known

@nHus Glewiflew upmiu sraimn s nniseaflsy 68 Sammers)?
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(S \pLOSETTTEUMT]

(i) udley Gawugenr epeuld Glpwffleno GLmevLD
(i) @iHurells pnmNS Glewflamn aphslLbhEns

(iv) grdwssmwintng elsaursnnnarms @HUUSNSTS @ BUT Glwflamumy @lp&s
(igiujth

(A) (i) omd (i) oL HLD
(B) (ii) mmrd (iv) wGLD
(€) (i), (i) mmid (iii) Lo (B
(D) (ii), (iii) Lommrd (iv) L LD
(E) el Qaiflwalsuemen

Which of the following statements about Overseas Citizenship of India (OCI) are true?
1. It provides voting rights in India

2. It allows aforeign citizen of Indian origin to live and work in India indefinitely
3. Citizens of Pakistan and Bangladesh are eligible for OCI

4. ltis aform of dual citizenship

(A) 1 and 3 only

(B) 2 only

(C)2and 4 only

(D)1,2,3,and 4

(E) Answer not known

Overseas Citizenship of India (OCI) umplw Slereumd Smmisefled 6Tg Fflwmsorg)?

1. @& @hHurailh arssalsEn o flmwamu aipkESEns

2. @8 @iy audsTasflamws Caing CeuaflEm (b Glpusamer @hduraile smaueaismruisarm
sumpe|d Geusme Galued oymiodsSng

3. urdlevgmer LHMILD LKRISMMTEHN GlpSEeT OCI &@E &ESILMLILAITES6T

4. @g @rim s GywflamwnulsT s algalom@L

(A) 1 omid 3 W HIb

(B) 2 w(Huwd

(C) 2 whmid 4 W (HIid

(D) 1, 2, 3 womId 4
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(E) el Qaflwalsuemen
18. Assertion [A]: India follows a system of single citizenship.

Reason [R]: Single citizenship promotes feelings of fraternity and unity among people to build
an integrated Indian nation.

(A) Both [A] and [R] are true and [R] explains [A]

(B) Both [A] and [R] are true and [R] does not explain [A]

(C)[Alis correct and [R] is false

(D) [A] is false and [R] is true

(E) Answer not known

g im [Al: @hET ebmns Glewflmn yepsowd WAsrunmidns.

smerd  [R]: enons Gwflown m QEmhrSmanns @RS CoesHms o (Harss
w&s6aflamL G FCaTar&HgnID LMHMID RHNIEILD 2 6T e S meT 2618 EGal&SHNg).

(4) [A] wpgio [R] GrstorGio &l whmid [R] [A] & eflore@Sing:
(B) [A] womid [R] @rsior(hid &ifl womitd [R] [A] & eller&sailveneo
(C) [A] &l wpmId [R] Heumy
(D) [A] gouny wobmud [R] &l
(E) ellem Qaflwalsuemen
19. Find the Mismatched Pair
(A) Naturalisation - Acquiring citizenship after fulfilling certain conditions
(B) Termination - Voluntary acquisition of citizenship of another country
(C) Person of Indian Origin - Citizen of Pakistan or Bangladesh with Indian ancestors
(D) Pravasi Bharatiya Divas - Celebrated on January 9th
(E) Answer not known
QuTBHSTES Cememiug sevoTL_Mlile|n
(A) eywflew - fo flubsmarsamer LS5 Gsls g Gyl Cumiss
(B) W50 - OGDT, Hriigsr Glgflenosmil Srerms (LpsTaubg GlLmige

(C) @B eubsTeuafl BT - @HSIL CPSTENSILI(HL T LITSSVSTET (606VS UBISTETCS S ST
S \pL0868T

(D) diyeurd LMy Seusiv - seoreurfl 9 geiTm GlEmetoTL MLLILIHISMS)
(E) aflemL Qafliwafsvsmey

20. Match the Following:
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List | (Branch of Government) | List Il (Primary Function)
(a) Executive | 1. Interprets laws

(b) Legislative | 2. Enforces laws

(c) Judicial | 3. Makes laws

(d) Local Government | 4. Provides municipal services

(A) (a)-(2), (b)-(3), (c)-(1), (d)-(4)

(D) (a)-(3), (b)-(2), (c)-(4), (d)-(1)

(E) Answer not known

QuTpS81s:

uligwe 1 (Qremmssdlsr Elemer) | Lligwsd I ((pseisnin Glgwsom(h)
(a) Bljeurd) | 1. gL misemer ellors@SHmmy

(b) gL wetTmid | 2. FLLMisSemeT LsoL(HSSISHME)

(c) EFSg1mm | 3. FLLGISMET 2 HAUTESENSGI

(d) 2_eresmm_él | 4. paTT & Cameugmer aupmiGSHns)
(4) (2)-(2), (b)-(3), (c)-(1), (d)-(4)

(B) (2)-(1), (b)-(4), (c)-(2), (4)-(3)

(©) (@)-(4), (b)-(1), (c)-(3), (0)-(2)

(D) (2)-(3), (b)-(2), (c)-(4), (d)-(1)

(E) elleom Qagifliwalsusmen

21. Arrange the following steps in the typical process of how a bill becomes a law in most state
legislatures:

(i) Governor's signature or veto
(ii) Committee hearings

(iii) Floor vote in both chambers
(iv) Billintroduction

(A) (iv), (ii), (i), and (i)

(B) (ii), (iv), (i), and (iii)
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22.

23.

(D) (iii), (ii), (iv), and (i)

(E) Answer not known

@uemLoumeumssr Lomflew  FUL LoeaTmGefled 6 WGEFTHT sTeueuTN) UL LTSNS 6TETLISDEST6IT
Qumrgleumer Gawsypsmmuilsd eraumd Lipsemer auflenaiLbSsaLn:

(i) SEHHA6T m&GIMILD NG T8 SlSMTin
(i) G ellsmrenemors s

(ii)) @ oemeusaflgid s L werm ars6shiiy

(iv) el Lepeud flLpssi

(&) ), G, (i) oppid ()

(B) (ii), (iv), (i) wobaud (iii)

(C) (@), (iv), (iii) wobuud (i)

(D) (iii), (i), (iv) Lopmid (i)

(E) aflemL Qafliwafsvemey

The concept of "checks and balances" in state government is most closely associated with
which principle?

(A) Separation of powers
(B) Federalism

(C) Popular sovereignty
(D) Home rule

(E) Answer not known

Loy remmissSln "sréamemagsT LHMID Swflmaser" eTarn &HSHg 6ThEHS GlsmeTensiLL 6T
Bsa)h CnmsswTs S fLmLiLg)?

(A) yFlsmr Uiflafenear

(B) gnlLm &

(C) w&s6T @lemmento

(D) setreorm_&l

(E) aflemL Qafliwaflsvsmey

Which of the following statements about state legislatures is incorrect?
(i) All state legislatures are bicameral.

(ii) State senators typically serve longer terms than state representatives.
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(iii) The lower house is always called the House of Representatives.
(iv) Some states have term limits for legislators.
(A) (i) and (iii) only
(B) (ii) and (iv) only
(C) (i), (ii), and (iii) only
(D) (ii), (iii), and (iv) only
(E) Answer not known
omflen &L eTmmiser Ll eTaimd s mnisefle 68 Seaimers)?
(i) SemeorSg) Lmbley &1L LDETMRISERLD FHTene GlsTeooT_smel.
(i) wmBley Qe Liser CQurgeurs wrble UirSifldemer ail B sTSSHME
uesflmmhmiSmTi 6.
(i) Sipemeu eTLIGUTGHID WTSlflSlser Femu eTeTm YPSSLILMHISIMS).
(iv) Hlov mhleomisafley s L werm 2 MSleTjsEhSSTET LSS STV EUTLILIGST 2 6T6T6oT.
(A) (i) womd (i) oL HLD
(B) (ii) ommrd (iv) ol (HLD
(€) (i), (i) mmud (iii) LLELD
(D) (i), (iii) Lommud (iv) L (HLD
(E) aflemL Qaifliuafsvsmey
24. Match the Following:
List | (Constitutional Article) | List Il (Provision)
(a) Article 5| 1. Citizenship rights for migrants from Pakistan
(b) Article 6 | 2. Citizenship at the commencement of the Constitution
(c) Article 10 | 3. Citizenship rights for persons of Indian origin residing outside India
(d) Article 11 | 4. Continuance of the rights of citizenship
(A) (a)-(2), (b)-(1), (c)-(4), (d)-(3)
(B) (a)-(1), (b)-(4), (c)-(2), (d)-(3)
(C) (a)-(4), (b)-(1), (c)-(3), (d)-(2)
(D) (a)-(3), (b)-(2), (c)-(4), (d)-(1)
(E) Answer not known
QuTr5818:
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uigwsd 1 (grélusosnioliy o giiemr) | ulipwed I (rHun()
(a) 2migemy 5 | 1. urdlsugmeflsy @\mHEs GlpCLliuafsEhs asTar Gl Wl
(b) e-miienr 6 | 2. grsmwitlar QM _sSahlmeuile GlgwflemLo
(c) emiigemy 10 | 3. @h&maseE GeuaflGw suripd @nSu aubsmaieafluflermssmsr
GlpwflemLoger
(d) emiyemr 11 | 4. Gigenn 2 femwsefler Qmj&e
(4) (2)-(2), (b)-(1), (c)-(4), (d)-(3)
(B) (a)-(1), (b)-(4), (c)-(2), (d)-(3)
(€) (2)-(4), (b)-(1), (c)-(3), (4)-(2)
(D) (2)-(3), (b)-(2), (c)-(4), (d)-(1)
(E) elleoL @sfluailsweme

25. Which of the following statements about Indian citizenship are correct?

Dual citizenship is allowed for all Indian citizens.

The President of India has the power to grant citizenship in extraordinary circumstances.
Overseas Citizenship of India (OCI) provides full voting rights.

The Citizenship Amendment Act, 2019 provides a path to citizenship for certain religious
minorities from neighboring countries.

—

b

N

(A) (1) and (3) only
(B) (2) and (4) only
(C) (1), (2), and (3) only
(D) (2), (3), and (4) only
(E) Answer not known
@n&ws Glewiflenn undu Ysraimd s.mnisefls gl gflwmerg)?
1) omarsg @il GhlssEnsEn @I oL Glpuwflomn gmidssiubEns.
2) gemgmre Gphlmasafly GLwflan auyhiEn gSsmn @hsl namSHudss 2 erarg.
3) oaufsen Slipasr gpdell @HGWT (OCI) (i aTSSGFlamuwemiu aIpnIGSNg.
4) eyuflown  SHmsss siLn, 2019  gemoL  prhsomars  GHine o ws
Smursrenlen (5 Gl flmSESTST LTMmSmIL aILPHIGSEMS).
(4) (1) wppid (3) W Gid
(8) (2) whmud (4) o Gid
(©) (1), (2) whmd (3) i Gid
(D) (2), (3), pyid (4) W@
(E) ellemL Qafliwaisvemso
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SCERT FOUNDATION — COURSE — DAY — 8 QUESTION PAPER
Date: 11/10/2024 No of Questions: 25

1. Which of the following is NOT considered a birthplace of major world religions in
India?
(i) Hinduism
(i) Jainism
(iii) Buddhism
(iv) Islam
(4) (i) only
(B) (ii) only
(C) (iii) only
(D) (iv) only
(E) Answer not known
LiesreupeuaTeuppled 61 @)6FwTaled (L&&HI 2 s GEISafeT LDl orss $HSLILL afledanev?
() @Ba swwii
(ii) FLDGESTLD
(iii) OLIeNE LD
(iv) @evevaLd
(4) () oL B1Lb
(B) (ii) Lol (PILD
(C) (iii) oL (LD
(D) (iv) oL (BLd
(E) ofleni_ GgNueleemnev
2. Match the following contributors to Indian secularism with their respective fields:
List I (Contributor) | List II (Field)
(a) Rajaram Mohan Roy | 1. Literature
(b) Sir Syed Ahmad Khan | 2. Social Reform
(c) Rabindranath Tagore | 3. Politics
(d) B.R. Ambedkar | 4. Law and Constitution
(A) (a)-(2), (0)-(3); (0)-(1), (d)=(4)
(B) (a)-(1), (b)-(2), (c)=(3), (d)-(4)
(C) (2)-(3), (b)-(4)s (c)-(2), (d)-(1)
(D) (a)-(4), (0)-(3), (¢)=(1), (d)=(2)
(E) Answer not known
QBFW  wgsFTiiaTenios@ LBIGaNSS LlaTau(bLd LBSILILTTISEOT IBSbS HIGHDSEEHL G
OMCEETES
ul g wed I (umiseflLiumers) | L 1gwied I (SerLb)
(a) grgomgmid Gomsestgmul | 1. @evs&uwid
(b) FJ FWS YFLDG| HTGT | 2. FeLps FFS (5SFLD
(c) TSBBIBTS SMFnl | 3. TF WD
(d) 19. 2,0 qdCLGSHT | 4. FLL_LD LoPILD HTFWevenLoLiL]
(4) (@)-(2), (b)-(3), (c)-(1), (d)-(4)
(B) (@)-(1), (b)-(2), (c)-(3), (d)-(4)
(© (@)-(3), (b)-(4), (&)-(2), (d)~(1)
(D) (@)-(4), (b)-(3), (c)-(1), (d)-(2)
(E) aflev_ Qg waledenev
3. Which of the following are objectives of secularism?
(1) Prevention of religious group domination
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(2) Intra-religious equality

(3) State neutrality in religious matters
(4) Enforcement of a state religion

(A) (1), (2), and (3)

(B) (1), (3), and (4)

(C) (2), (3), and (4)

(D) (1), (2), and (4)

(E) Answer not known

Liereupeueteupmled e1emeu LogdFmiLieren oufler Gprasmiser?
(1) 105 G %F35555 5SS

(2) 2_GiT-LDS FLOGGHIRILD

(3) L& ey BIEeled Ts BB BV UFLILIG.
(4) 9I1F Lo OIDTGTEO D 3 (LP&VLI (DS HIH e

A (1), (2) wppiLh (3)

(B) (1), (3). pmILb (4)

(©) (2), (3) PmILD (4)

(D) (1). (2) oPDILD (4)

(E) oflewni_ GgNuwelesne

4. Which of the following are characteristic features of a secular state?
(i) Principle of Liberty
(ii) Principle of Equality
(iii) Principle of Neutrality
(iv) Official state religion
(A) (i), (ii), and (iii)
(B) (ii), (iii), and (iv)
(©) (), (i), and (iv)
(D) (i) and (iv) only
(E) Answer not known
L6816 (B GTEUD DG 6Ten e LoSFFTILIDD HTF 6T FpLifwedHar?
(i) &SBF 185 CHm11r()
(ii) FLoGHIuS CHrLLim®)
(iii) ERBewevdE Cam i
(iv) 2 @G Liel 9 I% LOSLD
(4) (i), (i) LoPILD (iii)
(B) (ii), (iii) LopmiLb (iv)
(© (i), (ii), LoBDILD (iv)
(D) (i) P (iv) oL (HILD
(E) aflev_ Qg ilwaledenev
S. Arrange the following events related to secularism in India's Constitution in
chronological order:
(i) Incorporation of "secular" in the Preamble
(ii) Adoption of the original Constitution
(iii) 42nd Amendment
(iv) Ratilal Panchand V State of Bombay case
(A) (ii), (iv), (iii), and (i)
(B) (iv), (ii), (i), and (iii)
(©) (1), (iii), (iv), and (ii)
(D) (i), (i), (iv), and (iii)
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(E) Answer not known
@B rRwevenoLitied weFFTFliaienis CSMLFLimes LIGTeU(BLD BBLHGYSOT FHTeVeUFeHFLILILG
UflenFLILIHSSIS:
(i) (WHeyenguiled "LoFFFTTLDD" GTRTLIGNS ()60 cWoTH S 6D
(ii) eLpev TR Wevem LoLIGn LI eTD M| 0)STaTeUS)
(iii) 420 B BSHLD
(iv) BT LIGHFBS 6THF LILDLITUI LOTBI6V ULPS S
(4) (ii), (iv), (iii) LopDILD (i)
(B) (iv). (ii). (i) LoD DILD (iii)
(©) (i), (iii), (iv) LoHDILD (ii)
(D) (ii), (i), (iv) LopiLb (iii)
(E) oflew L Qg Rwaledenev
6. Which of the following statements about secular education in India is incorrect?
(i) It aims to develop character and morality in children regardless of religious
affiliation.
(ii) It promotes narrow-mindedness and religious dominance.
(iii) It strengthens democratic values like liberty, equality, and fraternity.
(iv) It encourages cooperative living and wider vision towards life.
(A) (i) and (iii) only
(B) (ii) only
(C) (ii) and (iv) only
(D) (i) and (iv) only
(E) Answer not known
@ pPwraled wsFFTiLPD Se0all UPBlw LeTe (B LD FnPnI%Hafled 615 SeUpTeTs?
(i) ws Ceaupumyeay) Grbassala RUPSES®SULLD  @R(UPISFS@SULd euearilitiCs  @)Fer
GBrssL0IELb.
(i) @& SmIS W LDGSTLILITGTEN LOEIILLD DS P ESHSWS LD 2615 & 6% F D ).
(i) Q& FSHPILD, FosGHeud LwPpid  FOsTHIFHUD Gumern eepmws  flwpLblwmisemar
WUILILIBSSIF DS
(iv) @& F LB D6 UTLHE®SE LOHMILD UTLHSWS GDSS LITHS LiITFenalenill 2015 allsE)n ).
(4) (i) LopmiLd (iii) LR LD
(B) (ii) LoL" ()LD
(C) (ii) LopmILD (iv) oL BILD
(D) (i) opmiILd (iv) L HLd
(E) afleo_ Qg waledemev

7. Which of the following statements about secularism in India are true?
(1) The word "secular" was present in the original 1950 Constitution.
(2) Secularism is considered a fundamental tenet of Indian democracy.
(3) The Indian state has an official religion.
(4) Freedom of religion extends to both citizens and aliens in India.
(A) 1,2, and 3
B) 1,2, and 4
(C) 2 and 4 only
(D) 2, 3, and 4
(E) Answer not known
@ pPwraled weFFmiierenis LpPlw L6TeuHLD FnPDDIFHeT6 615 FFlwTeTS?
(1) "LgFFTiUDD" 6Tain O\FT6d 9Fev 1950 2rFwevenoLitNed @)(BHSS).
(2) W FFTiLIeETenLD 6TTLIS @) BFW DTBTISHSDH T 9Ly Litienl & CHTLLmL_155 F55LLBHE DI
(3) QBBW SYT%H HBSTILT LDFFSS 0% TN(B) GTGTS).
(4) 6% &SFBILD QB W TG 2 66T F19 L05E @S GLD Cleual BT 19 T (HS@GLD FL 19 SSLILIL (B 6iTeTgy).
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(4) 1, 2 opmitd 3
(B) 1, 2 opmyLd 4
(C) 2 opmytd 4 oL (R
(D) 2, 3 LoPWILD 4
(E) aflew_ Qg Mwaledenev
8. Assertion [A]: The Indian Constitution guarantees the right to profess, practice,
and propagate any religion.
Reason [R]: India follows the principle of "Sarva Dharma Sambhava" (equal
respect for all religions).
(A) Both [A] and [R] are true and [R] explains [A]
(B) Both [A] and [R] are true but [R] does not explain [A]
(C) [A] is true and [R] is false
(D) [A] is false and [R] is true
(E) Answer not known
Fpn [A]: @QBFW YITPwevenLoLiLy 61650)aumh FFmSULd LIGTUPDISHGLD, LIHTLDDIISD GLD,
ugLLeUsHGLD 2 fleoLo 9l EHm ).
sagesTLd [R]: QBSWT "Fies SHO FLOLUMT' (I6TSS  LOSBIFEETWLD FLOLOTSH LOFHSFH6)
s rerensemw i LNeTLDDISD S,
(4) [A] wpmiid [R] @) oessi®Ld &) opmitd [R] [A] g llens @& mgi
(B) [A] wopmid [R] @) messiGILd Fi gy,e11ed [R] [A] g0 aflarssallebenev
(C) [4] #0) opoiLd [R] saimi
(D) [A] 3euml oppiLh [R] F1j)
(E) aflewni_ Qg Nuweevenev
9. Find the Mismatched Pair
(A) Article 15 - Prohibition of discrimination based on religion
(B) Article 25(1) - Freedom of conscience and right to profess, practice, and
propagate religion
(C) Article 27 - Compulsory taxation for promotion of all religions
(D) Article 28 - Regulations on religious instruction in certain educational
institutions
(E) Answer not known
QurppsTs Ceorig.enwis SessBlweyLd
(4) 2 miLigeny 15 - LSS Ber 19 LiLienL_uflevneT LTGUIL L% oL 0lFuige
(B) 2 mitilyeny 25(1) - LOGIFTLS) &SBEFILD LOPMILD LDSFeSL LNGTLDDIUSD G LD, LG LIDMICUSD GLD,
uglileugpnGLd 2 feoLp
(C) o piLiLyewg 27 - eneaTsdg) FEIHeMaTLLd CLodLIBRSHAISD S SL LM auflalFiLy
(D) 2 miiLjeng 28 - Fev sevall BlniaiaTmgeafled 1bg GCLITSMeT L% TaT 6(Lp & allS % ar
(E) aflev_ Qg lwaledenev
10. Which of the following is NOT considered a basic characteristic of Human Rights?
(i) Inherent
(ii) Fundamental
(iii) Alienable
(iv) Universal
(4) (i) only
(B) (ii) only
(C) (iii) only
(D) (iv) only
(E) Answer not known
LetreupouesaupPled 61gl LoeshE 2 [flew Lo&aflesT 919 LiLiew L LT LIGTLITSS F(hGLILIL aflcOenav?
(i) 2 QTaTTIBS
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(ii) SYLgLILIGHL_

(iii) LOMD WIS GTEHLD

(iv) 9@ GT 6L (15 (& LD TGS

(4) () L B1Lb

(B) (ii) LoD

(C) (iii) oL (B1Lb

(D) (iv) Lo (b

(E) aflen_ G Nwelevenev

Match the following human rights with their corresponding categories:
List I (Right) | List II (Category)

(a) Right to fair trial | 1. Civil Rights

(b) Freedom of expression | 2. Political Rights

(c) Right to education | 3. Social Rights

(d) Right to speak one's language | 4. Cultural Rights

(A) (2)-(1), (b)-(2), (0)-(3); (d)-(4)

(B) (2)-(2), (b)-(1), (c)-(4); (d)-(3)

(C) (2)-(3), (b)-(4); (c)-(1), (d)~(2)

(D) (a)-(4), (0)-(3), (6)=(2), (d)-(1)

(E) Answer not known

Lesteu(BLd Loes|S o flemLbEen 6T ojeup Mm@ M eUenssEhL 6T O)LIThSS%:
U guwed I (auevg)) | L g wed 1T (auens)

(a) Blwrwiomes oflFngenewrdsmest 2 flevio | 1. Falew 2 flenLosar

(b) HBSSHIF FSHSBILD | 2. = rFlwed 2 [fle Lbaseir

(c) evail o flevio | 3. FeLps 2 FlewioLHar

(d) &1 Qmfleow L GuaLd o fevio | 4. FvmdFny o fenLosaT

(A) (@)-(1), (b)-(2), (¢)-(3), (d)-(4)

(B) (@)-(2), (b)-(1), (©)-(4), (d)-(3)

(@ (@)-(3), (B)-(4), (c)-(1), (@)-(2)

(D) (@)-(4), (b)-(3), (c)-(2), (d)~(1)

(E) aflen_ Qg Mwaledenev

Which of the following were precursors to modern human rights documents?
(1) Magna Carta

(2) French Declaration on the Rights of Man and Citizen
(3) US Constitution and Bill of Rights

(4) The Cyrus Cylinder

(A) (1), (2), and (3)

(B) (1), (3), and (4)

(€) (2), (3), and (4)

(D) (1), (2), and (4)

(E) Answer not known

LesTeu heueTalpmled eTemeu Bafes oefls o flewio gy eentsi%efler (LpeitCestmigsar?
(1) LOMSGSTIT SIFL LT

(2) esfgest LPmILh Gy Losestier o feniosar Lupmlw N0 Tehe LNTs L csLd
(3) Q) fss o rfwevenioLiL) opmitd o feviosar wCFasm

(4) ewgrgav FedewT_J

(4) (1), (2) ppiLd (3)

(B) (1), (3), opDILD (4)

(© (2), (3) ppiLd (4)

(D) (1), (2) PpILH (4)

(E) aflev L Qg lwaledenev
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13. Which of the following are true about the National Human Rights Commission
(NHRC) of India?
(i) It is a constitutional body
(ii) Its chairperson must be a retired Chief Justice of India
(iii) It was established in 1993
(iv) Its members have a term of 5 years or till age 70, whichever is earlier
(A) (i), (ii), and (iii)
(B) (ii), (iii), and (iv)
(©) (1), (ii), and (iv)
(D) (i), (iii), and (iv)
(E) Answer not known
@ rPwraler CsFw weflg o Meooser yeneniid (NHRC) LIHHIWL 2 6569 LD 6160 6u?
(i) @& (5 HTFWEHLOLIL] GLOLIL]
(ii) @)B6T Femeveus g@uia) QLD 2 FF BRGNS SemvenLo FHLIGWTS Q) BSSe0 Couent(BLb.
(iii) @)1 1993 @0 Blmyeu it 1 gy
(iv) yger o piilfeTisefe LgalssTew 5 YeaTBsaT dwg 70 euwg ey @QFHe 6Ig
LB wCHT 45l
(4) (i), (ii) LopILd (iii)
(B) (i), (iii) LopmILb (iv)
(©) (i), (ii), LLHDILD (iv)
(D) (i), (iii) LoD ILD (iv)
(E) oflewni_ Qg Nuiaflevenev
14. Arrange the following events related to human rights in chronological order:
(i) Adoption of the Universal Declaration of Human Rights
(ii) Establishment of the United Nations
(iii) International Year of Women
(iv) Fourth World Conference on Women in Beijing
(A) (i), (i), (iii), (iv)
(B) (i), (i), (iv), (iii)
(C) (iii), (iv), (i), (ii)
(D) (iv), (i), (i), (i)
(E) Answer not known
el 2 flevLoger O\ mLFLimeT Lo (bLd BlaLHeysmers sTevalflenFLiLig aufleFiL B SS5I%:
(i) esflg 2 NevLo&EBs%Ter 2 wHarTalw LITSL_esT$eS 61D MmI%0)% 6T g
(ii) @& BIT(HSET FeWLIGH W B DIe]SH6D
(iii) FGou G Lo&Heflb 2),e557(h)
(iv) QLI BB O LIS 6T GBS S HI6TSHToUE © 6V% LOTHT()
(4) (ii), (i), (iii), (iv)
(B) (i), (it), (iv), (iii)
(© (i), (iv), (i), (it)
(D) (iv), (i), (it), (1)
(E) afleo_ Qg lwaledenev
15. The term "Child Line 1098" is associated with which of the following in India?
(A) A 24-hour free emergency phone service for children
(B) A special police unit for child protection
(C) A government scheme for child education
(D) A medical helpline for children's health issues

(E) Answer not known
"eoFe0 (B et 098" e1atp GlFTew @)BBwmailed Lo eueaTeUDDIe) 6TSeIL 6T GG ML FL{eo L Wig)?
(4) GLBamss@pssTest 24 el Gpr @eweus geusy OgmanewCGud Creneu
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(B) @micui LngisrLiyssiet aGsL Glumalad L9fey
(C) BB s0ail%sTes S TFMEIS HIL L LD
(D) G BamsHailer o L OBl LNTFFeness% @5 sE TeT Lo (5SgI6u 6)aun 6DLIem GuesT
(E) aflew_ Qg Mwaledenev
16. Which of the following statements about women's rights in India is incorrect?
(i) The Hindu Succession Act 1956 ensures women's right to inherit parental
property.
(ii) The Dowry Prohibition Act 1961 legalizes dowry if both parties agree.
(iiij The Maternity Benefit Act 1961 provides maternity benefits to women
workers.
(iv) The Protection of Women from Domestic Violence Act was passed in 2005.
(A) (i) and (iii) only
(B) (ii) only
(C) (ii) and (iv) only
(D) (i) and (iv) only
(E) Answer not known
@ pFwralled OLiesgafer o fenLosar Lipplw-LN6Tel (B LD FopDIS6HG) 6151 S 6UM 6T
(i) @Qusl unflafleniod #1116 1956 QupCprg QFngHed Gluesseles o flevwenw 2 ni% ClFUIH DS,
(i) ugsL Fevent sMLULSE FLL1H 1961 Qb SuLilerehLd eLiLs OHmewi_med eugsL Fementenil
FLU L LIYieILnns @GS nal.
(i) L&LIGLD) Fevd FLLL 151961 GLiesT QST Tenisensd @ Lo&LiGLDI LILGTSE 6T auLpEIGH D).
(iv) GOLL LD BEE  OLICTS®ETL] LTHSTHGLD FLL LD 2005 b 61
BlenpGeupmLiri’ L g.
(4) (i) pmILd (ifi) oL BLD
(B) (ii) LoL" (LD
(C) (ii) LoBDILD (iv) L HILD
(D) (i) opmiLd (iv) oL BLD
(E) ofleni_ GgNuieleene
17. Which of the following statements about child rights in India are true?
(1) The Right to Education Act provides free and compulsory education for
children aged 6-14 years.
(2) The Child Labour (Prohibition and Regulation) Act 1986 prohibits employment
of children under 15 years.
(3) India ratified the UN Convention on the Rights of the Child in 1989.
(4) Article 24 of the Indian Constitution prohibits child labor.
(A) 1,2,and 3
B) 1, 2,and 4
(C) 2,3,and 4
(D) 1, 3, and 4
(E) Answer not known
@ BHwraled GLprens o flewinsar LUpPlw LeTel(BLd Fpnisaied 615 FilwmesTg)?
() el o2 flenivd FL 1L 1D 6-14 QUL W GLPEMSSHE@5%E @)ealsF P L L T sedaileni
QULPEISGF M.
2) GYEdSS CsThlevTary (e O (LPeODLILIBSSHIS) FLL L, 1986, 15 auigs@GL L L
GLBMSH®aT LG LDISH0SS Senl_ O\ FUIH D).
(3) 1989 1D 68719 6D G LPBENSH TG 2160 D% @SS TEHT @9, BT LOMBTL DL @) BSWIT 9 EISHHSSH5).
4) @BBw SyrFwevenioLitler L9fa) 24 GLobeass Osrflevrarisamars s CFUIHDS.
(4) 1, 2 opmith 3
(B) 1,2 ommyih 4
(C) 2, 3 opmiLd 4
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(D) 1, 3 LopmyLd 4
(E) aflen_ G Nwelevenev
18. Assertion [A]: The Universal Declaration of Human Rights (UDHR) is considered
a milestone document in the history of human rights.
Reason [R]: The UDHR has been incorporated into the constitutions of over 185
nations and translated into more than 500 languages.
(A) Both [A] and [R] are true and [R] explains [A]
(B) Both [A] and [R] are true but [R] does not explain [A]
(C) [A] is true and [R] is false
(D) [A] is false and [R] is true
(E) Answer not known
& [A]: wesfls 2 fevwsefler o wsartaiw L9g%L_etLd (UDHR) weflg o flewiogaflet eugevnpmled (b
LDGOEHGD Y, GUGHTLDTHS (5% LILI(HF DG
sagessitd [R]: wefls o fewwsefear o wsarmailw gL ed 185 @ Gupult  prlhsefer
SrRwevenioLiysalled @ememgsuiul Getars  wPmid 500 S@w  Cuwpurt  Gwmfsefed
QomACLwisSLILIL B eTers).
(4) [A] opmid [R] @uest(pd Fif LopmiLh [R] [A] g9 alens @GS ma)
(B) [A] wopmuid [R] @) gessiGILD &1l y,e11ed [R] [A] g0 aflerdsallebenev
(C) [A] 58] opmitd [R] Saim)
(D) [A] 3e1p1 op0ILh [R] &5
(E) aflew_ Qg wafledenev
19. Find the Mismatched Pair
(A) Human Rights - Inherent rights for all human beings
(B) Civil Rights - Rights afforded by laws of government
(C) ECOSOC - Empowered to set up commission for promotion of human rights
(D) UNIFEM - Working to implement the Cyrus Cylinder
(E) Answer not known
QunppsTs Gy enwis SessrLBluwieyLd
(4) wesllg 2 flew DS aT - TS LTS 15 @M% GLDTEST 2_ATaTTHbS 2 [fl6W L% GiT
(B) &9 FGDLDSFGT - Y TFTEISSF GO FLL_BISGTTE) QULPBIGLILIL L 2 FlenLo T
(C) ECOSOC - 1e5fg 2_fle9 0& 69 6T GLOLD Li(HSHI @S TGS 2,60 RTINS D60 LDS5E ) B TTLD
(D) UNIFEM - e»&gav fedlessi_eng OFwedLi®ss Garemev
(E) aflen_ Qg Muialedemev
20. Which of the following is NOT a characteristic feature of secularism in India?
(i) State's non-identification with any religion
(ii) Guaranteed right to profess any religion
(iii) Preferential treatment to the majority religion
(iv) Non-discrimination based on religious faith
(A) (i) only
(B) (ii) only
(C) (iii) only
(D) (iv) only
(E) Answer not known
LereupeuaTeuppled 615 @)bPwraled wgiFmiferenoulles FmLitfwedr) Hevev?
(i) STF 6TBS LOSSSIL_GBILD SETEHET eoL_WTTLILI(BHSSHF O maTantenLo
(ii) 6T LDSFHG W LD LIGBTLIDMIUSDH TGS 2 F%T6UTS 2 [flenLo
(iii) QLIEHLOLITETEOLD LDSSBID G (LpeTeAen Lo &aflSFe0
(iv) 105 BLOLIGenFHuNesT 919 LiLien L uled LITGHUT(®H ST L_TeHLD
(4) (i) o B)Lb
(B) (ii) oL (HLD
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(C) (iii) oL @1Lb
(D) (iv) oL BILd
(E) aflen_ G Nwelevenev
21. Match the following articles of the Indian Constitution with their provisions
related to secularism:
List I (Article) | List II (Provision)
(a) Article 25 | 1. Freedom to manage religious affairs
(b) Article 26 | 2. Freedom of conscience and religion
(c) Article 27 | 3. No religious instruction in state-funded educational institutions
(d) Article 28 | 4. Prohibition of taxes for promotion of any particular religion
(A) (a)-(2), (b)-(1), (c)-(4), (d)-(3)
(B) (2)-(1), (b)-(2), (c)-(3), (d)-(4)
(C) (@)-(4), (b)-(3), (0)-(2), (d)-(1)
(D) (&)-(3), (b)-(4), (c)-(1),(d)-(2)
(E) Answer not known
@B yrfwevenwLitier et L9fleyseer  wgdemierenio . QST FLmeT jeupmpler
%% @pL_6tT O)LITIhSSI%:
UL igued 1 (L ®Rewn) | uiiguwied I (emun)
(a) 2mtityeng 25 | 1. 10 QfeUSTIEIGE®GT BF6US S GHLD FE b IL
(b) 2 ILiL|eDT 26 | 2. LOGEFTL-G) LopmILD LS &b FTLD
(c) e ptiLyeng 27 | 3. g G sal Oumib sevad plpieuetsisaied g CLITS a5 () 60en6v
(d) 2 mtityeng 28 | 4. e GO L 1bgFenGLI LigLiLjeuSD & ufls e
(4) (@)-(2), (©)-(1), (c)-(4), (d)-(3)
(B) (a)-(1), (b)-(2), (c)-(3). (d)-(4)
(O (@)-(4), (B)-(3), (c)-(2), @)-(1)
(D) (a)-(3), (b)-(4), (c)~(1), (d)-(2)
(E) ofleni_ GgNueleenev
22. Which of the following are considered fundamental characteristics of human
rights?
(1) Inherent
(2) Inalienable
(3) Indivisible
(4) Negotiable
(A) (1), (2), and (3)
(B) (1), (3), and (4)
(C) (2), (3), and (4)
(D) (1), (2), and (4)
(E) Answer not known
LIetr6u (B euesTaubBled 616D o oGS 2 Hlew LoSef6oT 19 LILIGD L LT LIGRTL|SGTTHS (5 LILI(H)S) I cor?
(1) 2_aTaTniBs
(2) 9A5% Py wnss
(3) 908s (LpLypwnss
(4) CuiFUTIZ®SSGL LIL L g)
(4) (1), (2) LoppILd (3)
(B) (1), (3), LopmILD (4)
(©) (2), 3) BDILD (4)
(D) (1), (2) LopmILd (4)
(E) aflev L Oz waledenev
23. Which of the following international documents are associated with the
development of human rights?
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(i) Universal Declaration of Human Rights
(ii) Convention on the Elimination of All Forms of Discrimination against Women
(iii) UN Convention on the Rights of the Child
(iv) Magna Carta
(A) (i), (ii), and (iii)
(B) (ii), (iii), and (iv)
(©) (1), (ii), and (iv)
(D) (i), (iii), and (iv)
(E) Answer not known
LereupLd FieuGss g eueminisaled sTenad Loasllg o flewipseler cuaTid@uL a1 QGTL_fLeoL_weneu?
(i) esflg 2 fewioseT LPPw 2 evsarTallw L97%L esTLd
(ii) GlLIGESTS @5 % G T TTGHT OGS S| UEHE TG LITGLTHSMTLd @LIILILIGDSE TG 2 L_GTLILY &0
(iii) @&FW BIHS6T Fon LI Fmieud o-feHLDH6T 2 L GG Fen S
(iv) LDASGSTT HAFL LT
(4) (i), (i) LoPILD (iii)
(B) (i), (iii) LopmuLb (iv)
(©) (i), (ii), LLHDILD (iv)
(D) (i), (iii) LoD DILD (1v)
(E) oflewn_ Gz Nuiafevenev
24. Arrange the following events related to secularism and human rights in
chronological order:
(i) Incorporation of "secular" in the Indian Constitution's Preamble
(ii) Adoption of the Universal Declaration of Human Rights
(iii) Establishment of the National Human Rights Commission in India
(iv) Fourth World Conference on Women in Beijing
(A) (), (@), (i), (iv)
(B) (i), (ii), (iv), (ii)
(©) (i), (), (1), (i)
(D) (iv), (i), (i), (i)
(E) Answer not known
wgdemiteren wPmih el o fenibger Cgm_funet eiaumLd BELHasamerd &rewaiflensLiiyg
UflenFLILIHSSIS:
(i) @BF W < TFWewen o LILNes (LpeiTensew Tuiled "LOSFFAFIIDD " YLDFSDS @)60 GBTH S0
(ii) oesfls o Mew s @hs s et 2 waarTallw LNTsL_eTgens 6D mis0\STeTeus)
(iii) @pHwralled CaAW LoeflF 2 Flen oS 6T 2,6 RTIIS S 1016 S 60
(iv) QLI EIBe) O LIS 6T GBS HAGTISTeUS 2_6V% LOTHT({)
(4) (ii), (i), (iti), (iv)
(B) (i), (ii), (iv), (iii)
(© (iii), (iv), (i), (ii)
(D) (i), (ifi), (it), (i)
(E) afleo_ Qg lwaledenev
25. Assertion [A]: Secularism in India aims to promote harmony among people of
different faiths or no faith.
Reason [R]: The Indian Constitution guarantees the right to freedom of religion to
all citizens.
(A) Both [A] and [R] are true and [R] explains [A]
(B) Both [A] and [R] are true but [R] does not explain [A]
(C) [A] is true and [R] is false
(D) [A] is false and [R] is true
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(E) Answer not known

&mpn [A]: @pFwurale wsdsmilerenin eaigy OeaiGain pLOLIS®SSET Yevg BLOLIGS
@evewns waseflen_ Guw pevelleanrssgang GobLBsS5I0enS CBIssLonss 615 Tess(h eiTaTs).

srgewiLd [R]: @)BHW YTFWeLOLIL] HDRTSH SHLYLDSH @5 GLD DS FBBDH ISHB VST 2 [flenLoenis
2 ni® QFuiIB g

(4) [4] wppid [R] @ uessiGILd ) opmitd [R] [A] @ aflens @GS mai

(B) [4] wopmuid [R] @) uessiGILd &) gy,ered [R] [A] g0 aflerdsallebenev

(C) [A] 58] opmitd [R] Seaumy

(D) [A] $eupi oppiLd [R] &4

(E) aflew L Qg Mwaledenev
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SCERT FOUNDATION — COURSE - DAY -9 QUESTION PAPER
Date: 11/10/2024 No of Questions: 25

1. Which of the following is NOT one of the primary Indian Armed Forces?
(i) Army
(i) Navy
(i) Air Force
(iv) Border Security Force
(A) (i) only
(B) (ii) only
(C) (iii) only
(D) (iv) only
(E) Answer not known
LesreupeueTalBpled 615 (LpSERTEOLD QBB W S USLI LIGHL &6 6D QRGN S eDev?
(i) @Jn@ymw
(i) SL_PLIGHL
(iii) @ omeTLILIGHL_
(iv) 6TOEGLT LITGISTLILILI LIGH L
(4) (i) L HLd
(B) (ii) LoL" B)LD
(C) (iii) oL Bib
(D) (iv) L @b
(E) aflew L Qs Fwaledenev

2. Match the following:
List I (Armed Force) | List Il (Description)
(a) Army | 1. Secures Indian airspace
(b) Navy | 2. Largest volunteer army in the world
(c) Air Force | 3. Safeguards maritime borders
(d) Coast Guard | 4. Operates under Ministry of Defence since 1978
(A) (a)-(2), (b)-(3), (c)-(1), (d)-(4)
(B) (a)-(1), (b)-(4), (c)-(2), (d)-(3)
(C) (a)-(4), (b)-(1), (c)-(3), (d)-(2)
(D) (a)-(3), (b)-(2), (c)-(4), (d)~(1)
(E) Answer not known
L9 6dT6u (H 61 60TeU MEMML Q\LIT(IH S H1 8-
vl iqued I (ustive) | uliqued I (@flerssLd)
(a) @Jn@)jmm | 1. @B w urerGleuaienw un@&n&;@mg
(b) sL_puL_ | 2. 2 w@eT LOFLIC LI W gmmrmm @gn@)jmw
(c) @INDTGTLILIGHL \ 3. BL_6D 6TVEMGVHE GITL] ung,]gnggsv
(d) sL_Ceormy smeucdLieoL | 4. 1978 (PSS LITHSNLIL| IOLOFFESH T GLp OlFwe LI BB DG

(A) (a)-(2), (b)-(3), (c)-(1), (d)-(4)
(B) (a)-(1), (b)-(4), (c)-(2), (d)-(3)
(C) (a)-(4), (b)-(2), (c)-(3), (d)-(2)
(D) (a)-(3), (b)-(2), (c)-(4), (d)-(2)
(E) ellem L Qs fluleilsvemney

3. Which of the following are classified as Central Armed Police Forces (CAPF)?
(1) Assam Rifles
(2) Border Security Force
(3) Central Reserve Police Force
(4) Indo-Tibetan Border Police
(A) (1), (2), and (3)
(B) (2), (3), and (4)
(C) (1), (3), and (4)
(D) (2), (2), (3), and (4)
(E) Answer not known
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LaereupeueTauppled eTemeu LGP w s CLmedad LiewL &6 (CAPF) 6Tes auensLiLiHSSLILIL (HeTares?
(1) FrLd erLaTen

(2) 6TOGLT LITGISHTLILILT LIGHL

(3) wEFw Nedar Gumredad LienL

(4) @BCST-HO LIS 6TCOES &TeU6D

(4) (1). (2) ppILd (3)

(B) (2). (3). PDILD (4)

© (). (3) pmid (4)

D) (1), (2), 3) wppiLd (4)

(E) aflew_ Qs fluafledencv

4. Which of the following principles are part of Panchsheel?
(i) Mutual respect for territorial integrity and sovereignty
(ii) Mutual non-aggression
(iii) Equality and mutual benefit
(iv) Global disarmament
(A) (i), (i), and (iii)
(B) (ii), (iii), and (iv)
(C) (i), (iii), and (iv)
(D) (i), (ii), (iii), and (iv)
(E) Answer not known
HereumLd OsraTenssaile) 618 LIGHFFVSBG Q(h LIS S W TELD?
(i) AprBE@w e LiLn® P @)6oD W TesTenios @ Lged LT LAWTems
(ii) ugebLgL) &P TLALIL CFwiwmen LD
(iti) FLOSSIQULD LODMILD LITGVLIT [BGSTGHLD
(iv) o vsarTailis 5% GDLIL|
(4) (i), (i) LoP@ILD (ii)
(B) (ii), (iii) LOHDILD (iv)
(©) (i), (iii) LoP@ILD (iv)
(D) (i), (i), (ii) topmiLb (iv)
(E) aflewn_ Qg fluwafedenev

5. Which of the following statements about India's defense forces is correct?
(i) The Indian Army has seven commands.
(i) The Indian Navy has three Naval Commands.
(iif) The Indian Air Force was established in 1978.
(iv) The Coast Guard works under the Ministry of Home Affairs.
(A) (i) and (ii) only
(B) (ii) and (iii) only
(C) (i), (ii), and (iii) only
(D) (ii) and (iv) only
(E) Answer not known
@BFw LrHSTULL LenL_ser LpBlw LIGTQIBL) FnDmISHened 618l Filw Terd)?
(i) @BBw QuraiaiLd 6I(L) HL L eHaTHemaTd 0% Texi(h) 6o ns).
(i) @BOWS SL_PLIGHL ELPGIN FL_DLIGHL-S SL L O 6THe a1 OBmewi(h)aTergy.
(iii) @BBw afloresTLivienr_ 1978 oyb y,ewr(®) BloIauLiL L g).
(iv) SL_Ceongs STaUcdLIGHL 2 GTHIHD 0 LDdFSSH T GLp OFwe L HBDS).
(4) () P (i) L HILd
(B) (ii) LopmyLd (iii) Lo (RLd
(C) (i), (ii) miLh (iii) oL HLb
(D) (ii) PpLb (iv) oL HILd
(E) aflew L 0w aledenev

6. The concept of "Non-Alignment" in India's foreign policy was coined by:
(A) Jawaharlal Nehru
(B) V.K. Krishna Menon
(C) Indira Gandhi
(D) Atal Bihari Vajpayee
(E) Answer not known
@pPwraiar  Geasellymeys Oasmaremsuled "yenflGogns Osmetens” 6I@ID SBSSTSHLD  WTITTD
2 (BUTSSLILIL L g):
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(4) geuamjevred Gpn
(B) @9). Gs. &) payewst GLocresr

© @pFI1 H1ES
(D) Sy Lam ) eurgdLimul
(E) aflew L O Hwaledenev

7. Which of the following statements about India's defense forces is incorrect?
(i) The President of India is the supreme commander of the Armed Forces.
(i) The Indian Army is the largest volunteer army in the world.

(iii) The Indian Coast Guard operates under the Ministry of Home Affairs.

(iv) The Chief of Air Staff is a four-star officer.

(A) (i) and (iii) only

(B) (ii) and (iv) only

(C) (i), (ii), and (iii) only

(D) (iii) only

(E) Answer not known

@BFw urHSTULL UenL_seT LPP LITeU(BL) FBDnISHaled 615 SeaDIesTS)?
(i) QBB WE GLLWTHS S6VUT Y UjS LI LIGHL_%GH G F606U6H DS SETLIS) 2f,6uTH.
(ii) QBB w @uiemicaid o @6 A& LA SeaTaTTicy ()TTemIeLDTE L.

(iii) @BF W SL_Cevry STUGCOLIGHL 2 GTGIHD e LDFFSSHET GLp O\FOLBP DS
(iv) @ALOAGTLI LIGH L& SaUT BAGIE BL-FSH T 2 bsevg O\LIDD 4GS

(4) (i) pmiLd (iii) L HILd

(B) (ii) LopmyLd (iv) oL (LD

(C) (i), (ii) PmyLd (iii) oL BILD

(D) (iii) oL" @Ld

(E) aflew L O Flwaiedenev

8. Which of the following statements about India's foreign policy are true?

1. Panchsheel includes five principles of peaceful coexistence.

2. Non-alighment was a policy of neutrality and non-involvement.

3. India actively focuses on improving ties with immediate neighbors.

4. The Act East Policy aims to integrate India with Southeast Asian countries.

(A)1,3,and 4

(B) 2,3,and 4

(C) 1 and 3 only

(D)1,2,3,and 4

(E) Answer not known

@5@11/1@57@1 Qeaualypeys O\Fmerens um/_rf?lu Lﬂmm@w I WE®SSafe 618 FHWITETS?
LIGHFFLD 681D W 6T 55611/13)61/55/7651 ggg} O FTaTen S0 6T 2 GTOTL_&HIG).

2. <ol Qo QFneTens eT1GILIG BB Blencv LLDMILD FRLITL DD Gl&TaTEN S W TE LD.

3 oL ang Iyl BIGHS@FLIIe S paFmer GU@BSHMUPD @BFwT FalIwTs  HeuesLd
LV EETIE]

4 BYse OCpreGwu Gsmaiems, @QBFHwWTma OSEHLSG AW  BTHSEFLGT G (H5EH e HTLILIHS
Crrgsonss O\s16sT(H)eTaTS).

A) 1 3 wpmid 4

B) 2, 3 opmiLd 4

C) 1 opmiid 3 Y& w @) Tesst(h)LD

D) 1,2 3 wpmbd4

E) oo Qg fluaieemev

9. Assertion [A]: India's foreign policy emphasizes regional cooperation and peaceful coexistence with
neighboring countries.
Reason [R]: SAARC was established to foster bonds of brotherhood, cooperation, and peaceful co-existence
among South Asian countries.
(A) Both [A] and [R] are true and [R] explains [A]
(B) Both [A] and [R] are true and [R] does not explain [A]
(C) [A] is correct and [R] is false
(D) [A] is false and [R] is true
(E) Answer not known
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&mpn [A]: @pPwrelar Qeellymeys Osmetens NITEHW RSHI®PLIL LDHDILD HSTL BT(H%EHL 65T
9GO LOPNLITGST FSHaUTLHEN 6 660U NISSHIF D).
sigentd [R]: Qspasr@uw  pr@seleo G FCsIsIsHILD, @SHWLIL] LHDILD FLOTSICE FHUTLHE
&, FW DD L6 eRTLIL ST QUATILILISDETS FTHS% Blmieuiiil’ L g
(4) [A] wpmid [R] @oesstd Ffl opmitd [R] [A] g0 eflers &S mgi
(B) [A] wpmid [R] @)uesst® b & opmitd [R] [A] go eflerssailedemev
(C) [A] & opmiLd [R] aimy
(D) [A] $oumy LopmiLd [R] &
(E) aflew_ Qs fluafledencv

10. Find the Mismatched Pair
(A) CRPF - Central Reserve Police Force
(B) BSF - Border Security Force
(C) ITBP - Indo-Tibetan Border Police
(D) CISF - Central Intelligence and Security Force

(E) Answer not known

QurpBsTs Cemyenws SesL_PlweLd

(4) CRPF - g @ w fagar GLmeSead LienL_

(B) BSF - 6TeOe® L] LITGISHTLILJLT LIGHL_

(C) ITBP - @G5 m-F O LSH 6TVencvS HTeUGD LIGH L
(D) CISF - 0@ W LTI LoDMILD LITSISTLILILT LIGHL
(E) aflew_ Qg fluafedencv

11. Which of the following is NOT one of the primary courts mentioned in the structure of courts in India?
(i) Supreme Court
(ii) High Court
(iii) District Court
(iv) Revenue Court
(A) (i) only
(B) (ii) only
(C) (iii) only
(D) (iv) only
(E) Answer not known
ereumeuaTouppled 615 @BFwraied BHoaipEIsaler sl ewifed @GmUL Ll BeTer (LpSeiTen LD
BF GBS 6N QTN Hed6v?
(i) 2.8 BB oeImLd
(ii) 2w B LoD LD
(iii) omeuL” L FHUDGTD LD
(iv) au@peumul FS) LoGTDLD
(4) (i) L @b
(B) (ii) oL Q)LD
(C) (iii) oL" B)Ld
(D) (iv) oL (PLd
(E) aflew_ Qg fluafedenev

12. Match the following:
List | (Court) | List Il (Description)
(a) Supreme Court | 1. Deals with cases arising in the District
(b) High Court | 2. Its decisions are binding on all courts
(c) District Court | 3. Can issue writs for restoring Fundamental Rights
(d) Subordinate Courts | 4. Consider cases of civil and criminal nature
(A) (a)-(2), (b)-(3), (c)-(1), (d)-(4)
(B) (a)-(1), (b)-(4), (c)-(2), (d)-(3)
(C) (a)-(4), (b)-(1), (c)-(3), (d)-(2)
(D) (a)-(3), (b)-(2), (c)-(4), (d)-(1)
(E) Answer not known
LereumeusTeupenpLi OLImBSHIs:
uLiquied I (5@ weroid) | L igwed I (eflerdsLd)
(a) o dF FBoepLD | 1. omeul’ L FF6D 6T(LPLD QULPSGHEHEETS G0 L TEhS 6D
(b) 2wy FHOGIDLD | 2. 9SG (LPLY 0 F6T eWesIS G BB LoD BIGemaTLLd L HLILI(HSSHILD
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(c) wreul L FHoainLd | 3. syg it o fepsemar 5L 0L GLugpsTes BHLIGLTTement LIDLINSSTLD.
(d) Spemo BHTDEIS6T | 4. Hafled Pnd FFLO6Te) @UIGDLIGHL LI GILDS @B GTS %616l B156T
(A) (a)-(2), (b)-(3), (c)-(1), (d)-(4)
(B) (a)-(1), (b)-(4), (c)-(2), (d)-(3)
(C) (a)-(4), (b)-(1), (c)-(3), (d)-(2)
(D) (a)-(3), (b)-(2), (c)-(4), (d)-(1)
(E) ellemL Q& flwelsvemnsy

13. Which of the following are types of jurisdiction of the Supreme Court of India?
(1) Original Jurisdiction
(2) Appellate Jurisdiction
(3) Advisory Jurisdiction
(4) Writs Jurisdiction
(A) (1), (2), and (3)
(B) (2), (3), and (4)
(C) (1), (3), and (4)
(D) (1), (2), (3), and (4)
(E) Answer not known
LeraumeuaTalppled 6Tameu Q) BFN 2 F&F BRIDGTDS PG S BHMT 6uTLd LNGHT 616w 5% 6iT?
(1) yFed YSBHTT uILDL|
(2) Gedwperpufl B <H&TT eugLdL]
(3) o, GevnFenest 9B EHTT QUTLOL]
(4) BSLICLITTen T 9B STT UTLDL]
A (1), (2) LPDILD (3)
(B) (2), (3), ODILD (4)
© (D), (3) pmiLd (4)
D) (1), (2), 3) wppiLd (4)
(E) aflew_ Qg fluwafledencv

14. Which of the following are types of courts mentioned in the document?
(i) Panchayat Courts
(ii) Revenue Courts
(iii) Lok Adalat
(iv) Family Courts
(A) (i), (ii), and (iii)
(B) (ii), (iii), and (iv)
(C) (i), (iii), and (iv)
(D) (i), (ii), (iii), and (iv)
(E) Answer not known
2,6 6wTS 6O @M1 L (B 6iTen G 6D 515 e 6T 6ueHEHSH 6T LI6HTa (5 6UGTeU DBl 676967
(i) L@hFTWS S b LOGHT D BIH6T
(i) euHeUTLI 6B LD GBI % 6T
(iti) LDSSGIT B LOGTDLD
(iv) G@LOL Fev BB LOGT MBS T
(4) (), (i) LoPDILD (iii)
(B) (ii), (iii) LLHDILD (iv)
(O (). (iii) wﬂi@,m{v @)
(D) (¥), (i), (iit) LoPDILD (iv)
(E) aflew L O FHwaledenev

15. Arrange the following events in chronological order:
(i) Establishment of Supreme Court in Bombay
(i) Establishment of Supreme Court in Calcutta
(iii) Replacement of Supreme Courts by High Courts
(iv) Establishment of Supreme Court in Madras
(A) (ii), (iv), (i), and (iii)
(B) (iv), (ii), (i), and (iii)
(C) (i), (iv), (iii), and (ii)
(D) (ii), (iii), (iv), and (i)

IYACHAMY ACADEMY — CHENNAI - SANKAEANKOIL -TENKASI - 9952521550 / 9840281550




(E) Answer not known
eiraumLd plarpeysener sreweflensLisig auflenFin(HSs e Lb:
(i) ubumled 2 & EGoeTDLD BlMI6 S0
(ii) OFFSTAN6D 2 FF FEHLOGIDLD BMI6YSe0
(iii) 2.&F FHOGIDEIS@5%GLI LIF6vTs 2w HGLoGY D EIS6T
(iv) GFarenaruiey o & BGLocTpLD Blmi6Fe
(4) (i), (iv), (i) PDILD (iii)
(B) (iv), (ii), (i) LopmiLd (iii)
(©) (i), (iv), (iii) LoPDILD (i)
(D) (i), (iii), (iv) LoDDILD (i)
(E) aflew_ Qs fluafledencv

16. The concept of "Panchsheel" in India's foreign policy was introduced by:

(A) Jawaharlal Nehru

(B) B.R. Ambedkar

(C) Sardar Vallabhbhai Patel

(D) Mahatma Gandhi

(E) Answer not known

@ BFwraller Ceellymeys CsTatensulled "LICHFFLD" 6TGID H(BSSM55S5S 3 D/(LpSLILIB S B W 6uj:
(4) @auanjeored Gpm

(B) 19.94,5. 216 GG s

(C) #igmy auadevmul LIGL

(D) Lb&TSLDT HTHS)

(E) aflen L O Awaiedenev

17. Which of the following statements about India's judiciary system is incorrect?
(i) The President of India is the supreme commander of the Armed Forces.
(ii) The Supreme Court of India was inaugurated on 28 January 1950.

(iii) The Calcutta High Court is the largest High Court in the country.

(iv) Family courts handle various family-related claims such as child custody and divorce.
(A) (i) and (iii) only

(B) (ii) and (iv) only

(C) (i), (ii), and (iii) only

(D) (iii) only

(E) Answer not known

@BFw BFssHIemn LBBlu L6T6uBLD FpnIFHefed 615l F6umTesTs?

(i) QBEHWE GLLWTHS ST Y UjSLI LIGHI_FHafeT SeeVEnLDS FaTLIS 26 TH.

(i) @BDW 2 FF BHLoGEIMLD 28.1950 Zycsimy QST EG) coeusHLILIL L ).

(iii) SOSSST 2 WIBS DD LD BT 19 glaTer LOSLIGLIfw o wFb@LoeTDLO TG LD.

(iv) @@L FHIOGEIDEISGT GLPBedS LTGISTLL Pnid afleunsisg Cumeamn LeGan &@LU O\STL_FLmes
Gl %695 56w T 693 WHT 6V5 %) 5T/ 6T.

(4) (i) Py (iii) oL BILD

(B) (ii) LopmyLd (iv) oL (BHLbd

(C) (i), (ii) PmyLd (iii) oL BLD

(D) (iii) oL @Ld

(E) aflen_ O Awaiedenev

18. Which of the following statements about India's judicial system are true?
1. The E-Courts project was established in 2005.
2. Lok Adalat was first held in 1982 in Gujarat.
3. The National Legal Service Authority (NALSA) was constituted under the Legal Services Authorities Act,
1987.
4. Mobile courts are designed to provide justice at people's doorsteps in rural areas.
(A)1,3,and 4
(B)2,3,and 4
(C) 1 and 3 only
(D)1,2,3,and 4
(E) Answer not known

@BFw FFsHmD LBBlw LT LD FpnFefed 618 2 6wTen Ln?
1. @-Garied S’ 152005 @ed Blmyeutii’t g
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2. Gowng 9ysmevs (LpSILpSeled & Fm2 Q)& G@ITSH BenL OLIDDS.

3. GasPw sl uellger gyemewrwd (FeOFT) FLUL LI LIGSISOT 60ewis@(pssar FL L b, 1987 @ar Gip
YLOESLILIL L ).

4. pLwI@W FPeTDEISET HKomolilpEseie wasefar afl (R urFsaied B aUpEIGL uemsuiled
QLY QUGHLDSSLILIL” (B GTGTGH.

A) 1, 3 opmiLd 4

B)2, 3 opmiib 4

C) 1 ppid 3 & w @)Tesst(H)Ld

D) 1,2 3 wpmd4

E) afleo_ Glgfwaieenev

19. Assertion [A]: The Indian judiciary system plays a crucial role in upholding the law and enforcing fundamental
rights.
Reason [R]: Every citizen of India can approach the Supreme Court or High Court if they believe that their
fundamental rights have been violated.
(A) Both [A] and [R] are true and [R] explains [A]
(B) Both [A] and [R] are true and [R] does not explain [A]
(C) [A] is correct and [R] is false
(D) [A] is false and [R] is true
(E) Answer not known
wOD [A]: QEDw  BFSHOD YLy FLULF®F BlO@BDISHUDVILD gL 2 [fenLosenar
LOOLI(HSSHIUBILD (LpSHW LIBIG UFSEH DS
sngenitd [R]: @alGleuny @BFWS GLQbSEILD SHIS6T g LiLeL 2 Nenb&al BDLILIL LY (BLILSTS HLOLIGTTE)
2 45 BHLOGTIDLD S OVG| 2. BHLOGTIDS DS 3] GI%HGVTLD,
(4) [A] wpmid [R] @oesstd Ffl opmitd [R] [A] g9 allens & Hmgi
(B) [A] wpmih [R] @uessi®Ld Ffl opmitd [R] [A] g eflerssaiedemev
(©) [A] &4 opmiLd [R] Baupi
(D) [A] supi oppiLb [R] &1
(E) aflew_ Qg fluafledencv

20. Find the Mismatched Pair
(A) Original Jurisdiction - Supreme Court can hear disputes for the first time
(B) Appellate Jurisdiction - Supreme Court can hear appeals against High Court decisions
(C) Advisory Jurisdiction - Supreme Court can report its opinion to the President on public matters
(D) Writs Jurisdiction - Only High Courts can issue writs under Article 226
(E) Answer not known
QunmpsTs Gy s SewnrL_PleyLd
(4) 24FeD YBSMT QUILDL| - 2 FF BHUOGTDLD (LPF D (LPEODWITH GULPS GHeET N FTHSHS (LpLg uLd
(B) Guaupepuf' B Bs1r eugbry - 2wi BRI (LPLYasEEEE arHgTer G papufhsamar o &
BT FTHSSTLD
C) o Gevngenest HYGsTr ugldLy - 2 85 BHaEML Curgy fapwmsealed Seig H(BhSms LITHLZHSSG
L IEELINT)
(D) BRLICLIgTenent S &MI augLdL) - 2 wibGoeTnmser wL @G Lfle) 226 @) & &1 S LICLTTe 6wt pLiL9%5

apig i
(E) aflew L O FHwaledenev

21. Which of the following is NOT a part of India's nuclear doctrine?
(i) No First Use policy
(ii) Credible minimum deterrence
(iii) Massive retaliation in case of nuclear attack
(iv) Pre-emptive nuclear strikes against non-nuclear states
(A) (i) only
(B) (ii) only
(C) (iii) only
(D) (iv) only
(E) Answer not known
Haraimpeuataippled 618 @)B& wraller yemisss Camum’ 196 @@ UGSWTs @edeme?
(i) WpSe LWGTLITL BH% Gl TaTens @)60enev
(ii) BLOLISLOTGST GO BSLLF FBLIL
(iii) eI WS STHGHS BLbSTed LT LIFevig
(iv) 2 gWUFED) QTS BT(HFEHS S THITS (LH&TFal 1)Ul I SIFED) &TS S0 6T
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(4) (i) oL HLd
(B) (ii) oL (LD
(C) (iii) L HILb
(D) (iv) oL (PLd

(E) aflew L O Hwaledenev

22. Match the following:
List | (Policy/Doctrine) | List Il (Associated Leader/Period)
(a) Look East Policy | 1. Narendra Modi
(b) Gujral Doctrine | 2. PV. Narasimha Rao
(c) Panchsheel Principles | 3. I.K. Gujral
(d) Act East Policy | 4. Jawaharlal Nehru
(A) (a1-2), (b)-(3), (c)-(4), (d)-(1)
(B) (a)-(2), (b)-(4), (c)-(2), (d)-(3)
(C) (a)-(4), (b)-(2), (c)-(3), (d)-(2)
(D) (a)-(3), (b)-(2), (c)-(4), (d)-(2)
(E) Answer not known
ereumeueTaipeamLi GlLmTbSE)s:
vl gwed I (Qsmearens/CarLin®) | UL g uwed I1 (QSIL JLieoL W S&6[/STeLD)
(@) D5 Crprs@w Csmearens | 1. pCIBG T Gromig
(b) G@gred Camiun® | 2. 9.8 BrPLSLoFTa]
(c) LEhFEVS ClsTaTen 556l | 3. 29. B%. @@2amev
(d) D5 Crrs@w Csmatens | 4. gaianiowmew Cr
(4) (@)-(2), (b)-(3), (c)-(4), (d)=(1)
(B) (@)-(1), (b)-(4). (c)-(2), (d)-(3)
(O (@)-(4), (b)-(1), (c)-(3). (d)-(2)
(D) (@)-(3), (B)=(2), (c)-(4), (d)~(1)
(E) aflen L O)sHwaicdenev

23. Which of the following are true about India's judiciary?
(1) The Supreme Court of India was established in 1950.
(2) The concept of Public Interest Litigation (PIL) was introduced in'the 1980s.
(3) Judges of the Supreme Court are appointed by the President of India.
(4) The retirement age for Supreme Court judges is 65 years.
(A) (1), (2), and (3)
(B) (1), (3), and (4)
(C) (2), (3), and (4)
(D) (2), (2), (3), and (4)
(E) Answer not known
LereumeuaTalppled 618 QBH W BHSSHID LIHDH W 2 ewTenLD?
(1) QBDw o d& B oerpLd 1950 b e Blmieuisil’ L g).
(2) Qg Bev aups @ (PIL) eiatip HHSE 1980 Safled AP PpSLILIBSSLILIL L G).
(3) 247 BB oaTD FHLIDS6T QBH WS &L ULTHS FEHGV6UTTeD BILOSSLILI B DTTHET.
(4) 235 pbFHoTD HF) LIS %66 Uiy g 65 2, c5T(H)SH6T.
4 ), (2 LD.D'.QILL'). (3)
(B) (1). (3). LoppILD (4)
(© (). (3) ppib (4)
(D) (1), (2). (3) pmiLd (4)
(E) aflew L 0w aleden v

24. Arrange the following events in chronological order:

(i) Establishment of the National Judicial Appointments Commission (NJAC)
(ii) Introduction of the Collegium system

(iii) Kesavananda Bharati case judgment

(iv) 99th Constitutional Amendment Act

(A) (iii), (ii), (iv), and (i)

(B) (ii), (iii), (i), and (iv)

(C) (i), (iv), (iii), and (ii)

(D) (iv), (i), (ii), and (iii)
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(E) Answer not known

eiraumLd plarpeysener sreweflensLisig auflenFin(HSs e Lb:
(i) CaPw FDFgemm BlwoeT Y ementisensg (NJAC) Blmiayse)
(i) QFTSBWLd LpewmuNGsT M) (LpSHLD

(iii) CagauneTps LITTS aiLpsGHeT SiLiL

(iv) 99 6ug| rFwevedioLiL] H(BSSF FL L LD

(4) (i), (i), (iv) LopmILd (i)

(B) (ii), (iii), (i) LoDDILD (iv)

(©) (i), (iv), (iii) LOPDILD (i)

(D) (v), (i), (i) LOPDILD (iii)

(E) aflew_ Qs fluafledencv

25. Assertion [A]: India's foreign policy has shifted from non-alignment to multi-alignment in recent years.
Reason [R]: The changing global power dynamics and India's growing economic and strategic interests
necessitate a more flexible approach to international relations.

(A) Both [A] and [R] are true and [R] explains [A]

(B) Both [A] and [R] are true and [R] does not explain [A]

(C) [A] is correct and [R] is false

(D) [A] is false and [R] is true

(E) Answer not known

&mpnl [A]: QrPwraler Qeuailypeys Csretens FLSLSHW yesTB el yenflGFpr OsmearansuledBrgG LI
9l CFiGen 55 @ LOTPWLGTATS.

srgesntLd [R]: onBleu@Ld & ewaemmaflw S/HsTr @ ussalwed LopniLd @) BSUTNGT ueTiBg ahLd O\LITHeTTSTT
wonh  eapGarurw  pediser  FiaGss o payseaiiey  lasad  QBHPeITRT G LPEDE W
9 UFNWILD 75 (& B GIT D GV

(4) [A] wpmih [R] @uessi®Ld #f opmitd [R] [A] @ eflens &S mgi

(B) [A] wpmih [R] @uessi®Ld &) opmith [R] [A] go eflerssaiedemev

(©) [A] &f oPmILd [R] Seumi

(D) [4] Buml opmitd [R] 4

(E) aflev L Qs Fwalcden v
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